= mis S 3R

PRODUCTS CATALOG

B #REhR « HBME B H = B AR E
B E AR ~ Bh/DE SE B
AR B
RIRIAAE
WPAE S7 +F R /BANE 2
g/ O IR EN/E D
peaLiAE
fhaR
RV IR
B 25




:ﬂ

1. ERHMF - EBEEENEA#E ... 1-19
2. EEEAHE - BOBEERE ... 20-26
3. ARHEIBHL oo 27-35
4. FFIRIBIR e 36-47
5. WRARSTIFIE /BIESTIE ..o 48-57
6. BH/OTUBENL / BHID oo 58-69
T ABBBIRIE ..o 70-72
8. BHEBAIZR .o 73-87
9. RIBTVEAIR «..oovoeeeeeccccec e, 88-99

10. FIEEAT ..o 100 - 105



1. B8
BB E SR\ E#RE 3



LM%
LM Series

(SM Series)

) ©0/000/0/00.00 5l I
T ]h'l._ 1
|| W I!
s \ i
D| D1| -#-—1 e
|i (A il
(ERR I | 1 N W
LM LM OP LM AJ § | ‘
#1S Part No.
e MEkFIE FOoH MERTIHY I'Qdﬂﬁﬂﬁglglg‘i MEkFIH dr N D NE
Ball Ball Adjustable Ball Tolerance Tolerance
Secl Tipe Circuit SREHIRe S e Type Circuit | (MM Cam) | MM Cim)
LM4 4 - - - - 4 0 8 0
LM5UU 4 - = = = 5 -8 10 B
LM6UU 4 - - LM6UUA] 4 6 12
LM8SUU 4 - = LM8SUUAJ 4 8 15 _?1
LM8UU 4 - - LM8UUAJ 4 8 0 15
*LM10UU 4 - - * LM10UUAJ 4 10 - 19
*LM12UU 4 LM12UU-OP 3 * LM12UUAJ 4 12 21 0
LM13UU 4 LM13UU-OP 3 LM13UUAJ 4 13 23 | 13
* LM16UU 5 LM16UU-OP 4 * LM16UUA] 5 16 28
* LM20UU 5 LM20UU-OP 4 * LM20UUAJ 5 20 0 32
* LM25UU 6 LM25UU-0P 5 * LM25UUA) 6 25 =0 40 —?5
* LM30UU 6 LM30UU-OP 5 * LM30UUA) 6 30 45
LM35UU 6 LM35UU-0P 5 LM35UUAI 6 35 52 8
*LM40UU 6 LM40UU-OP 5 | *LM40UUA) 6 40 —fz 60 -19
LM50UU 6 LM50UU-OP 5 LM50UUAJ 6 50 80 0
LM60UU 6 LM60UU-OP 5 LM60UUAI 6 60 0/-15 90 22

i ¥ ECE RS

Note: *The ball retainer

is made from steel or resin.




Main Dimensions and Tolerance RUE | RARE | BEAET | g
Eccentricity| [BIFR Basic Load .
I NE B nE w D1 h hi 0 e Radial Rating Weight
Tolerance Tolerance Clearance| C Co (g)
(mm) Ciim (mm> Cum) (tmm) | (mm) | (mm) | (mm) am rmaccml M N
12 = = = = = = 88 127 2
0
-120 8
15 10.2 il 1t 9.6 = = e 167 | 206 4
19 13.5 1.1 1.5 1.0 - - -3 206 | 265 8.5
17 315 ikl 14.3 1.0 = 7 176 | 216 11
24 17.5 1.1 14.3 1.0 = = 274 | 392 17
29 0 22 0 1.3 18 1.0 = = 12 372 | 549 36
-200 -200
30 23 1.3 20 1.5 8 80° -4 412 | 598 42
32 23 153 22 1.5 9 80° 510 | 784 49
37 26.5 1.6 27 1.9 11 80° 774 | 1180 76
42 30.5 1.6 30.5 1kl 11 60° -6 882 | 1370 100
59 41 1.85 38 2 12 50° 15 980 | 1570 240
64 44.5 1.85 43 il {5 50° 1570 | 2740 270
-8
70 0 49.5 0 2.1 49 2.5 17 50° 1670 | 3140 425
-300 -400
80 60.5 2.1 57 3 20 50° 20 -10 2160 | 4020 654
100 74 2.6 76.5 3 25 50° 3820|7940 | 1700
-13
110 85 Aalh 86.5 3 30 50° 25 4700 |10000| 2000




LM_LAR%
LM_L Series

(SM _W Series)

LMOL

HiE 7 fe

S Part No. : Main dimensions and Tolerance B>
Basic Load B R
mam BOM g | AE | p | A | | | AE | g | A% | w | p1 | Rating | Weight
Seal Type Ball ( ) Tolerance ( ) Tolerance ( )Tolerance ( ) Tolerance ( 5l¢ ) C Co ricity (@)
Circuit| “MM1 Cum) |*MM | Cam) [T (g ST (qmp | TMMEMMOE Ny
LM6LUU | 4 6 12 0 35 27 1.1 |11.5 | 323 530 16
IMBWU | 4 | 8 15 | 1 | a5 35 1.1 |14.3|431| 784 31
*LM10LUU| 4 | 10 0 19 55 44 1.3 | 18 | 5881100 62
-10 15
0 0
* 4 7 :

LM12LUU 12 21 ?6 5 300 | %6 | 400 | 13 | 20 |813)1570 80
LM13LUU| 4 | 13 23 ) 61 46 1.3 | 22 |813|1570 90
*M16LUU| 5 | 16 28 70 53 1.6 | 27 |1230| 2350 145
*M20LUU| 5 | 20 32 80 61 1.6 | 30.5 |1400| 2740 180
*LM25LUU| 6 | 25 -?2 40 _019 112 82 1.85 | 38 |1560| 3140 | 20 | 440
*LM30LUU| 6 | 30 45 123 89 1.85 | 43 |2490| 5490 480
LM35LUU| 6 | 35 52 135 | 99 0 2.1 | 49 |2650| 6270 795
#maoou| 6 |40 | O [ e0 | 9, | 151 | 00 [ a5 | 500 F oy | 57 [3430] 8040 | 25 | 1170
LMS0LUU| 6 | 50 80 192 148 2.6 | 76.5 [6080/15900 3100
LM60LUU| 6 | 60 | 0/-20 | 90 | 0/-25 | 209 170 3.15 | 86.5 |7550/20000| 30 | 3500

E: *HAECE MRS

Note: *The ball

retainer

is made from steel or resin.







LMF/K/H& %1

LMF/K/ H Series

(SMF/K/T Series)

O
LMK ‘
-
y
Ly
LMH
B= Part No. Main Dimensions and Tolerance

BHE B | g 2E | p [E | L 2% |p1 | H |peD| K | W | A
Seal Type CiBl'la.‘.ILIIit (mm) Tugeuralu_:g:e (mm) Tol(eEamm):e e Tol(elrlanr_lage Cmm)| (mm) | (mmd | mm) | cmom) | cmm)
LMF6UU | LMK6UU | LMH6UU | 4 6 12 . 19 28 | 5 | 20| 22| 18 | 20
LMFSUU | LMK8UU | LMH8UU | 4 8 15 | 11 24| 300 [ 32| 5 |24 2521|024
*LMF10UU [¥LMK10UU #MH10UU| 4 10 g 19 29 40 | 6 | 29| 30|25 | 20
*LMF12UU [¥LMK12UU ®LMH120U| 4 12 -9 . 30 42| 6 | 3232|2732
LMF13UU | LMK13UU | LMH13UU| 4 13 gy | =8 32 43 | 6 | 33| 34|29 | 33
#LMF16UU [¥LMK16UU #LMH16UU| 5 16 28 7| 2 [a8| 638|373 |
#LMF20UU [¥LMK20UU #LMH20UU| 5 20 32 42 54 | 8 | 43| 42| 38 | 36
*LMF25UU [¥LMK25UU #LMH25UU| 6 25 -fo o 0. 59 62 | 8 | 51| 50| 46 | 40
*LMF30UU [¥LMK30UU KLMH30UU| 6 30 45 64 74 | 10 | 60 | 58 | 51 | 49
LMF35UU | LMK35UU - 6 35 52 70 | -300 | 82| 10 | 67 | 64 | 60 | 55
*LMF40UU [*LMK40UU - 6 40 -fz 60 | % 80 96 | 13| 78| 75| - | -
LMF50UU | LMK50UU - B 50 80 100 116 | 13 | 98 | 92 | - | -
LMF60UU | LMK60UU - 6 60 | 0/-15 | 90 | 0/-22 | 110 | -400 | 134| 18 | 112|106 - | -

E: * AT ECEMRIFR.

Note: *The ball

retainer

is made from

steel or resin.




— 1 =
‘QElcHE
" -4 < - —- <
QT ©
LMF LMK LMH13 or less LMH16 or more
N sos | mEe wEnT -
F Aixdzch REcaHtncy Radial Rating Weight
g i) e Semnes : o (9
- 3.5x6x3.1 206 265 24
= 3.5x6x3.1 b 274 392 37
- 4.5x7.5x4.1 372 549 72
= 4.5x7.5x4.1 2 -4 510 784 76
= 4.5x7.5x4.1 510 784 88
22 4.5x7.5x4.1 774 1180 120
24 5.5x9x%5.1 -6 882 1370 180
32 5.5x9x%5.1 15 980 1570 340
35 6.6x11x6.1 1570 2740 470
38 6.6x11x6.1 ® 1670 3140 650
- 9x14x8.1 20 -10 2160 4020 1060
= 9x14x8.1 13 3820 7940 2200
&= 11x17x11.1 25 4700 10000 3000




LMF/K/H_L&R%
LMF/K/H_L Series

(SMF/K/T _W Series)

[m]
LMHCL

#5 Part No.
EHE zili'?lajliﬁ[ i Toﬁe}rﬁce P To;;}rﬁce : Tolg‘:aﬁnce b1 H
Seal Type Circuit | (mmD e (mm) iy (mm) Esehy (mm) | (mm)
LMFeLUU LMK6LUU LMH6LUU 4 6 12 0 35 28 5
LMFSLUU | LMKSLUU | LMHSLUU | 4 8 15 =2 45 +300 32 5
*¥LMF10LUU |*LMK10LUU PLMH10LUU 4 10 0 19 55 40 6
*LMF12LUU [*LMK12LUU ®*LMH12LUU 4 12 -10 21 0 57 42 6
LMF13LUU LMK13LUU | LMH13LUU 4 13 23 16 61 43 6
*LMF16LUU |*LMK16LUU HLMH16LUU 5 16 28 70 300 48 6
*LMF20LUU |*LMK20LUU ALMH20LUU 5 20 32 80 54 8
*LMF25LUU |*LMK25LUU A»L.MH25LUU 6 25 _?2 40 _?g 3 Lk 62 8
*LMF30LUU [*LMK30LUU LMH30LUU 6 30 45 123 74 10
LMF35LUU LMK35LUU | LMH35LUU 6 35 a2 135 82 10
*LMF40LUU |*LMK40LUU = 6 40 _?5 60 _;}2 151 ~400 96 13
LMF50LUU LMK50LUU = 6 50 80 192 116 13
LMF60LUU | LMK60LUU - 6 60 0/-20 90 0/-25 209 134 18

A *ATTECEWRFFSE.
Note: *The bal |

retainer

is made from steel or resin.




‘ |

@

LMFCIL LMKOL LMH13L or less LMH16L or more
Main Dimensions and Tolerance s mATEE Gl
Ecﬁxﬁiw ﬁggh Bi%ﬁz wiﬁt
PCD | K w A F dixd2xh ax CFE::I;?‘ Ice CRat' gL e(‘g)
(mm) | (mm) | (mm) | (mm) | (mm) {mm) nm ¢rom el R N
20 22 18 20 - 3.5x6x3.1 -3 323 | 529 31
24 25 21 24 = 3.5x6x3.1 =3 431 784 51
29 30 25 29 - 4.5x7.5x4.1 -4 588 1100 98
32 32 27 32 = 4.5x7.5x4.1 o -4 813 1570 110
33 34 29 33 - 4.5x7.5x4.1 -4 813 1570 130
38 37 34 31 22 4.5x7.5x4.1 -6 1230 | 2350 190
43 42 38 36 24 5.5x9x5.1 -6 1400 | 2740 260
51 50 46 40 32 5.5x9x5.1 20 -6 1560 | 3140 540
60 58 51 49 35 | 6.6x11x6.1 -8 2490 | 5490 | 680
67 64 60 55 38 | 6.6x11x6.1 -8 2650 | 6270 | 1020
78 75 - - - 9x14x8.1 -10 3430 | 8040 | 1570
98 92 = = = 9x14x8.1 2 -13 6080 | 15900 | 3600
112 106 - - = 11x17x11.1 -13 7550 | 20000 | 4500




10

t

LMF/KP &%
LMF/KP Series

(SMF/K-E Series)

## Part No. . | BEASE
Loa 7
ok S il BRI o |AE| D [AF| L | A% | 1 |D1| K |H|ecD| dixd2xh |gecen.| Rating | Weight
Ball Tolerance Tolerance Tolerance fpi C Co (g)
Seal Type Circui| ™™ Gt o (mm) A {mm) i (mm)|(mm)| (mm} |(mm) | (mm) (mm) tricity N N
LMFP6UU LMKP6UU 4 6 12 0 19 5128|122 |5 |20 3.5x6x3.1 206 | 265 24
iy +300
LMFP8UU LMKP8UU 4 8 15 24 5132 25|5 |24 Sy s 274 | 392 37
*LMFP10UU [*¥LMKP10UU| 4 10 B 19 29 6 |40 | 30| 6 | 29 | 4.5x7.5x4.1 372 | 549 72
12
-9
*¥LMFP12UU [k LMKP12UU| 4 12 21 0 30 -200 6 |42 | 32| 6 |32 | 4.5x7.5x4.1 510 | 784 76
-16
LMFP13UU| LMKP13UU| 4 13 23 32 6 |43 | 34 | 6 |33 | 4.5x7.5x4.1 510 | 784 88
*LMFP16UU [*¥LMKP16UU| 5 16 28 37 6 |48 | 37 | 6 | 38 | 4.5x7.5x4.1 774 | 1180 120
*LMFP20UU [#LMKP20UU| 5 20 32 42 8 |54 |42 | 8 |43 5.5x9x5.1 882 | 1370 180
*LMFP25UU [*¥LMKP25UU| 6 25 910 40 ?19 59 8 |62 | 50| 8 |51 5.5x9x5.1 15 980 | 1570 | 340
*LMFP30UU [#LMKP30UU| 6 30 45 64 -300 | 10 (74 | 58 |10| 60 | 6.6x11x6.1 1570| 2740 | 470
LMFP35UU | LMKP35UU| 6 35 52 70 10 |82 | 64 |10 | 67 | 6.6x11x6.1 1670| 3140 | 650
*LMFPa0uU [*LMkPaouu| 6 | 40 | O, | 60 | O, | 80 13|96 | 75 13|78 | o9x14x8.1 | 20 |2160| 4020| 1060
LMFP50UU | LMKP50UU| 6 50 80 100 13 (116| 92 |13 |98 9x14x8.1 3820 7940 | 2200
LMFP60UU | LMKP60OUU| 6 60 915 90 925 110 | -400 | 18 [134|106|18 (122 | 11x17x11.1 25 |[4700(10000| 3000
A *AFERERFE.
Note: *The ball retainer is made from steel or resin.




D1

LMF/KP_L &%

LMF/KP_L Series

(SMF/K _W-E Series)

iae e

I I | ]
h-]

7

Vs LIS TTTTIIIIIESS WL L EEIIIIISIIFI:

sessa®F Nildsgas et} P

LMFPOL LMKPOL
#IE2  Part No. : ! Main Dimensions and Tolerance B> ﬁ;ﬁ;ﬁ
asic
X B Load i_i
BER BB or |AE| D |[AZF| L | 2| 1 |D1| K | H |PCD| dixd2xh |Eccen-| Rating |Weight
Seal Type Ball | (mm) |Tolerance (mm) |Tolerance| o, | Tolerance | ooy | (mm) | (mm) | (mm) | (mm) (mm) tricity| ¢ co | (@
Circuit (um (m (m N N
LMFP6LUU | LMKPELUU | 4 6 12 35 5 |28 | 22| 5 |20 | 3.5x6x3.1 323|529 | 31
s +300
LMFPSLUU | LMKPSLUU | 4 8 15 45 5 |32|25| 5 | 24 | 3.5x6x3.1 431| 784 | 51
+{ MFP10LUUM.MKP10LUU| 4 10 0 19 55 6 |40 | 30 | 6 | 29 | 4.5x7.5x4.1 588 |1100| 98
15
-10
M MFP12LUUMMKP12LUU| 4 12 21 . 57 | -200 | 6 |42 | 32 [ 6 | 32 | 4.5x7.5x4.1 813|1570| 110
-16
LMFP13LUU| LMKP13LUU| 4 13 23 61 6 |43 | 34 | 6 | 33 | 4.5x7.5x4.1 813|1570| 130
{ MFP16LUUMMKP16LUU|[ 5 16 28 70 6 |48 | 37 | 6 | 38 | 4.5x7.5x4.1 1230/ 2350| 190
 MFP20LUUMMKP20LUU| 5 20 32 80 8 |54 | 42| 8 |43 | 5.5x9x5.1 1400| 2740| 260
HMFP25LUUMMKP2SLUU| 6 | 25 | 05| 40 | 0o | 112 8 |62 |50 | 8 |51 | 5.5x9x5.1 | 20 [1560/3140| 540
{ MFP30LUUMMKP30LUU| 6 30 45 123 | -300 | 10 | 74 | 58 | 10 | 60 | 6.6x11x6.1 2490( 5490| 680
LMFP35LUU| LMKP35LUU| 6 35 52 135 10 | 82 | 64 | 10 | 67 | 6.6x11x6.1 2650( 6270 | 1020
{ MFP40LUUMMKP40LUU| 6 40 915 60 ?22 151 13|96 | 75 | 13 | 78 | 9x14x8.1 3430/ 8040 | 1570
25
LMFP50LUU| LMKPS0LUU| 6 50 80 192 13 |116| 92 | 13 | 98 | 9x14x8.1 6080[15900| 3600
LMFP60LUU| LMKP6OLUU| 6 60 920 90 _025 209 | -400 | 18 | 134 | 106 | 18 |112 [11x17.5x10.8 7550/20000| 4500
i *RAELERRAFAR.
Note: *The ball retainer is made from steel or resin.

11



12

LMHP %1
LMHP Series

(SMT-E Series)

e @w @l@

B

1
]
|
i
w

LMHP6~LMHP13 LMHP16~LMHP30

## Ppart No. . | BER

{Ril> | Basic £
E Load |weight

BEE WBﬂ" dr |RE| p |BE| L | D | 1 |p1|W| H|[A|F| Dixd2xh |gocen | Rating o

Seal Type a [Tolerance Tolerance Tolerance o
ype | o @m st Kol Lt L Bkt LT NG B st G R (mm) tricity ﬁ CNO
LMHPEUU 4 6 12 19 5 28 | 18 5 | 20 - 3.5x6x3.1 206 | 265 | 21
Bs +300
LMHP8UU 4 8 15 24 5 32 | 21 5 | 24 = 3.5x6x3.1 2741392 | 33
KLMHP10UU 4 10 o 19 29 6 40 | 25 6 | 29 - 4.5x7.5%x4.1 372|549 | 64
12
-9
FLMHP12UU 4 12 21 0 30 -200 6 42 | 27 6 | 32 - 4.5x7.5%4.1 510 | 784 | 68
-16
LMHP13UU 4 13 23 32 6 43 | 29 6 | 33 - 4.5x7.5x4.1 510| 784 | 81
KLMHP16UU 5 16 28 37 6 48 | 34 6 | 31 | 22 | 4.5x7.5x4.1 774 |1180| 112
RLMHP20UU 5 20 32 42 8 54 | 38 8 | 36 | 24 5.5x9x5.1 882 |1370| 167
-300

kLMHP25UU 6 25 _010 40 919 59 8 62 | 46 8 | 40 | 32 5.5x9x5.1 15 | 980 |1570| 325
FLMHP30UU 6 30 45 64 10 | 74| 51 | 10 | 49 | 35 | 6.6x11x6.1 1570|2740| 388

A *RAECE MRFFSR.

Note: *The ball retainer is made from steel or resin.




LMHP_L &%
LMHP_L Series

(SMT W-E Series)

A= o A
ssesetl P Wilispsassand M

LMHP6L~LMHP13L LMHP16L~LMHP30L

BlE part No. _ Main Dimensions and Tolerance
Load .
0a :
mapm PROIM o (A% D [AZ| L | AE | 1 [pi|w|H|A|F| dixd2xh EIE Rating |Ve/9ht
Ball | (my |Tolerance| (o, [Tolerance| %03 | Tolerance tﬁé?tn- C Co| (@
Seal Type Circuit (m cumy | MM | cuqmy [(mm) | (mm)| (mm) | (mm) | (mm) | (mm) (mm) Y N N
4 6 12 35 5 |28 |18| 5 |20]| - | 3.5x6x3.1 323|529 | 28
LMHP6LUU 013 300
LMHPSLUU| 4 8 15 45 5 32 | 21 5 24 - 3.5x6x3.1 431 | 784 | 47
kLMHP1OLUU| 4 10 B 19 55 6 |40 | 25| 6 | 29 - | 4.5x7.5x4.1 588 |1100| 90
15
-10
kLMHP12LUU| 4 | 12 21 5 58 | -200 | 6 |42 | 27| 6 [ 32| - | 4.5x7.5x4.1 813 [1570| 102
-16
KLMHP13LUU| 4 | 13 23 61 6 43|29 | 6 | 33| - | 4.5x7.5x4.1 813 |1570| 123
wLMHP16LUU| 5 | 16 28 70 6 |48 | 34 | 6 | 31| 22 | 4.5x7.5x4.1 1230(2350| 182
LMHP20LUU| 5 | 20 32 80 8 |54 |38| 8 |36 24| 5.5x9x5.1 1400|2740 247
-300
KLMHP25LUU| 6 | 25 | O, | 40 | O | 112 8 | 62|46 | 8 | 40 | 32 | 5.5x9x5.1 | 20 |1560|3140| 525
®LMHP30LUU| 6 | 30 45 123 10 | 74 | 51 | 10 | 49 | 35 | 6.6x11x6.1 2490|5490| 645

i *ATEERRIFR.

Note: *The ball retainer is made from steel or resin.

13



14

LMF/KC& %1
LMF/KC Series

(SMF/KC Series)

#E  Part No. Main Dimensions and Tolerance . | BIE ST

Wil | Basic | EE
B | Lload | int

e Eid) BB ar (22| D 22| L 2| 1 |D1| K | H |PcD| dixd2xh |gccen| Rating [Weid

Ball | (mm) |Tolerance| (mm) [Tolerance| (mm) [Tolerance| (mmy | (mm) | (mm) | (mm) | (mm) (mm) tricity| € Co (g)

Seal e Circuit (umy (umy (um N N
LMFC6UU | LMKC6UU | 4 6 12 35 15|28 | 22| 5 | 20 | 3.5x6x3.1 323|529 | 31
Do +300
LMFC8UU | LMKC8UU | 4 8 15 45 20 | 32 | 25 | 5 | 24 | 3.5x6x3.1 431| 784 | 51
*LMFC10UU |* LMKC10UU | 4 10 5 19 55 24.5| 40 | 30 | 6 | 29 | 4.5x7.5x4.1 5881100 98
15
-10
*LMFC12UU | LMKC12UU | 4 12 21 o 57 |-200[25.5| 42 | 32 | 6 | 32 | 4.5x7.5x4.1 813[1570| 110
-16

LMFC13UU| LMKC13UU| 4 13 23 61 27.5| 43 | 3¢ | 6 | 33 | 4.5x7.5x4.1 813|1570| 130
LMFC16UU| LMKC16UU| 5 16 28 70 32 | 48 | 37 | 6 | 38 | 4.5x7.5x4.1 1230/ 2350 190
* LMFC20UU |* LMKC20UU | 5 20 32 80 36 | 54 | 42 | 8 | 43 | 5.5x9x5.1 1400 2740| 260
*LMFC25UU | LMKC25UU| 6 | 25 912 40 | g | 112 52 | 62 | 50 | 8 | 51 | 5.5x9x5.1 | 20 [1560{3140| 540
*LMFC30UU |* LMKC30UU| 6 | 30 45 123 [-300(56.5| 74 | 58 | 10 | 60 | 6.6x11x6.1 2490/ 5490| 680
LMFC35UU| LMKC35UU| 6 | 35 52 135 62.5| 82 | 64 | 10 | 67 | 6.6x11x6.1 2650/ 6270| 1020
* LMFC40UU |* LMKC40UU| 6 | 40 945 60 922 151 69 | 96 | 75 | 13 | 78 | 9x14x8.1 | 25 |[34308040| 1570
LMFC50UU| LMKCS0UU| 6 | 50 80 192 89.5(116| 92 | 13 | 98 | 9x14x8.1 6080/ 15900 3600
LMFC60UU| LMKC60UU| 6 | 60 920 90 925 209 |-400|95.5| 134 | 106 | 18 | 112 | 11x17x11.1 | 30 |7550/20000| 4500

E: *AEERERATR.

Note:

*The bal |

retainer

is made from steel or resin




KHE %
KH Series

KH
Main Dimensions EESNE R
A2 Part No. Basic Load Rating Weight
& Co (9)
N N
KH-0622 6 12 22 400 239 7
KH-0824 8 15 24 435 280 12
KH-1026 10 17 26 500 370 14.5
KH-1228 12 19 28 620 510 18.5
KH-1428 14 21 28 620 520 20.5
KH-1630 16 24 30 800 620 27.5
KH-2030 20 28 30 950 790 32.5
KH-2540 25 35 40 1990 1670 66
KH-3050 30 40 50 2800 2700 95
KH-4060 40 52 60 4400 4450 182
KH-5070 50 62 70 5500 6300 252
LERSE e
Type number format KH 20 30 PP
P: HHEE

20: AR 30: KER

Shaft diameter Length dimension

KH: M ESMNER Seal one side
Pressing bush linear bearing PP: WAL % E
Seal both sides

15



16

Part Numbering | B585288 : TMF 20

Square Flange Self-Lubricated Bearing |
TMF 7545 B hs
Bearing Inner Diameter | #i&A1E

DX DY*L

@dr

Df
T

Inner Dia.

Dimensions 2R

WARE

@D

@dr (F8) @D (h6) L @Df K t P.C.D.
TMF 10 10 19 29 40 30 9 29 4.5 7.5 4.1
TMF 12 12 21 30 42 32 9 32 4.5 7.5 4.1
TMF 13 13 23 32 43 34 9 33 4.5 75 4.1
TMF 16 16 28 37 48 | 37 9 38 4.5 7.5 4.1
TMF 20 20 32 42 54 | 42 11 43 5.5 9.0 5.1
TMF 25 25 40 59 62 | 50 " 51 5.5 9.0 5.1
TMF 30 30 45 64 74 58 14 60 6.6 11.0 | 6.1
TMF 35 35 52 70 82 64 14 67 6.6 11.0 | 6.1
TMF 40 40 60 80 96 75 18 78 9.0 14.0 | 8.1
TMF 50 50 80 100 116 92 | 20 98 9.0 14.0 | 8.1
(- mm )
a oad a I A peed 210
ode CNEFEA y S i it & £Cg
Hw = = i) = = SR = B o
! q d
TMF 10 200 | 10.4 2 33
TMF 12 250 [ 12.9 2 35
TMF 13 290 14.9 2 38
TMF 16 410 21.2 2 56
TMF 20 580 30.1 2 75
TMF 25 1000 52.8 2 149
TMF 30 1300 68.7 2 202
TMF 35 1700 87.7 2 296
TMF 40 2200 115.0 2 450
TMF 50 3500 179.0 2 1000




Part Numbering | BU5%38088 : TMFR 20

Round Flange Self-Lubricated Bearing |
TMFR BERIZY B fehis

Bearing Inner Diameter | &hisA{E

oX*DY'L

@Df
3
|
@dr
@D

[
L
[T K
|
L
: |
—

I;mn;rpg;;. Dimensions 2R

@dr (F8) @D (h6) L oDf t P.C.D.
TMFR 6 6 12 19 28 8 20 3.5 6.0 3.1
TMFR 8 8 15 24 32 8 | 24 3.5 6.0 3.1
TMFR 10 10 | 19 29 40 9 | 29 4.5 7.5 4.1
TMFR 12 12 | 21 30 42 9 | 32 4.5 7.5 4.1
TMFR 16 16 | 28 37 48 9 38 45 | 75 | 44
TMFR 20 20 | 32 42 54 11 43 55 9.0 5.1
TMFR 25 25 40 59 62 11 51 5.5 9.0 5.1
TMFR 30 30 45 64 74 14 60 6.6 11.0 6.1

(mm )

Max. Static Load Max. PV Max. Speed Weight

RABEE Bff X 2E (BKXE) RPURE B85

( kgf) ( kgf * m/sec) (m/sec) (g)

TMFR 6 80 4.1 2 12
TMFR 8 130 6.9 | 2 14
TMFR 10 200 10.4 '. 2 36
TMFR 12 250 12.9 2 38
TMFR 16 410 21.2 2 60
TMFR 20 580 30.1 2 80
TMFR 25 1000 52.8 2 160
TMFR 30 1300 68.7 2 212

(mm )

17



18

Part Numbering | E!5%3288 : TMFW 20

Long Type Square Flange Self-Lubricated Bearing |
TMFW 75 4R8I0 REL B8 %

Bearing Inner Diameter | #§i5A1E

DXDY*L

Df
T

@df

2D

Model 5% Igfl?;rﬁ;g i 2
@dr (F8) K t  PCD.
TMFW 10 10 19 55 40 30 10 20 4.5 75 4.1
TMFW 12 12 21 a7 42 32 13 32 4.5 75 4.1
TMFW 16 16 28 70 48 37 13 38 4.5 7.5 4.1
TMFW 20 20 32 80 54 42 15 43 55 9.0 5.1
TMFW 25 25 40 112 62 50 15 51 5.5 9.0 5.4
TMFW 30 30 45 | 123 74 58 20 60 6.6 11.0 6.1
TMFW 35 35 52 | 135 82 64 20 67 6.6 11.0 6.1
TMFW 40 40 60 151 96 75 22 78 9.0 14.0 8.1
(mm )
Max. Static Load Max. PV Max. Speed
Model EYSE RABAH BE X FE (RXE) BRIREE
( kgf) (kgf * mi/sec) (m/sec)
TMFW 10 380 18.7 2 62
TMFW 12 475 23.2 2 67
TMFW 16 780 38.1 2 106
TMFW 20 1100 54.2 2 143
TMFW 25 1900 95.0 2 283
TMFW 30 2470 123.7 2 388
TMFW 35 3230 E 157.9 2 570
TMFW 40 4180 207.0 2 849




Part Numbering | BU5%ER08 : TMFRW 20

Long Type Round Flange Self-Lubricated Bearing |

TMFW BiEZEI0RE BB

Bearing Inner Diameter | #&ARE

DX*DY*L
i 11 *
il semT—— ==
S F——— § 8
I L
Y ‘_:EE_

Model RS %n;:ﬁl;)g Dimensions £E2R o
@dr (F8) @D (hé) t P.C.D. ;
TMFRW 12 5 o) 21 57 42 13 32 4.5 irh 41
TMFRW 16 16 28 70 48 13 38 4.5 7D 4.1
TMFRW 20 20 32 80 54 15 43 5.5 9.0 51
TMFRW 25 25 40 112 62 15 51 55 9.0 5.1
TMFRW 30 30 45 123 74 20 60 6.6 11.0 6.1
(mm )

Max. Static Load Max. PV Max. Speed

Model U5 BRAFAH BE X &E (RXE) RIREE

( kgf ) ( kgf * misec) (m/sec)
TMFRW 12 475 23.2 2 72
TMFRW 16 780 38.1 2 113
TMFRW 20 1100 54.2 2 150
TMFRW 25 1900 95.0 2 303
TMFRW 30 2470 1 123.7 2 407

(mn)



2. B EREF -
B0 Bl E



SCR¥
Slide unit SC Series

(SMA Type)

A
r—b
A
h+o 0z

A
4-82 Dxo.02
SC
Main dimensions (mm) SiE T E=
#E ' Basic Load
Rating Weight
Part No.| h D w H G A B E Slxe S2 C E C Co (g)
N N

SC8UU 11| 17 | 34 | 22 | 18 24 | 5 M4X8 3.4 | 18 30 274 392 52

SCI10UU | 13 | 20 | 40 | 26 | 21 28 | 6 M5X12 43 | 21 35 372 549 92

6
8
SCi2UU | 15 | 21 | 42 | 28 | 24 | 8 |30.5/5.75| M5X12 43 | 26 36 510 784 102
8
9

33 |55 M5X12 43 | 26 39 510 784 120
36 | 7 M5X12 43 | 34 44 774 1180 200

SC13UU | 15 | 22 | 44 | 30 |24.5

SCieUU | 19 | 25 | 50 |38.5|32.5
SC20UU | 21 | 27 | 54 | 41 | 35| 11 | 40 | 7 M6X12 5.2 | 40 50 882 1370 255

SC25UU | 26 | 38 | 76 |51.5| 42 | 12 | 54 | 11 M8X18 7 50 67 980 1570 600

SC30UU | 30 | 39 | 78 |59.5| 49 | 15 | 58 | 10 M8X18 7 58 72 | 1574 | 2740 735

SC35UU | 34 | 45 | 90 | 68 | 54 | 18 | 70 | 10 M8X18 7 60 80 1670 | 3140 1100

SC40UU | 40 | 51 | 102 | 78 | 62 | 20 | 80 | 11 M10X25 | 8.7 | 60 90 | 2160 | 4020 1590

SC50UU | 52 | 61 | 122 |102| 80 | 25 | 100| 11 M10X25 | 8.7 | 80 | 110 | 3820 | 7940 3340




SC_L#&R%]
Slide unit SC_L Series

(SMA _W Type)

h+o.02

A-M6x1

SCOL 4-S2 D002 |

Main di ior ( ) 5
. ain dimensions (mm B?s%%otrd 55

Rating Weight
PartNo. | hn | p|w|H|G|N|[A|B|E|sSixe [s2|cC | L C Co ()
N N

SC8LUU | 11| 17| 34 | 22| 18| 7 24 | 5 M4x8 3.4 | 42 58 431 | 784 102

SCi10LUU | 13 | 20| 40| 26 | 21 | 7 28 | 6 | M5X12 | 4.3 | 46 | 68 588 | 1100 180

SC13LUU | 15 | 22 | 44 | 30 |24.5| 6.5 33 |5.5| M5X12 | 4.3 | 50 75 813 | 1570 240

6
8
SC12LUU | 15| 21 | 42| 28 | 24 | 6.5| 8 |30.5/5.75( M5X12 | 4.3 | 50 70 813 | 1570 250
8
9

SCieLUU | 19 | 25 | 50 |38.5|32.5 36 | 7 | M5X12 | 4.3 | 60 85 1230 | 2350 400

SC20LUU | 21 | 27 | 54 | 41 | 35 11|40 | 7 | M6X12 | 5.2 | 70 | 96 1410 | 2740 570

SC25LUU | 26 | 38 | 76 |51.5] 42 54 | 11 | M8X18 7 100 | 130 1610 | 3140 1200

(0 I - N B
=
[

SC30LUU | 30 | 39| 78 |59.5| 49 15 | 58 | 10 | MBX18 7 110 | 140 | 2450 | 5490 1480

SC35LUU | 34 | 45| 90 | 68 | 54 | 5.5| 18| 70 | 10 | MBX18 7 120 | 155 2650 | 6270 2200

SC40LUU | 40 | 51 |102| 78 | 62 | 5 | 20| 80 | 11 [ M10X25| 8.7 | 140 | 175 | 3430 | 8040 3200

SC50LUU | 52 | 61 |122/102| 80 | 5 | 25 |100| 11 | M10X25| 8.7 | 160 | 215 | 6080 |15900 6700




SMEAR %
Slide Unit SME Series

1 B L _
E+0.02 - =
g ' = L
l | | | |
;s B N 1
zll \.‘:‘., I v
w “““_‘_IT_‘_“““
|
. ; 7
h1
SME 0
Main dimensions (mm) i E fafar g
EidE=2 F%E4h7& | Basic Load Sl
Ratin eight
PartNo. | | p | w| L |F| T |n|06]|B]|C Sxe Slide Bush | - 30
N N (g)
SME16UU | 20 |22.5| 45 | 45 | 33 9 10 | 80°| 32 | 30 M5x12 |LM16UU-OP| 774 |1180 150
SME20UU | 23 24 | 48 | 50 | 39 11 10 | 60° | 35 | 35 Méx12 |LM20UU-OP| 882 (1370 200
SME25UU | 27 30 | 60 | 65 | 47 14 |11.5/50°| 40 | 40 Méex12 |LM25UU-OP| 980 (1570 450
SME30UU | 33 35| 70 | 70 | 56 [ 14 ([ 50° | 50 | 50 M8x18 |LM30UU-OP| 1570(2740 630
SME35UU | 37 | 40 | 80 | 80 | 63 18 16 | 50°| 55 | 55 M8x18 |LM35UU-OP| 1670(3140 925
SME40UU | 42 | 45 | 90 | 90 | 72 20 19 | 50°| 65 | 65 | M10x20 |LM40UU-OP| 2160(4020 1330
SME50UU | 53 60 | 120 | 110| 92 25 23 | 50°| 94 | 80 | M10x20 |LM50UU-OP| 3820|7940 3000

23



24

SME_L &%
Slide Unit SME _L Series

w 1
— L .
- C+0.2 g
" ik | il
S Pl I -
w 1
|
|
I
h1
i)
SMEDOL
Main dimensions (mm) HENE | B8
RBE R ZESh#% | Basic Load
- Ratin Weight
PartNo. [ h [ D | W| L | F| T [h1]| 0 |B|C Sxe Slide Bush | ¢ cg;o -
N N (g)
SME16LUU| 20 [22.5| 45 | 85 | 33 9 10 | 80°| 32 | 60 M5x12 | LM16UU-OPx2(1230|2350| 300
SME20LUU| 23 | 24 | 48 | 95 | 39 11 10 | 60°| 35 | 70 | Méex12 |LM20UU-OPx2|1400|2740( 400
SME25LUU| 27 | 30 | 60 | 130 | 47 14 |11.5(50°| 40 | 90 M6x12 |LM25UU-OPx2(1560|3140| 900
SME30LUU| 33 | 35 | 70 | 140 56 15 14 | 50°| 50 [100| M8x18 |LM30UU-OPx2|2490(5490| 1260




SHF & %1
Slide Unit SHF Series

o
SHF F

Shaft Clamping | Mounting | weight

Part No. alireter L ili F B G H 5 desig?'nlgtion desigﬁgtion (@
SHF-10 10 43 10 5 32 20 24 5.5 M5 M4 13
SHF-12 12 47 13 7 36 25 28 5.5 M5 M4 20
SHF-13 13 47 13 7 36 25 28 5:5 M5 M4 20
SHF-16 16 50 16 8 40 28 31 5:5 M5 M4 27
SHF-20 20 60 20 8 48 34 37 7 M6 M5 40
SHF-25 25 70 25 10 56 40 42 7 M6 M5 60
SHF-30 30 80 30 12 64 46 50 9 M8 M6 110
SHF-35 =5 92 35 14 72 50 58 12 M10 M8 380
SHF-40 40 105 40 16 80 56 67 12 M10 M10 510
SHF-50 50 122 50 19 96 70 83 14 M12 M12 890

25



26

SK#R 31
Slide Unit SK series

(SH-A Type)

i
T
o i
f
[
T L T
1 I ]
Y : i .
!
- BE
Wiz Main dimensions(mm) KRB | REBR | g
EilE= bl L= )
Shaft Clamping | Mounting | Weight
PartNo. | . .| h| G|A|B| C|E|F|R|S|T bolt bolt (@
designation | designation
SK-8 8 20| 21 | 42 | 14 | 32.8 6 18 | 32 5 5.5 M4 M5 24
SK-10 10 20| 21 | 42 | 14 | 32.8 6 18 | 32 5 5.5 M4 M5 24
SK-12 12 23| 21 | 42 | 14 | 37.5 6 20 | 32 S 5.5 M4 M5 30
SK-13 13 23| 21 | 42 | 14 | 37.5 6 20 | 32 K Bih M4 M5 30
SK-16 16 27 | 24 | 48 | 16 44 8 25 | 38 5 5.5 M4 M5 40
SK-20 20 31| 30 | 60 | 20 51 10 | 30 | 45 | 7.5 | 6.6 M5 M6 70
SK-25 25 35| 35| 70 | 24 60 12 | 38 | 56 7 | 6.6 M6 M6 130
SK-30 30 42 | 42 | 84 | 28 70 12 | 44 | 64 | 10 9 M6 M8 180
SK-35 35 50 | 49 | 98 | 32 82 15 | 50| 74 | 12 | 11 M8 M10 270
SK-40 40 60 | 57 | 114 | 36 96 15 | 60 | 90 | 12 | 11 M8 M10 420
SK-50 50 70 | 63 | 126 40 | 120 | 18 | 74 (100 | 13 | 14 M12 M12 750




3. B



#R tE i B

7 o #m 05 R A

BGC | |H || 25 | BN |-| 2 |-] -lL ] [s00|-[P|-]2z1]|-]11]
[
BEEER AR BBE
BGX : FEEEMH ZF : fimm
BGC : HEE B ESNE 20 : BEE
mE LI Z1: FOE
T Uu : I Bi EE Z2 : PHEE
AEEh SS I+ TR+ EB5 23 : AR
H: SlR E DD :ERHE+ FHE
S : Mm% 2z HHE+ FHE+2BERA s
X @ FEEAT KK : SFE+ THE+&BEIRI A N: ZER
EE : £FE+ TR E+ LFAE H: B
FF : IGPHEE+ FRAE + LR E P - Ma
_— +2BEIRIA ‘
B GG EHE+ PO+ LB il
+&BERIA :
AREAMRAL - 2B MMELS) wE
BN : %88/ R
g = AA : IHBAE+ FRSE+LS
BS : fLM/IE UL i
BL : fSABE/RE - p
BE : FER/MER A M MEFGEA
FN : AiER /R4 DA : &[5+ FRHE+LS
FS : BiAM/AE ZA: BB+ THE
FL: AiEm/RE +&BERIA +LS
FE : BABE/MEE KA : B+ FHE BASE
+&BEIF A +LS L : E# 4L
EA: SFFE+ FFHE+ LB C: REAAE
+LS
FA: BB E+ THE+ LBHE
+&BERIA +LS

GA - SFE+ TRE+ LBHE
+EBEIR R +LS




Bt mm

=m LEE | B8 WER BT BB
B % (N) (H) (P) (SP) (UP)
0 0 0
HEBRE (H) 0.1 $0.04 ' 504 0.02 -0.01
AEREEE (W) 01| 1004 | o0 002 001
RUSEHERE (H) 0.03 0.02 0.01 0.005 0.003
R EEREDE (AW) 0.03 0.02 0.01 0.005 0.003
BxClmymsA] BnFErE sC 22EBCHERTERE
BED] mynEB] AnTEERE 2D 2 2EBGHERTERE
m AT T T T T T 1
| =mewN
ac faf—ded—t — L ket e
AD f20} 1B 4 (P)
ob BEBMB (SP)
BB (UP)

1000

2000

o, ££ (mm)

BCHRETERE

3000

4000

29



9. BGC R BN ZEXBHB N

O\
© ©

© ©
© ©

O

SATERMBUMRNEER  ENHAEHESHAARE  ERSELSATER
SMNEIBE=SNE - D REAEABHFFNETAESUES -

30



4-10 BGX/BGC B8R ~TR

31

08°€l| 26'C| 8SY9 | 8SY'9 | 6429 | 9€SC | 06LC | LLST | 0'99T [00z|0€z|09L|0zZL|08E| €S |(8°0L)|0FL|SZLXSN|0LLL| 0'8L|ZLIN|S6 |G [00LZ|22L|S€Z|00L| 0L | 39SSS
0g'€l| 2G| oLy | Loy | 8evy | 68LL | 8961 | €9TT | 6'TET (002 |0€Z | 09L|0zZL|08E| €5 |(8°0L)|0¥L|SZ LXSN|0OPSL| 0°8L |ZLIN|GL |G [0°€6L|22L|S€Z|00L| 04 | 1955S
08€l| 292 | voez | voez | coge | VEEL | L9VT | Zz'98 | L'¥OT [0°02|0€Z|09L|0ZL|08E| €S |(8°0L)|0¥L|SZ LXSN|0OLL| 0'8L|ZLIN|GL|GL [0°GGL|22L|S€Z|00L| 0L | NESSS
096 | gvz| 6.8€| 628¢€ | 6vpe | €CIT | 96LT | $'86 | 9°€OT |0°2L|0°0Z | O%L|SOL| L'LE| G¥ |(8°0L) | ¥ ¥L|ST LXSIN[O'BEL| GGl |OLN| 08|09 [0FLL| 68|S02| 98 | 09 | 39SHS
096 | €6°L| 2czlz| gLz | 9eLz | S6CT | SeVl | T'G8 | L'68 |0ZL|00Z|0¥L|SOL|L'LE| G |(80L)|¥¥L|ST LXSIN[OOLL|GGL|OLN| 09|09 [0GFL| 68|S0Z| 98 |09 | 195+S
096 | ¥9'L| ¥zS'L | ves'L | ooz | 6'80T | 86T [ 9T, | 2718 (021|002 | 0| GOL| L Le| GF [(80L)|¥¥L|STIX8N| 06 | SSL|OLIN| 09|09 |062L| 678|502 98 | 09 | NESHS
GZ9 | v8L | 98zz| 98z | L6k | €9CT | 8LET | 6TL | 9T8 |0CL|OvL| 06| 08|092| ¥ |(SLL)[SLL| O'LXON [S22ZL| 00L| 8N | 22| 0S |S€SL| G 2|08L| 0L | 8y | 3GSES
GZ9 | oL | 96t | 96eL | o9k | PTOT | STIT | $'G9 | 889 |0CL|0O¥L| 06| 08|092| ¥€|(gLL) |G LL| OLXON [ 626 | 00L| 8N | 0S| 0S [S€Zh| 2|08l | 0L |8y | 195€S
GZz9 |0zl | 260|260 2z | T8 ¢68 | €25 | 65 |0ZL|0OVL| 06| 08|09Z| ¥€ | (G LL)|SLL| OTLXON | G08 [0OL| 8N [0G|0S [GLLL| S2|08L| 0L | 8F | NEGES
GZ'9 | 08°0| 6920 | 6920 | €v90 | L0V 8vy | zo9z | 8T€ [ozL|ovL| 06| 08|09z v [(SLL)[SLL] OLXOW |Gt | 0°0L | 8IN 0G| GG |G.2|08L|0L|8Y|SasES
Gy | 9LL | 9€€TL | 9g€T) | 2gl'L | L'98 v'S6 | 625 | 625 |0CL|0VL| 06| 08|8¢c|82|(2LL)| OL | O'LXON (G'€0L|00L| 8N [09|0F |SOEL| 0L[09L|09 |2 |390S
Gv'v | ¥6°0 | 1280 | 1280 | Gle0 | L0L 8LL | gy | T8y |0CL|OVL| 06| 08|822| 82 |(LLL)| OL | OLXON [ 082 |00L| 8N |OF|0Y [0°SOL| 0Z|09L| 09 |2y | 190€S
Gy'y | 08°0 | LSS0 | LG50 | 9020 | 9VS T09 | 298 | 9TF |ocL|ovL| 06| 08 |822| 8z |(2LL)| OL | OLXON [ 829 |00L| 8N |0V |0V | 86 | 0°2|09L| 09 | 2¥ | NBOES
sty | oso| osto| osio | oseo 12 L'6C | 28T | T2e (och|ovL| 06| 0882282 |(LLL)| OL | O'LXON | 228 | 00k | SN OV | 2¥9 | 0°2|09L| 09 |2r |Sg0eS
88z | L90| 6180 6180 | 6290 | €€9 969 | 09c | 08c |06 |0OLL| 0L|09|26L|€Z|(zZL)|2OL|OLXIN|698| 06 | 9N |0G|GE [980L| 86 |Gzl | 8y | 9¢ | 3gsZX
88 | ¥S0| 8960 | 8950 | 9950 | 8¢S 183 | 6TE | L€€ |06 |0LL| 02| 09|z6L|ce|(22L)|z0oL| OLXON |22 | 06 | 9N |SE|SE | 666 | 8S|SZL| 8 | 9¢ | 1g5eX
88 | 0¥'0 | zse0| 2se0 | ovvO | TIV ¢Sy | gvz | 182 |06 |OLL| 02| 09|z6L|€z|(22h)|20L| O LXIN |GG | 06 | 9N |GE|GE | 26L | 86G|SZL| 8| 9¢ | NGseX
88 | 8¢°0 | zse0| 2se0 | ovvO | TV ¢Sy | 8¥z | T82 |06 |0LL| 02| 09|26L|€2|(22L)| 22| OXIN |GG | 89 [9N [Ge|SE |26L |8S|G2L|8F | e |NASZS
88°Z | LZ'0| LOL'O| LOLO | G220 1C TEZ L2T | SST |06 [0LL| 02| 09|26k €z|(22L)| 22| 0LXON|€g2Ze| 89 | 9N GE |0'%S | 8G|GCh| 8¥ | €€ | SA5ZS
Gl'z | 9zo| ozzo| ozzo | G8z0 | SOE 9€e | 2T | gT2 | S8 |G6 | 09| 09|€9L|0Z|(czL)| L'G|OLXIN|[G8F | GG | SN |2e|2€ | L'OL | SV |OLL| 2y |82 | NAOZS
GL'Z | ZL'0| ¥900 | ¥90°0 | 9¥L0 | L'ST €LT T6 | TTT | S8 |S6 | 09| 09(coL|oz|(€zl)| 1| OIXIN|GL2| GG | SN ZE | L6y | Sv|0LL| 2y | 82 | SE0ZS
8zZ'L | 8L'0| 69L0| 69L°0 | ¥9LO | L€Z T'9¢ 6€T | TH¥T |GG |SL |G| 09|0€L|GL|(2G)|SS|LOXPN|LLy| 8V |¥IN [92|92 | 199 |¥€|GS6 | e |2 | 195LS
8Z'L | ZL'O| ZLLO| ZLLO | 9610 | 96T 9'TC STT | 0C€T |GG |SZ | S¥|09[0€L|GL|(2G) |GG | LOXPN|ZOF| 8Y | ¥IN (92|92 | 985 |¥E|G6 | ¥E | ¥Z | NESLS
8Z'L | 0L°0 | 2€0°0 | 2€0'0 | 8900 | 86 8'0T L'S | 69 |SS |G| Gv|o09|oek|Sh|(2G) |G| LOXPN |22 | 8 | YN 9z | 90 | ¥'E| G6 | ¥ | ¥ | SASLS
woy | B[ YN | AN | YW [098-00|x99-00(098-0(Xx980| U | @ | P | A WH[m] N [tL]| HlO [ 11| 1 |ow|r|a| 1 | 3|z | M| H w =
YE 8| B8 w.Ny - HOERE NY-12 5 2 EE ww -1 8¢ wiw - g 8¢ wiw -y B 7% BY

a9 1 ‘Nd

LINk

=




08'€L| 9L'G | 8S¥'9 | 8G¥'9 | 6429 | 9'€SC 0'6.¢C L'2GL | 00991 |0°0Z|0€z|09L|ozL|o8e| €S |(80L) |0OTL | STILXBN|0LLL|O6L |92l |vLIN|S6|9LL|00LZ|22L|S€er |ovL | 0L | 34SGH
08°€L| €9 | LOL'Y | LOLY | 82v'y | 684L | 896L | €9l | 6LEL |0°0Z|0€2|09L|0Zk|08E|€S |(8°0L) (0¥l | STUXSN |OVSL|0'6L |9ZL |PLIN [G6 |9LL|0°E6L | 2°ZL|SEY |OFL | 0L | T4SGH
08cl| vre |voez |¥oez |coee | veeL | Lovlk | zog | 2voL |00z|0€z |09l |ozL|08E| €S [(8°0L) [OFL | ST UXSN |0°9LL|0'6L [9ZL |FLIN [G6 |9LL|0°GSL | 221 |SEY |OFL | 0L | N4SSH
096 | gv'e |6.8€ [68€ |6¥be | €€9L | 96LL | '86 | 9°€0L |0°2L|00Z 0%l [SOL|LLE| Sy [(8°0L) [¥¥L | STUX8N |0'6EL|0°9L |90 |ZLIN [08 |00L|0VZL | 68 |SZE |0ZL |09 | F4SPH
096 | 89¢C |2cL'¢ |cglc |9€LC | G6CL gevl 1'G68 168 |02L|00Z|0YL|SOL|LLE|SY [(80L) |¥¥L | ST LXSN [00LL[0O9L |90L|ZLIN |08|00L|0OSHL | 68 |SZE |0ZL [09 [ T4SPH
096 | Z¢'C | ¥eS'L | v2S'L | 00€C | 6'80L 8’6l 9L L8 |021L]00zZ|0%L|SOL|LLE|GY [(80L) [Pl | ST LX8N | OF6 |0°9L [90L |ZLN [08|00L|062L | 68 [S2E |02L |09 | NASYH
GZ'9 | ¥9°C | 982°C |98¢°C | L86'L | €'GCl /€L 61 918 |0CL|0¥L |06 |08 |09C|¥E [(gLL) |G L LXON |S9°22L{O0PL | 98 |[OLIN |29 |28 |g9'eSl | G |0€EE |00L | 8 | A4SEH
Gz9 | 061 |96€t |96t [ 209t | ¥ 10L G | vS9 | 889 [ozh|ovi|06|08[09z]ve [(g11) [SHL] tXoW [ S26|ovL | 98 [olw[zo]ze|sezL | g2 [oee [ool |8y | 14sEH
GZ'9| 0S9'} | ¢L60 | cl6'0]|C8CL 118 2’68 €¢S ¥65 |ocL|ovL|06 | 088|092 ¥E[(SLL) [SLL LX9IN G08|0¥L| 98 |OLIN|C9| 28| S'LLL| GL|0€E | 00L|8Y | NASEH
GZ9 | 00'L 6920|6920 |€¥90 L0¥ 4% 292 g'Le |0¢CL|0¥lL |06 |08 |09C|VE () [sL X9 Svy |OvL | 98 |OLIN ¢8| GGL | 9L |0¢e (00} [8F | SA4GEH
Sy'y | 991 | 9€€L | 9EE’L | 22l 198 ¥'G6 6'¢S 625 |ocL|ovL|06 |08 |82z|8Z [(£LL) ]| OL IXO9N |S°€0L|{0°CL | 98 [OLIN |CS| L |S0EL| 0L |0OLE | 06 |V | 3H0EH
Sy | #€°L | 1280 | 1280 [ SL6°0 L0 8'L. SWAY L8y |ocL|ovL| 06 |08 |82z|8e |(£LL) | OL L X9N 082 |0¢L| 99 [OLA |25 |2 |0G0L| O [0LE | 06 |2V | 1dOEH
Gy | obL | 1SS0 [ 1SS0 [ 9020 | ows 1'09 | 29g | 9y |0zZL|OvL| 06 |08 |8Cz|8z [(£1L) | OL | LXoW | 829 |0zl | 98 [on |2G|2L|8ve | 0L [0Le | 06 [2¥ [ NdoEH
Sy [ 08°0 [0S0 [0SL'O |0SE0 | 022 L6z | z8lL | Lzz [0ZL|ovL |06 |08(82Z|8Z [(LLL)| 0L | XN | ZZE |02 | 98 [OLN z.lzve | o2 |oLe | 06 |2¥ | sdoeH
88z | 050 |zse0]zseo [ovvo| 1w Zsv | evz | Lgz |06 0L |02 |09 |z6L|€Z [(€2L) |22 | IXOW | S2S| L2 |89 8N |se|09|z6L | 8S [0Sz | €L |€e [NdSES
88'c | €¢0 | LOL'0 | LOLO | S0 (U4 [ 4 1¢l GGl 06 |0LL| 02|09 |Z6L|ET |(E2L)| 2L LX9N €ece | V'L | 89| 8N 09| 0%S | 89 |0GC | €L | €€ | SHSCS
88'C | 680 [6180 (6180 | 6490 €'€9 969 09¢ 0'8¢ 06 |0LL| 0L |09 |26L|EZ [(272L)|20L L X9N 698 |L°0L |89 | 8N |S¥|.9|980L | 8¢ [9'€C | 0L |9¢ | I4dSCH
88'Z | 2,0 | 8950 [895°0 | 9950 | gz 18 | 61 | 2 |06 |0k | 0L |09|Z6L|€Z [(22L) 20| LXON | ZZL|LOL|89 |8N |S¥|.iS|6€6 | 8G |s€z | 0L |9e | T4SzH
88'C | 260 |2S€0 [2se0 |ovvo [ Ly zZsy | eve | 18z |06 |0k |02Z |09 |z6L|cz [(€2L)|zoL| LXON | GZS|L0OL|89 |8N |S¥|2iS5| 26l | 8G |s€z | 0L |98 [NdSzH
GL'z | 1e0 [ 0220 [ 0220|9820 | goe oee | 241 | g1z [s8|S6 |09 |09|eoL|oz [(€2L)|LS | IXoW |S8y| 0L | ¥'S |9N |ze|6v |10z | SV |S6L | 6S |82 | NdOZS
GL'z | 8L0 | LOLO |LOLO | SCCO LSl el 1’6 VL 68|66 |09 |09 |coL|oz|(ecL)]| LS LXON Glc| 0L | VS | 9N 6V | L6y | v |96l | 6G |8Z | S40CS
GL'Z | L90 | 4S990 | LGS0 | 950 6'8Y 8¢S €lC 6°0¢ 68| 66|09 |09 |c9oL|oz |(ecL)]| L2 L X9N G9.| 06 | ¥S |9N |0V |€S| 186 | ¥ [S'LC | €9 | 0E | Id0CH
gL'z | ov'o |19go [ Logo |69c0 | g6E Gey | 0€Z | 092 |S8|S6 |09 |09 |c9L|oz|(€2L)| L2 | LXON |€19| 06 | ¥S | 9N [0F| €S| 6728 | S¥ |Slz | €9 |0E | 1402H
gL'z | ovo |0zzo [ozzo |s8z0 | soe oee | LZL | 1T [S8|G6 |09 |09|coL|oz [(€2L)| L2 | LXON |S8F| 06 | ¥'S | 9N |ov|eSs| L0L | Sv stz | €9 |oe [ NdozH
8L | 6L°0 [ZLLO | ZLL'O [9€L0 961 9'Le [* ) o¢l GG | SL|SY|09|0€eL|SL|(2Q) |GG | LOXYIN |20V | SZ | ¥v | SW |92 Ly | 985 | ¥'€ |S8L |25 |¥2 | N4SLS
82l | ¢L°0 | 200 | 2E0'0 | 8900 86 80l LS 69 66| gL |sv|o9|oer|st |(2Q) | g5 | LoxyW |22z | SL | ¥'¥ | SN Ly | 90 | ¥€ |98l | 29 |2 | S4GLS
Q2L | €20 |69L°0 [69L°0 | ¥9L°0 L€ 1'9¢ 6°¢€l L'yl GG |G |sv |09 |oeL|sL [(2S) |gs | 2oXyW | 22v | SZ | ¥ | SN |oe| 8| 199 | ¥'€ |09l | 2¥ | ¥z | 14SLH
gz'L | Lzo |20 | 210|980 [ 961 9Lz | S1L | o€l |GG | GL|SY|09|0oeL|SL [(2G) [SG | LOXPN | 2OV | S | ¥y | SN |oc|8e| 98S | '€ |09l | L¥ |¥Z [NASIH
w/by 6 ZIN AN XN [099-00 [X99-00 |099-0(X99-0 | U a p El LH |[LM N L H IO 11 | y |ON | r| 4 1 3 ¢CM | M\ | H =
g | B8 |w- Ny - B0 EREE NY-12 5 2 HE Wi - 1fi & wiw - % 8¢ wwi- B ¥ 3% By

(%))

Q

m_u AT Nd T EUELCUYARLENREE:O

wn T

O

o f

i o -

LTy % I

3H ,

o PN

32



33

08°€lL| 80G | 859 | 859 | 6229 9°€S¢ 062 | L°/ST | 0°99T |0°02|0°€2|09L|0ZL|08E|€S|(8°0L)|0¥Z|STIX8W |0 LLL| 022 |2LIN G6(SL|00Lc|L¢clL|g'€c|0O0L| 08 [ IHSSH
08°€CL| 29V | LOL'Y | LOL'Y | 82V ¥ 6'8.T 8'96T | €9TT | 6'TET |002|0°€2|09L|02L|08E[€S[(80L)|0YZ G2 LXBIN|0PSL| 022 |2LIN| S6|GL|SL|0€6L |2 2ZL[GEZ[00L| 08 | 19GSH | ¢
08°¢lL| ¢ev'e | ¥Oc'C | ¥OE'C | €0€'E 7'EET L9vT 298 | L'¥0T [0°02|0°€2|0°9L|0ZL|0°8E[€S|(8°0L)| 0¥ |ST LX8N |09LL| 022 |[ZLIN G/ |G2|0°G9SL [2CL|S°€C|00L| 08 [ NESSH
09'6 | G€'€ | 6L€°€ | 6L€°€ | 6VVE €€t 9'6.T ¥'86 | 9°€0T |0°ZL|{0°0Z|0¥L|SOL| L' LE|SY|(8°0L)| VT ST LXSIN|06EL| 08L |OLIN 08(09|0¥LL |68 |G0C| 98 | 0L |3SYH
096 | /9C | ccl'c | cclec | 9elcC S'6¢T vt 168 168 |0°2L|00Z|0¥L|GOL| L LE|SGY|(8°0L)| ¥ P2 |ST LX8IN|0OLL|08L |OLIN| 08|09|09|0°GPL |68 |S0Z| 98 | 02 | 19SPH | %
096 | 8¢¢| ¥ecS'L | ¥2S'L | 00€C 6'80T 8'6TT 9'T. Z18 |021|00Z|0vL|SoL| Ll |[(8°0L)| vz |STIX8N | Ov6 | 0°8L |OLIN 09(09|06¢CL |68 (S0C| 98 | 0L [NSYH
GZ'9 | ¥€C | 98C'¢ | 98C¢¢C | 186'L €'GCT 8'LET 6'TL 918 [0ZL|0vL| 06| 08|09z|ve|(SLL)|S8L| LXON |S2zh| 0zl | S ¢/|09|9¢SL|SZ2(08L| 0L | GS |3IHSEH
GZ'9 | 08'L | 96€°L | 96€°} | 209} 7' TOT S'TIT 'G9 889 |0ZL|0OYL| 06| 08[09Z|vE|(SLL)[S8L| LXIN GC6|0ClL | 8N |22|0G|0G|9€CL |G |08L| 0L |GG |T9SEH | %
GZ9 | 09| | ¢/60 | ¢/60 | 2¢8¢C'L TT8 2’68 £¢S 765 |0CL|OvL| 06| 08|09Z|vE|(GLL)[S 8L LXON Gg'08|0¢l | 8N 0G(0S |9 LLL|SZ|08L| 0L | GS [NESEH
Sy | 9¢L | 9g€’L | 9¢g€’L | 2cl'L L'98 7'S6 6°'2S 6'/G |0zZL|OvL| 06| 08|82zZ|8Z|(LLL)| €1 LXO9N | G'€oL|0¢Cl | BN 09(0F|S0€L | 0L |09L| 09 | G¥ | 3HOEH
Sy | ¥O'L | L1280 | 1280 | G160 L0L 8°LL [SWAY T8y [0ZL|0VL| 06| 08|82Z|82|(LLL)| €L LX9N 082 |0%¢L|8IN|09|0¥|0F|0GOL|0ZL|[09L| 09| G¥ | 19OEH | %
Sy | 160 | LGS0 | LGS0 | 9020 9'vS T09 1'9€ 9Ty |0ZL|OVL| 06| 08|822|82|(2LL)| € LX9N 879 107¢L | 8N Ov|0¥|8¥%6 | 0L |09L| 09 | G¥ | NDOEH
88°¢ | 08°0 | 618°0 | 6L8°0 | 6490 £'¢€9 9'69 09¢€ 08¢ [ 06 |0LL|0Z|09|Z6L|CZ|(ZZL)|TPL| LXON 698 | 06 | 9N 0G(S€|980L | 86 |G¢Cl| 8V | OV | IHGCH
88°C | 990 | 89G°0 | 89S0 | 99G°0 8'¢S 185 6'TE L'ee |06 |0LL| 02| 09|z6L|cZ|(ZZL)|2PL| LXON 22.| 06 | 9N |05|SE|Se|[6°€6 | 8G|GCL| 8F | OF | 19G2H | %
88'C | G0 | ¢S€0 | ¢S€0 | Ov¥'0 TTY 174 8¢ 182 |06 |0LL|0L|09]|26L|E2|(22L)|2PL L X9N GG | 06 | 9N Ggelgee| ¢6L | 8G9 |9¢Cl| 8Y | OF [ NASZCH
GL'¢ | Z¥0 | 2990 | 2990 | 9S¥°0 6'87 8'€S €lc 6'0c |G8|S6|09|09|caL|og|(gzL)| V2L LX9N G999 | SN 0g(cc| 186 | S |0CL| v¥ | OE | 3D0CH
GL'Z | 920 | L9E°0 | L9€°0 | 69€°0 G'6¢E S'EY o'ee 092 [S8|66|09|09]|c9aL|oz|(gzL)| L2 LX9N €19 G9 [GIN |05[|9€|2Ee|6728 | SV |0CL| ¥ | O | 190CH |
GL'Z2| L€0 | 0220 | 0cC0 | S8C0 g'0¢ 9'ce YAVA GTZ |S8|66|09|09|¢c9L|0C|(gzL)| L2 LX9N g8v | 99 | SN 9¢(2e|10L |9V |0CL| vP | OC [ NDOCH
82'L | 6L°0 | ZLL'O | ZLL'O | 9€L0 96T 9'T¢ S'TT 0€T |GG |GL|S¥|09|0€L|GL|(2G)| S6 | L0XPN | 20F| 09 | PN 9¢(9¢|98S9 |¥E |96 | e | 8C [NASIH
wy/by 6 ZN AN N 099-00 | X99-00 [099-0 | X949-O| U ad p 4 JH |[LM| N [N H 'O 11 | ON|Lr| | d 1 4 |dM| M| H %
B8 | B8 | Wy - BHCLERE NI T B 2 w1 ¢ wwi— B 8¢ WWI- Ry R Y

r<099 :Ir <x99:7149

1q a9 ‘ Nd

=

E

S on




UV B ER 1T IR B

34

W L
o | B L1
MQJ_\ J :
LR 22 — -
- T = = T T |
L[‘]J Ll ﬂ T T ]J : T ! ||H ‘H ‘
W2 I @d
G F
W N L
G| . L1
J
s I_@_D_I [ s, o _| _MR__
t L LA | (1] : — : Il |
T od [T
W2 W1 G F
Mz
m
= »
0
0 N
= =
S i
&
My
m
S I
MBXRZF >>> FEFEHE
2%E1-1

MBXRFIiRER~F&R >>> MB

#REAE - mm B
B &

H W | W2 E L B J MQ
MBX07SN 8 17 5 1.5 24 12 8 M2
MBX09SN 10 | 20 | 55 | 22 | 30.8 15 10 M3
MBX09SL 10 | 20 | 55 | 22 | 405 15 16 | M3
MBX12SN 13 | 27 | 75 2 34 20 15 | M3
MBX12SL 13 | 27 | 75 2 47 20 | 20 | M3
MBX15SN 16 | 32 | 85 4 42 25 | 20 | M3
MBX15SL 16 | 32 | 85 4 598 | 25 | 25 | M3
MBX09WN 12 | 30 6 34 39 21 12 | M3
MBX09WL 12 | 30 6 34 51 23 | 24 | M3
MBX12WN 14 | 40 8 38 | 445 | 28 15 | M3
MBX12WL 14 | 40 8 |38 |591 | 28 | 28 | M3
MBX15WN 16 | 60 9 4 55.5 45 20 M4
MBX15WL 16 60 9 4 74.7 45 35 M4

MBXRFIiRER~F& >>> MB

#EEEHRAG - mm byl
B 5k
H W | W2 | E L B J | MQ
MBCO9SN 10 | 20 | 55 | 22 | 308 | 15 | 10 | M3
MBC09SL 10 | 20 | 55 | 22 | 405 15 16 M3
MBC12SN 13 | 27 | 75 2 34 20 15 M3
MBC12SL 13 | 27 | 75 2 47 20 20 M3
MBC15SN 16 | 32 | 85 4 42 25 20 M3
MBC15SL 16 | 32 | 85 4 59.8 25 25 M3
MBCO9WN 12 | 30 6 3.4 39 21 12 M3
MBCO9WL 12 | 30 6 3.4 51 23 24 | M3
MBC12WN 14 | 40 8 3.8 | 445 | 28 15 | M3
MBC12WL 14 | 40 8 38 | 591 | 28 | 28 | M3
MBC15WN 16 | 60 9 4 555 | 45 | 20 | M4
MBC15WL 16 | 60 9 4 74.7 45 35 M4
% 8§ )
" B oY1
HEERE (H) +0.04
HEERE (W) +0.04
MESEHEERE (AH) 0.03
MHEEHERZE (AW) 0.03
FBEE [Cl I EEA m2 et AC
78 D] EniE Bl m 2 s EiEs AD




X JE&E

3
[

=g -mm BIRY - mm P W - N-m 5=
| L1 Qil-kH | T1 N w1 H1 F d D h WH| G | MR |Lmax (o] co Mx My Mz BR - kg JBEN - kg/m
2.0 13 1.1 1.7 - 7 47 | 15| 24 (45| 24 - 7.5 | M3 | 600 1.51 1.29 3.09 3.69 5.02 0.009 0.25
25 | 195 | @15 | 24 - 9 6.05| 20 | 35 | 6 3.8 - 7.5 | M4 | 900 2.01 2.26 10.35 8.34 8.34 0.014 0.39
25 | 292 | @15 | 24 - 9 6.05| 20 | 35 | 6 8.8 - 7.5 | M4 | 900 2.75 3.24 14.71 16.67 16.67 0.020 0.39
3.2 | 203 @2 3 12 | 725|125 | 35| 6 (425 - 10 | M4 | 900 3.29 3.43 22.48 11.67 11.67 0.029 0.63
3.2 | 33.3 @2 3 - 12 | 725|125 |1 35| 6 | 43 - 10 | M4 | 900 | 4.41 5.15 33.34 | 27.46 27.46 0.047 0.63
35 | 2563 M3 315! 5) 15 95 40 | 35 | 6 | 45 - 15 | M4 | 900 5.44 5.59 39.23 | 25.50 25.50 0.047 1.05
3.5 | 431 M3 3.5 5 15 95 40 | 35 | 6 | 45 - 15 | M4 | 900 7.16 7.85 54.92 53.94 53.94 0.078 1.05
25 | 267 | @15 | 23 - 18 75 130 | 35| 6 | 45 - 10 | M4 | 900 3.19 3.24 30.60 14.71 14.71 0.030 0.98
25 | 387 | @15 | 23 - 18 75 30| 35| 6 | 45 - 10 | M4 | 900 | 4.27 4.22 40.21 26.97 26.97 0.042 0.98
3.5 | 305 a2 3 - 24 87 |40 | 45 | 8 | 45 - 15 | M5 | 900 5.34 5.20 64.73 | 25.69 25.69 0.052 1.53
3.5 | 451 22 3 - 24 87 |40 | 45 | 8 | 45 - 15 | M5 | 900 7.01 6.91 86.30 | 47.56 47.56 0.076 1.53
45 | 38.1 M3 35 5 42 95 |40 |45 | 8 | 45| 23 15 | M5 | 900 8.92 8.38 171.62 | 50.02 50.02 0.111 297
45 | 57.3 M3 35 5 42 95 |40 | 45| 8 | 45| 23 15 | M5 | 900 | 11.18 10.79 220.66 | 95.62 95.62 0.165 297
iy FHE FFI
g Al
<Y - mm BERY - mm EEasH - kN BmEENE-N-m EE
| L1 OilkH| T1 N W H1 F d D h WH| G MR |Lmax| C (o] Mx My Mz B - kg 3B - kg/m
25 | 195 | @15 | 24 - 9 605 20 35 | 6 3.3 - 75 | M4 900 | 2.65 2.26 10.35 8.34 8.34 0.014 0.39
25 | 292 | @15 | 24 - 9 6.05| 20 35| 6 &8 - 75 | M4 900 | 3.43 3.24 14.71 16.67 16.67 0.020 0.39
3.2 | 20.3 @2 3 - 12 | 725|256 | 35 | 6 |4.25 - 10 | M4 900 | 3.92 3.43 22.48 11.67 11.67 0.029 0.63
3.2 | 33.3 @2 3 - 12 | 725|256 | 35 | 6 |4.25 - 10 | M4 900 | 5.59 5.15 33.34 27.46 27.46 0.047 0.63
35 | 25.3 M3 3.5 5 15 95 (40 | 35 | 6 4.5 - 15 | M4 900 | 6.52 5.59 39.23 25.50 25.50 0.047 1.05
3.5 | 43.1 M3 315 5 15 95 (40 | 35 | 6 4.5 - 15 | M4 900 | 8.83 7.85 54.92 53.94 53.94 0.078 1.05
28 | 26.7 | @15 | 23 - 18 75 | 30 | 35| 6 4.5 - 10 | M4 900 | 3.19 3.24 30.60 14.71 14.71 0.030 0.98
28 | 387 | @15 | 23 - 18 75 | 30 | 35| 6 |45 - 10 | M4 | 900 | 4.27 4.22 40.21 26.97 26.97 0.042 0.98
3.5 | 305 @2 & - 24 87 |40 |45 | 8 | 45 - 15 | M5 | 900 | 5.34 5.20 64.73 | 25.69 25.69 0.052 1.53
3.5 | 451 @2 3] - 24 87 | 40 | 45 | 8 4.5 - 15 | M5 900 | 7.01 6.91 86.30 47.56 47.56 0.076 1.53
45 | 38.1 M3 3.5 5 42 95 |40 |45 | 8 45 | 23 15 | M5 900 | 8.92 8.38 171.62 | 50.02 50.02 0.111 2.97
45 | 57.3 M3 3.5 5 42 95 |40 | 45 | 8 45 | 23 15 | M5 900 | 11.18 10.79 220.66 | 95.62 95.62 0.165 2.97
B{7:mm
30 —
ONNG (bm) w8
B iR EEBR AC A -
+0.02 +0.01
AD -
+0.025 | +0.015 & ®
0015 | 0.007 -
002 | 0.01 -
| mms
2EE1-1, 1-2 -
2EE1-1,1-2 800 1000 1200 1400 1600 1800
P
AnEEm™ NREEEEER —

35




4. BIEFZIE




RIABIFRIBESR

AIRIRAT AH AR AS A S R A

2R25-25-A2 -1 - FSEDI-2000-2500- C7- R- P

- 35-4@ E: 58E Y B EIEE
; 4'5_5 C: =HE K : /Bl

® 0 o -— ® [ o S =
| |

!gnﬁi?lilig IBERE FEEE :

(BFFENR) IZIRER PO : EREIE
EREY \(:’\ P1: =&

2475 mE — BURE: P2 : EiEE

R:BF ERER BUTE P3: EFEE

L: 55 F: ﬁx%\% 7

- R ﬁ%?ﬁ“ TBIREER #i2A -
X BwiAE [ ES L gt

BRI ABEE it e o D HRR R: EER
S P: BREEERE 1 G : BEE

peEE g ———— —
S :‘ fﬁmﬁmi — ERTE . IEEER -

- ' D : SEER08 N : BfE8 C3 : 0.008

L.}ﬁfﬂﬁ S: BiiBxE C5:0.018

L‘ (15512 BB . D : #8485 C7 :0.05

Sy I :AEE  U:BMDIN6YOSL| |A: 2EHIE C10:0.21

C

D

IRAIFIRAR RIS IR A

IZABEE AR : miR :
(BEFFHT) BNTE R: MiEG
C5:0.018 B

il C7:0.05

Cl10:021

- 7
[ ] L]
L___T
— BIRRIR EIBER -
AR s-emizig || [N:BEREE || wEs

:0.5-18 D: &g

@
T S : BIEAR
A:15-28

B

€

D

D : 81258
A =EEE

P: BRI

ERABEE
: 2.5-3E
1 3.5-4[&

: 4.5-5E

BEEH :

: EWER . || EREN C3:0.008

= F:&%E 1 : A7EE U : BRIRDING90S1 || C5 : 0.018
R : fAM E: i8R Y: BnEEat C7 : 0.05
X: ®EE || C: @85 K fUE C10:021

37



38

FEARERRE(LE)RBEH(e)2BHE (JIS B 1192)

BESR co Ct c2 C3 C5 c7 c10
BlE IBAF *E ' e *E | e | *E @ *E | & =E | @& e e
000 3 '8 35 |5 5 7 8 8 18 18
100 200 35 3 45 5 7 7 10 8 20 18
200 315 4 35 6 5 8 TN 12 [EEW 23 BIS
315 400 5 35 7 5 9 TN 13 [FiO8 25 K20
400 500 6 4 8 5 10 7 15 10 27 20
500 6300 6 4N o N6 11 B8N 16 Fi2Y 30 F2a
g 630 FEGON 7 B5M 10 BZEN 13 ESW 18 B3N 35 [25
f@ 800 1000 8 6 11 8 15 10 21 15 40 27
2881000 1250 9 6 13 9 18 11 24 16 46 30
g 1250 1600 11 7 15 10 21 13 29 18 54 35 i%mm i%mm
1600 2000 18 11 25 15 35 21 65 40
2000 2500 22 13 30 18 41 24 77 46
2500 3150 26 15 36 21 50 29 93 54
3150 4000 32 18 44 25 60 35 115 65
4000 5000 52 30 72 41 140 77
5000 6300 65 36 90 50 170 93
6300 8000 110 62 210 115
8000 10000 260 140
10000 12500 320 170
YHRAIED R [ 300mm 2 8 ) (€300 BRIZ (€2 ) 2 BEFIE (JIS B 1192) _
BS{i/: um
BEFR Cco C1 C2 C3 C5 C7 C10
@300 35 5 7 8 18 50 210
ez 4 4 6 8




R RN DT EE

BRUSHARE mm

=T 400030 F 400013\ =100004
: L 1 40DATF ML, 1 : 40~1:60 -
R R ER

#8 LA™ | co | c1|c2~C3 C5 | Co | C1 |[c2+C3 C5 | C1|C2~C3| C5
2 4 +30 % £35 % 40 % [*£50 % *£40 %Eiclﬂ % =50 % iﬁﬂ%: = = —

4 6 +25%|+30% £35% [£40 % =35 %|£3H % =40 % 45 % = = =

6 10 |*20% *25% £30% |£35% £30% 130%: +35% 140%: — | £40% |[£45%
10 25 |*£15% +20% *+25% +30% *+25% *=25% +30% +35% — | +£35% [=40%
25 63 |*=10% £15% *+20% |[£25% i20%!i20%? +25% | +£30% — | £30% [+35%
63 100 — |x15 % £15% [x20%| — — *20% x25% — | £25% |[£30%

et 1 MIRIEMEURFHVENANRE (mm) FRIFFBANEFEEREL
2. EERKE 2 kgf « cmPAT » KERSBITEE -

BEHE Tp WEL

FARRIRIRIRHVEERE Tp(kgf » cm) RYSTENA AR

Tp =0.05 (tan3)°® -

Fao -/
2

fELt - Fao: JEERETE (kof )

5 EiEE

[ - B (cm)

AITE G

FAERENHAE (Tp) BLA M IAYRITEGRIFDNE 2.3 AT

T3 BENRIREE - BIERERIETNIRE CEEHNH
27 (F) Bi% (F) (AIEERDER (L) » FiiE2BEIRTp -

Tp=F - L

AIERRE (1) RIERRANKIEIRIZZAIAREE THETT -

(2) AIEEEERR100 rpm -

(3) ERRVEEHIEKIZISK2001 (TEAHE

TBHFE DR ) RIRRTE - LAISO VGE8REEE -

" #E775(LOAD CELL)

2.4 FEREBARIEE

39



Type: FSU(DIN69051)

C— Xt

@A

aw

od |
@D g6

B mm

n Ca(Kgf) Coa(kgf)

1604-4 16 4 2.381 28 48| 10 45 38 5.5 A 40 | M6 | T4 944 1254
& 1605-3 16 5 3175 28 48 | 10 42 38 5.5 40 M6 T3 1049 1144

@ 1605-4 16 5 3175 | 28 48 10 50 38 55 40 | M6 T4 1344 1525

A

A
1610-3 16 10 3175 28 | 48 12 65 | 38 5.5 A 40 | M6 T3 1084 1232
2005-3 20 5 3175 | 36 | 58 | 10 47 | 47 6.6 A | 44 | M6 T3 1181 1496
2005-4 20 5 31175 36 | 58 10 583 | 47 6.6 A 44 | M6 T4 15612 1995
2010-3 20 | 10 3.969 36 58 10 68 | 47 6.6 A | 44 | M6 T3 1621 1925
2504-4 25 | 4 2.381 40 62 11 46 51 6.6 A 48 | M6 T4 1178 2046
2505-3 25 5 3175 | 40 | 62 10 47 | 51 6.6 A 48 | M6 | T3 1330 1936
& 2505-4 25 5 3175 40 62 10 53 51 6.6 A 48 | M6 T4 1704 2581
2510-3 25 10 4762 40 62 12 75 M 6.6 A | 48 | M6 T3 2250 2772
25104 25 | 10 4762 40 62 12 85 51 6.6 A 48 | M6 T4 2881 3695
& 3205-4 32 5 3.175 50 80 12 53 | 65 9 A 62| M6 | T4 1924 3403
3206-4 82 6 3.969 50 80 12 58 @65 9 A 62 | M6 T4 2598 4217
3210-3 32 | 10 6.35 50 80 16 77.5| 65 9 A 62 | M6 | T3 3775 5877
3210-4 32 10 6 35 50 80 16 90 @65 9 A 62 | M6 T4 4834 7835
& 4005-4 40 5 31475 63 | 93| 16 56 78 9 B 70 M8 T4 2142 4342
4010-4 40 10 6.35 63 | 93| 18 | 93 | 78 9 B 70 M8 T4 5399 10074
5010-4 50 | 10 6.35 75 | 110 18 93 | 83 11 B 86 M8 T4 5933 12313
6310-4 63 | 10 6.35 90 125 18 | 98 108 11 B 95 M8 T4 6700 16230
6320-3 63 @ 20 9.525 95 | 135| 20 138 | 115 | 135 B 100 M8 T3 8957 17945
8010-4 80 10 6.35 105 145 20 98 125 135 B 110 M8 T4 7547 21268

B

8020-3 80 | 20 9525 | 125 165 25 143 145 135 130 | M8 | T3 10168 23611

40



Type: FDU(DIN69051)

oA
ow

)

AU : mm

40 M6 T3 1049 1144
44 M6 T4 1512 1995
48 M6 T4 1704 2581
48 M6 T4 2881 3695
62 M6 T4 1924 3403
62 M6 T4 4834 7835
2142 4342

70 M8 T4 5399 10074
85 M8 T4 5933 12313
95 M8 T4 6700 16230
100 M8 T3 8957 17945
110 M8 T4 7547 21268
130 M8 T3 10168 23611

“ 1605-3 16 5 3175 28 48 10 80 38 55
2005-4 20 5 3175 36 58 12 92 47 6.6
25054 25 5 3175 40 62 12 92 51 6.6
2510-4 25 10 4762 40 62 12 153 51 6.6
@ 3205-4 32 5 3175 50 80 12 92 65 '
3210-4 32 10 635 50 80 16 160 65
40054 40 5 3175 63 93 15 96 78
4010-4 40 10 635 63 93 18 162 78
5010-4 50 10 635 75 110 16 162 93 11
6310-4 63 10 635 90 125 18 182 108 11
6320-3 63 20 9525 95 135 20 253 115 135
8010-4 80 10 635 105 145 20 182 125 135

8020-3 80 20 9525 125 | 165 25 253 145 13‘5.
T AEERG RS

oD Ewww>>> > > >
l‘q
=
<
(o]
.

Gy e

Type: FSE

oA
oW
@04
od
@D g6

iy
— U 4-X thru

| —

B : mm

B3R

1616-2 16 | 16 3.175 32 53 10 10.5 48 42 45 38 M6 A2 1512 1995
@ 2020-2 20 20 3.175 39 62 |10  10.8 55 50 55 46 M6 A2 1659 24864
2520-2 25 20 3.5 47 74 12 11 65 60 66 49 M6 A2 2106 3422
2525-2 25 25 3.969 47 | 74 |12 | 11.2 67 60 66 56 M6 A2 2481 3851
3232-2 32 32 4.762 58 92 15 14 82 74 9 68 M6 @ A2 3585 6071
4040-2 40 40 6.35 73 114 | 17 17 100 | 93 11 84 M6 A2 5778 11753
5050-2 50 50 7.938 90 135 |20 21.5 125 | 112 14 92 M6 A2 8819 19241

et : AiRat O RIS RIEARA

41



Type: FSI

42

GA

B 3R

1404-4
1405-3
1604-4

< 1605-3

@ 1605-4
1610-3

@ 2005-4
2504-4

@ 2505-4
2510-4

@ 3205-4
3206-4
3210-4

& 4005-4
4010-4
5010-4
6310-4
6320-3
8010-4
8020-3

14
14
16
16
16
16
20
25
25
25
32
32
32
40
40
50
63
63
80
80

ouolgasoagoaoasoas B

%
o

f - L ) L eR O] VR A R AT

Da D A B

2.381
3.175
2.381
3.175
3.175
3.175
3.175
2.381
3.175
4.762
3.175
3.969
6.35
3.175
6.35
6.35
6.35
0.525
6.35
9.525

26 46
26 | 46
30 49
30 49
30 49
34 58
34 57
40 63
40 | 63
46 | 72
46 72
62 | 89
54 88
56 | 90
62 104
72 114
85 131
95 153
105 150
115173

10
10
10
10
10
10
12
1

12
12
12
12
16
16
18
18
22
23
22
23

i

L W X

47 36
45 | 36
45 39
42 39
50 39
65 45
53 45
46 | 51
53 | 51
856 | 58
53 |58
63 75
90 70
56 |72
93 82
93 92
100 107
130 [123
92 127
130 143

4.5
4.5
4.5
4.5
4.5
5.5
5.5
5.5
5.5
6.5
6.5
6.5

11
11
14
18
14
18

17.5

17.5
20
26
20
26

Q Qil Hole

Z Type H Q n

4.5
4.5
4.5
4.5
4.5
55
5.5
5.5
5.5
6.5
6.5
6.5
8.5
8.5
11
11
13
17.5
13
17.5

WODOWW>>r>O>r>r>rrrrrrrrpr

34
34
34
34
34
36
40
46
46
52
52
62
64
70
82

M6
M6
M6
M6
M6
M6
M6
M6
M8
M6
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8

T4
T3
T4
T3
T4
T3
T4
T4
T4
T4
T4
T4
T4
T4
T4
T4
T4
T3
T4
T3

Ca(Kdgf)
875
1013
944
1049
1344
1084
1512
1178
1704
2881
1924
2598
4834
2142
5399
5933
6700
8957
7547
10168

B : mm

Coa(kgf)
1056
1056
1254
1144
1525
1232
1995
2046
2581
3695
3403
4217
7835
4342
10074
12313
16230
17945
21268
23611



Type: FSC

Q Oi Hole
\|..._3@%/
(i
ey T Yy
7 \
\
-8 r I
- v kN 7 /
S ” P
- ; > 3 /O 5
i o __////
H : 4-Xthru 4 4-Xthru 4
TYPEA TYPEB TYPEC TYPED

oA
oW
@d
@D g6
oA
|
| |
@D g6

B
L L
TYPE:ABD TYPE:C
1l : mm
[ 1] [ A] ‘w | | n_[Ca(Kgf) | Coa(kgf)
1210-2 12| 10 2 30 50 10 40 40 45 8 45 C 32 M6 | T2 390 466
1520-2 15| 20| 3175 | 34 | 55|12 | 57 | 45| 6 - - D 34 | M6 | T2 833 997
1610-3 16| 10| 3175 | 28 | 48| 12 | 43 | 38| 65| - = A 40 M6 T3 1180 1496
1616-3 16| 16 3175 28 48 12 | 61 38 55 - - A 40 | M6 | T3 1180 1496
2010-2 20 10 3969 46 74 13 54 59 66 11 55 C 46 M6 T2 1246 1559
2020-4 20 20 3175 | 36 | 58 10 55 47 66 - = A 4 M6 T4 1659 2464
A 2510-4 25 10 35 40 62 12 64 51,66 - - A 48 M6 T4 2067 3280
2525-4 25 25 3969 |47 | 74 12 67 60 66 - B A 56 | M6 | T4 | 2481 3851
3220-3 32| 2013969 | 650 | 80|13 | 78 | 65| 9 - - A 62 M6 T3 2141 3576
3232-4 32 32| 4762 56 86 16 82 |71 9 - - A 65 M6 | T4 3585 6071
4020-3 40 20 5556 63 93 15 83 78 9 7 z B 70 M8 | T3 3782 6468
4040-4 40 40 635 65 95|18 100| 80 9 = 2 B 72 | M8 | T4 @ 5778 11753
5020-5 50| 20| 6.35 | 75 |110| 18 | 121 | 93| 11 | - - B 86 M8 | T5 7737 18189

fBEL | AR AR Smm IR 2 BiR

43



Type: FSB

Q QOil Hole
W\ L e
] . B,
=] /’/’—I —Hx\
=S g8 g / \
i
4-X thru
B —A_1hru
L
H

B : mm
o
2 % _ _ Ca(Kgf) | Coa(kgf)
1404-3 14 4 2.381 31 50 10 40 40 4.5 37 M6 T3 684 792
1405-3 14 5 s B 32 50 10 45 40 4.5 38 % [53 T3 1013 1056
1605-3 16 5 3.175 34 54 10 42 44 4.5 40 M6 T3 1049 1144
2005-3 20 5 3.175 40 60 10 47 50 4.5 46 M6 T3 1181 1496
2505-3 25 5 3175 43 67 10 47 55 55 50 Me T3 1330 1936
2510-3 25 10 4762 60 96 15 75 78 9 72 M6 3 2250 27712
2510-4 25 10 4.762 60 96 15 97 78 9 72 M6 T4 2881 3695
3210-3 32 10 6.35 67 103 15 78 85 9 78 M6 T3 G A 5877
3210-4 32 10 6.35 . 67 103 15 97 85 9 78 M6 T4 4834 7835
4010-4 40 10 6.35 76 16 17 100 96 1 88 M6 T4 5399 10074
Type: FSK

=

3
)
/

/

._.//

A

ow

@d

|

| PDgb

\ﬁ& 4—X thru g

B : mm

Ca(Kgf) | Coa(kgf)

d I
0601-3 6 1 0.8 12 24 3.5 18 18 3.4 16 T3 111 123
0801-3 8 1 0.8 14 27 4 20 21 3.4 18 T3 126 162
0802-3 8 2 1.2 16 29 4 26 23 3.4 20 T3 215 239
0825-3 8 25 12 16 29 4 26 23 3.4 20 T3 215 239
1002-3 10 2 12 18 35 5 28 27 4.5 22 T3 240 302
1004-3 10 4 2 26 46 10 35 36 4.5 28 T3 472 489
1202-3 12 2 12 20 37 5 28 29 4.5 24 T3 265 377
1204-3 12 4 2.381 28 48 6 35 39 5.5 30 T3 645 693
1205-3 12 5 2 28 48 6 35 39 55 30 T3 514 594
1402-3 14 2 12 21 40 6 28 31 9.5 26 T3 283 440
1602-3 16 2 1.2 25 43 10 32 35 55 29 T3 300 503

44



Type: FDI

2 P Q0il Hole

@A
Lo |
@D g6

B mm

gg gu. [ [ [ [ [ [
_ Z |Type H| Q | n | Ca(Kgf) | Coa(kgf)

& 1605-3 16 5 3.175 | 30 49 10 80 39 45| 8 |45| A |34 M6 T3 | 1049 1144
¢ 2005-4 201 5| 3175 | 34 57 12 92 45 55|95 55 A 40|M6 T4 1512 1995
& 2505-4 25 5| 3.175 | 40 63 12 92 51 /55 95 55 A 46 M8 T4 1704 & 2581
2510-4 25 10 4.762 46 72 12 156 58 65 11 65 A 52 M6 T4 2881 3695
& 3205-4 32| 5 3175 | 46 72 12 92 58 /65 11 65 A 52 M8 T4 1924 3403
3210-4 32 10 635 @54 88 16 160 70 9 14 85 A 62 M8 T4 4834 7835
& 4005-4 40 5 3.175 | 56 90 16 96 72 9 14 85 A 64 M8 T4 2142 4342
4010-4 40 10 635 62 104 18 162 82 11 175 11 | A |70 M8 T4 5399 10074
5010-4 5010 635 | 72 | 114 18 |162 |92 11 175 11 A 82/ M8 T4 5933 & 12313
6310-4 63/ 10 635 85 131 22 182 107 14 20 13 B | - |[M8 T4 6700 16230
6320-3 6320 9525 95 | 153 | 23 |253 (123 18 26 175 B | - |[M8 T3 8957 @ 17945
8010-4 80 10 635 105 150 22 182 127 14 20 13 B - M8 T4 7547 21268
8020-3 80|20 9525 115 173 | 23 | 253 |143/ 18 26 175 B | - M8 T3 10168 23611

st AT O o O R

Type: RSH

@D gb
A

B mm

| ca(Kgf) | Coa(kgf)

12H2-1.5 12 12.7 | 2.381 29.5 M25x1.5P 12 50 A1l 397 445
16H5-3.5 16 5.08 3.175 254 15/16"x16un 12.7 4343 C1 1348 1745

45



Type: RSY

+0.2
Y2

Y

L

|
1202-3 12| 2 1.2
1204-3 12 4 2.381
1205-3 12| 5 2

1602-3 16 | 2 1.2
1604-4 16 4 2.381
1605-3 16 | 5 3.175
@ 1605-4 16 5 3.175
1610-3 16 | 10 | 3.175
1616-2 16 16 | 3.175
2005-3 20| 5 3.175
@ 2005-4 20| 5 3.175
2010-3 20 10 3.969
2020-4 20 20 3.175
@ 2505-4 25| 5 3.175
4 2510-3 25 10 3.5
@ 32054 32| 5 3.175
3210-3 32 10 6.35
3220-3 32 20  3.969
@ 4005-4 40 5 3.175
4010-3 40 10 6.35
4020-3 40 20 @ 5.556
5010-3 50 10 6.35

30
35
40
40
40
45
45
50
45
45
47
53
68
55
53
54
53
70
78
56
80
83
82
90

12.5
12.5
15
12.5
12.5
13.5
16.5
24
17.5
16.5
17
11.5
20
24
13
25
26.5
23
29

N3 Q Qil Hole
oo
+ 1
x I
I
/
R (ﬁ =| S
N = =2 (=]
‘ S
Bro1 | 2332 L1
L
BRI . mm

DO TGO W W W W gﬁ

W NN NN NN

12
12
12
12
20
20
20
20
20
20
20
20
20
20
20
20
30
30
30
30
30
30
36
32

@3
@3
@3
@3
@3
@3
@3
@3
@3
@3
23
23
@3
@3
@3
@3
@3
@3
@3
@3
23
23
@3
@5

NN NNNNNNNNNANNNNNNYNoOo oo s

iN

T3
T3
T3
T2
T3
T4
T3
T4
T3
T2
T3
T4
T3
T4
T4
T3
T4
T3
T3
T4
T3
T3
T3
T4

265
645
514
390
300
944
1049
1344
1181
833
1181
1512
1621
1659
1704
1614
1924
3775
2141
2142
4216
3782
4633
6700

(Coa (Kgf)
377
693
594
466
503
1254
1144
1525
1496
997
1496
1995
1925
2464
2581
2460
3403
5877
3576
4342
7556
6468
9235
16230

6310-4 63 10 | 6.35

46



Type: RSU

2D g6

Q Qil Hole

L1

- -

EBfi1 : mm
B iR
| Ca(Kgf) | Coa(kgf)
® 1604-3 16 4 2.381 29 M22X1.5P 8 32 . = T3 737 940

1605-4 16 5 3.175 32 M30X1.5P 16 56 M6 6.5 T4 1344 1525

2005-4 20 5 3.175 38 M35X1.5P 16.5 59.5 M6 7 T4 1512 1995

2505-4 25 5 3.175 42 M40X1.5P 17 60 M6 7 T4 1704 2581

2510-4 25 10 | 4.762 42 M40X1.5P 17 90 M6 10 T4 2881 3695

3205-4 32 5] 3.175 52 M48X1.5P 19 60 M6 7 T4 1924 3403

3210-4 32 10 6.35 52 M48X1.5P 19 93 M6 12 T4 4834 7835

4005-4 40 5] 3.175 58 M56X1.5P 19 59 M8 6 T4 2142 4342

4010-4 40 10 6.35 65 M60X1.5P 27 102 M8 12 T4 5399 10074

5010-4 50 10 6.35 78 M72X1.5P 29 104 M8 12 T4 5933 12313

st @ EEIRIER
Type: RSK
A
L
. B
L
B mm
Ca(Kgf) Coal(kgf)

0825-3 8 2.5 1.2 17.5 M15X1P 8 26 T3 215 239
1003-3 10 3 1.8 21 M18X1P 9 29 T3 403 424
1204-3 12 4 2.381 25.5 M20X1P 10 34 T3 645 693
1205-3 12 5 2 25.5 M20X1P 10 39 T3 514 594
1605-3 16 5 3.175 32.5 M26X1.5P 12 42 T3 1049 1144

a7



5. BR1FSZIS L / W% 08 52 BB



EilimRY (BEER ) - BK.FK.EK

N~ M ~
= ) =
\\
a4] % <
S % ) :
i
~ —d4—
‘ |
S
P E
ES{{7 : mm
pic B - ﬁﬁ%ﬁ % ﬂ%ggg Metric screw thread
BK (Type BK) d D B E F M | s
BK 10 12/14/15 10 8 36 15 M10X1 16
BK 12 14/15/16 12 10 36 15 M12X1 14
BK 15 18/20 15 12 40 20 M15X1 12
BK 17 20/25 17 1D 53 23 M17X1 s irg
BK 20 25/28 20 17 53 25 M20X1 15
BK 25 32/36 25 20 65 30 M25X1.5 18
BK 30 36/40 30 25 72 38 M30X1.5 25
BK 35 45 30 30 81 45 M35X1.5 28
BK 40 50 40 : 35 93 50 M40X1.5 35
&7 : mm
5 BEKIZIR | B & & .
A= A g a5 91-%}.“;1 Metric screw thread
Type FK |  Type EK d D B E F M | s
FK 06 EK 06 8 4 28 8 M6X0.75 8
FK 08 EK 08 10/12 8 6 5 9 M8X1 10
FK 10 EK 10 12/14/15 10 8 36 15 M10X1 1
FK 12 EK 12 14/15/16 12 10 36 15 M12X1 11
FK 15 EK 15 18/20 15 12 47 20 M15X1 13
FK 17 — 20/25 17 15 58 23 M17X1 15
FK 20 EK 20 25/28/30 20 17 62 25 M20X1 17
FK 25 = 30/32/36 25 20 76 30 M25X1.5 20

FK 30 - 36/40 30 25 72 38 M30X1.5 25




EexdtlimRY (2#58) - FFEF.BF

I (]
] (7]
Zf :E Type EF
Type FF Type FF Type BF
ca] s
oo *
+ 1 <
mn S
S}
R
{ ___________________
G +g.14 ik
F +0.2
— E -—
B {7 : mm
it i IRISHIME | BEIEIMNE | BEIEHE HRBEE
Type: FF/EF/BF d A E B F G
FF/EF/BF10 12/14/15 8 10 7.6 7 0.9
FF/EF/BF12 14/15/16 10 11 9.6 8 1.15
FF/EF/BF15 18/20 15 13 14.3 9 1.15
FF/BF17 20/25 17 16 16.2 12 115
» FF/EF/BF20 25/28/30 20 19 (16) 19 14(12) 1.35
FF/BF 25 30/32/36 25 20 23.9 15 1.35
FF/BF 30 36/40 30 21 28.6 16 1.75
BF 35 40/45 35 22 33 17 1.75
BF 40 50 40 23 38 17.8 1.95
* (F)RIEEM () RYRFBFOMR T - B8 FF20 B EF20 R IR -

FEIERT R R AT LS HIPT ERRSZIZETRER -

50



FK EER

4-X drill through @Y counter bore depthZ

T1

o 1 11 — o
I e e S -
F
L
B i : mm
B 5 d1 ] H F E [Dg6| A |PCD| B L1 | T1 L2 | T2 | X Y z M i
FK5 5 16.5 6 10.5 185, 20 34 26 26 e e 7 5 34 . 65 = M26 11
FK 6 6 20 T 13 22 22 36 28 28 i 8.5 6.5 34 65 4 M3 12
FK 8 8 23 9 14 26 28 43 35 35 i 4 10 i3 34 b5 4 M3 14
FK 10 10 27 10 17 295 34 52 42 42 7.5 5 8.5 6 4.5 8 4 M3 16
FK 12 12 27 10 1T 2080 036 54 44 44 75 5 8.5 6 4.5 8 4 M3 19
FK 15 15 32 15 17 36 40 63 50 52 10 6 T2 8 55 B85 6 M3 22
FK 17 17 45 22 23 47 50 77 62 61 11 g 14 12 6.6 1" 10 M4 24
FK 20 20 52 22 30 50 57 85 70 68 8 10 12 14 6.6 11 10 M4 30
FK 25 25 57 27 30 60 63 98 80 79 13 10 20 17 9 15 13 M5 35
FK 30 30 62 30 32 61 75 TN 93 13 12 17 18 11 b 15 M6 40
FF 3z
4-X drill through @Y counter bore depthZ
5 d1 L H F | b | A PCD B x | v |
FF 10 8 12 7 5 28 43 35 35 3.4 6.5 B
i 2 10 15 7 8 34 52 42 42 4.5 8 4
FE 15 407 1% 9 8 40 63 50 52 5.5 9.5 5.5
FFAaT 17 20 1 9 50 5 62 61 6.6 " 6.5
FF 20 20 20 11 9 57 85 70 68 6.6 11 6.5
FF25 25 24 14 10 63 98 80 79 9 14 8.5
FF 30 30 27 18 9 75 17 95 93 1 175 1

51



BK EIEH

4-X drill through Y
counter bore depthZ

|_ gt |

4-8d2/

E{7 : mm
Beg |d1| L |L1j2|w|ci|c2|B | H [ |H|E|[P |d|x|Y|z|M]|T
BR10. 10 25 6 29  h 13 6 60 39 30 22 34 226 .90 48 ‘5H 66 108 5 M3 16
B2 w12 b b BRI Ea 6 60 43 30 25 35 ‘325 118 46 155 /66 108 15 M3 19
BlKis 18 27 6 82 b 15 B 7a 748 380 28 A0 38 e m ahi B E b T6 8 M3 20
BiCA7 A7 8B o8 440 N 18 8. 88 64 43 39 50 55 28 B8 |66 9 94 85 M4 24
BK20 20 35 8 43 8 19 8 88 60 44 34 52 50 22 70 66 9 14 85 M4 30
BR2b1 125 42 12 is4 "9 1220110 0680 || 53 48 64 | 701 F330 UHERE g ] S 7a i IME - Tah
BK30 30 45 14 61 9 23 |11 128 B89 64 K1 76 78 33 102 41 14 20 13 ' MB @ 40
B35 35 B0 A4 ey 42098 | 420 140 196 || 70 | 52 88 79 350148 BN i L2000 18 0 VB 50
BK40 40 61 18 76 15 33 14 160 110 80 60 100 90 37 130 14 18 26 175 M8 50

BF 3255

2-X drill through @Y counter bore depthZ

|
|
r
|
|
#d

BE{/ : mm

2y | d1 | L[ B | H 2?21 |H|E|P|a|x]|Y |z

BF 10 8 20 60 39 30 22 34 32.5 15 46 5.5 6.6 1038 S5

B2 10 20 60 43 30 25 35 35 18 46 5.5 6.6 10.8 1.5

BE 15 15 20 70 48 35 28 40 38 18 54 5.5 6.6 11 6.5

BE 17 17 23 86 64 43 39 50 55 28 68 6.6 9 14 8.5

BF 20 20 26 88 60 44 34 52 50 22 70 6.6 9 14 8.5

BF 25 25 30 106 80 53 @ 48 64 70 33 85 9 11 17.5 11

BF 30 30 32 128 89 64 51 7z 78 33 102 11 14, - 20 13

BF 35 35 32 140 96 70 52 88 79 35 114 i 14 20 13

BF 40 40 37 160 110 80 60 100 90 37 130 14 18 26 17.5




EK E7E

—— EK4 ~ 8 EK10~20

$dl

2-X drill through eY
counter bore depthZ

2:X drill through

EK4,5
BSfiJ : mm
Ll d1 i L1 | 2] 13 B H | 5292 1%92| B1 | H1 P X Y Z M T
EK 05 5§ 165 55 185 '35 3B 21 9. 1" v 8 28 45 - - M28 M
EK 06 6 opil Lams Fastl RiRE Ruiee | gE | Tiag 3. 8. L 20 | 30 55 95 41 M3 A2
EK 08 8 23 7 26 4 g7 a9 S8 47 | o5 | ag | 38 56 M 2 Ma 4
EK 10 10 24 6 295 6 Wi 43 Es. 95 an g | RS 9 = —. ' M3 18
EK 12 12 24 6 295 6 700 43 | a5 95 9@ o4 | 5P 9 = = w2 48
EK 15 15 25 6 36 5 e A g Vv A ize ae e = = L3S
EK 20 20 A2 10 BH | 10 o8 58 ‘475 | 30 Bs | 25 75 | 44 = = | Ma 3D
EF z#58l
2-X drill through @ ¥ counter bore depth Z B1 2-X drill through
.  ——— r

EF 06 6 12 42 25 21 13 18 20 30 55 9.5 14
EF 08 6 14 52 32 26 17 25 26 38 6.6 11 12
EF 10 8 20 70 43 35 25 36 24 52 9 — e
EF 12 12 20 70 43 35 25 36 24 52 9 _ R
EF 15 15 20 80 49 40 30 41 25 60 o il 2
EF 20 20 26 95 58 47.5 30 56 25 76 11 = A

53



WwiE | ABshETE ye

L EfIREEARE 1
2 SR 1#8
3 B 1
4 fibmE 2
5 BhES

6 HERE 1#E

WBK 17DF 17 70 106 T2 80 32 15 80 B8 ] 14

85 45 3 &8 M5 10 ME
WBK20OF 20 70 106 | 72 60 3 15 B0 8 | 9§ 14 B85 45 3 58 M5 10 M6
WBK 25DF 86 33
WBK25DFD 25 85 130 | 90 81 48 18 100 110 11 17 1 57 4 70 M 12 M6
WBK 25DFF 96 48
WBK 30DF ' 66 33 '
WBKS0DFD' | 80 | @5 | 790 .80 |81 | 48 | 18 |100 | tio | a1 | 47 | 14 &7 | 4 | 70 | Me | 12 | me
WBK 30DFF _ _ 96 48
WBK 35DF 66 33
WBK 35DFD 35 95 | 142 | 102 81 48 18 106 121 11 17 11 69 4 80 M6 12 M6
WEK 35DFF | . 9 48
WBK 40DF ' 66 33
WBK40DFD 40 | 95 | 142 [ 102 | 81 48 18 108 | 121 | 11 17 1 89 4 | BO | ME | 12 | M8
WBK 40DFF | 9% 48
flaE

1EFRIRAA - B RHREAMPAIR)F BREBR60 TAC »
2AFEREHNE (BT AR )  EERERELAEMEBLAE -



.

4-P dp Q PCD @V,
R

6-0x % oy #F
_ZPCD @W

@Dg6
@d1

thr—
JY

WBK 17DF
WBK 20DF
WBK 25DF
WBK 25DFD
WEBK 25DFF
WBK 30DF
WEBK 30DFD
WEK 30DFF
WBK 35DF
WEK 35DFD
WBK 35DFF
WEK 40DF
WEK 40DFD
WBK 40DFF

T

2240
2240
2910
4700
4700
2980

3150
5150
5150
3250
5250
5250

3.k IRIF M E EFRFLIVER/SIFRE -

@D2

220
220
320
440
640
340
4860
680
390
530
780
400
540
8OO

15,

wﬁ”ﬁwigyf’?ﬁﬁﬁmwv

@n

o

-
D || 80X HEF oY iR

7 1S | Z PCD @W
6
18P = 35 |
§5
_ :E__ﬂ SEEMRE
A B
-
' i |

120

240
125
185
245

M17X1
| M20X1
M25X1.5
M30X1.5

M35X1.5

| M40X15

124 (17 81 | 23

37 18

w18 2 |20 & 2
327 89

45 20 381 25 104 26
446 | 119 |
3.8 89 |

50 20 37 |30 104 | 26
43 | 19 |
379 | 92

55 22 445 |35 107 | 30
521 122
ass | | 82 |

60 22 427 40 107 | 30
5 122 |

55



¢ C
# |
o os SR

~ S PCD

B mm
FAREHH A
FRERIRAT i A B A
MC 1004 48 24 40 4 32 16 10 20 325 264 36 MGOTxT M&OTST  BNKI004 BNKIONS 0.24
MC 1205 60 30 a7 B5 36 24 -] 21 | 37 304 40 MEx12  Mds07=7 BNK1205 0.38
MC 1408 60 30 50 36 20 10 215 37 344 45 | MBIZ  M5O08T  oelern. il 0.34
MC 2010 8 43 70 8 50 30 10 31 54 464 59 MO0  Mex10 BN2010 1.04
MC 2020 86 43 T0 8 40 24 8 28 51 394 59 M10x20 MBx10 BNK2020 083

MC S22 78 FH AR 2 R R

HIWIN COMTOP GTEN
FSIW1404 FSIC1403
MC 1004  BNK1004,BNK1005 W1004 FA, R1004FSW FSI1404,FSI11405
FSIC1404,FSIC1406
BNK1205 FSWW1204 FSWC1204/05
1205 W1205 FAW1210 FA R1205FSW R1210FSW XSVR1210 FSC1210
e BNK1205 FSWC1210,PTR1205/10/20
W1405 FAW1408 FA  R1405FSW, R1408FSW FSIC2005/06,FSWC1405  SFI 1610,5FI 2004
MC 1408 PRSI PR W1510 FAW1520 FA  FSW1510,R1510DFSH FSWC1510,FSKC1520 SF| 2005 it
BNK1520,BNK1616 ! : FSC1520
W1616 FAW1632 FA  R1520DFSH R1520FSH,R1622D0FSH  PTR1505/10/20 XSVR1510,X5VR1520
MC 2010 BNK2010 W2010 FAW2020 FA R2010FSW,R2020FSW FSWC2010,PTR2010  XSVR2010,XSVR2020 FSC2010

MC 2020 BNK2020 R 2020DFSH



Bi0.1 Htd1 H1

McD 16 185 1610 enp 00050 284 38 80 35 24 48 50:01 20401 20 84 MI10 15 M5 10 BB2 M8 37 091

16x16
MGD 20L 23 48 - M8 14
26 2020 1506-1-0050 364 47 65 375 56:01 23101 22 - M6 11 BB2 i
MGD 20 28 54 84 M10| 15 M8 45 118
MGD 25 g:’;s 20 1506.2.0050 404 51 65 45 80 58 60:01 23201 22 B4 MIO 15 M 11 BB2 M8 49 133
L]
MGD32S . o .0 45 70 70:01 45:01 125 - M12 - - | 25
Ge g | (RS MR 7 20 M8 14 882
MGD 32 *¢ * 50 68 7501 30:01 27 | 13 M1 Mi2 |52 277
40x5  40x10
MGD 40 4012 40s16 1506-4-0050 634 78 | BO 60 42 84 90:01 35:01 31 15 MI8 26 M8 17 BB1 M4 66 36
40x20  40wd0
3 a
MG DI 223 F R h SR AT AR AR
AL =
o RRRRERAR
Sl
STAR HIWIN PMI COMTOP GTEN

MGD 16 1502,1512-0-**** FS|-16-05 FSIN-16-05 SFU 1605 FSU 1605
MGD 20 1502,1512-1-**** F§|-20-05 FSIN-20-05 SFU 2005 FSU 2005
1502,1512-2-**%* FS|-25-05 FSIN-25-05 SFU 2505 FSU 2505

MGD 25
FSI-25-10  FSIN-25-10  SFU 2510  FSU 2510
o 1502,1512-3-»*** F§I-32-05 FSIN-32-05 SFU 3205 FSU 3205
FSI-32-10  FSIN-32-10 SFU 3210 FSU 3210
1502,1512-4-**%* FS|-40-05 FSIN-40-05 SFU 4005 FSU 4005

MGD 40

FSI-40-10 FSIN-40-10 SFU 4010 FSU 4010



BHINZCiE 8/ 8

6

58



BB

1. B 1 K B BB
BNVEIZBIR BN - MERESS - NIT%
RENTSERIE - NENLEEE S - B
SEIBR T EA MR EEROPAERR -

2. RES
MBI ERCEEL  REIE  SEREHRERES
B . TR FIFEmErREs -

3.ERES
BB ORMRE  FPRIMEA—RIFE » KER
[EFE ~ IRB0 » ERTEMEEE -

4 ZEYEIE - BEIFS
LGDR S| FR R ) 5815 2,88 -
LMCSR I E G 8 B ER 8 \ EA B ) -
WELESISER IR ERE -

5.8 B W m £
BRI - MAbYE - DiRiE « EESESE  BRES
BRI L - TRERAMMEE - EREOL - €15
b ~ BN ERIRAST RS -

6. {EXE
BLBOESRIES . ABLE  ERERSS  RE -
B BUENELLET » ELAAENNE - BERISSSES -

SHAFT TYPE
LINEAR GUIDES

FEATURES

1.Corrosion Resistance and Antirust

The material of aluminum alloy is shaft type of linear blocks and
shaft supporters, which surface finish with anodizing also. In other
hand, shafts with harden chromed, so not only pleasing appearance
also with superior antirust.

2.Family Easy Assembly

Shaft type linear guides make to standardize and conformity, which
is simple for customer's design and assembly.

3.Easy Interchangeability

Linear blocks and track rail can be purchased separately. After
customers long-term using,interchangeable freely replace for damage
or loosing ones.

4.Smooth Movement with Quiet

LGD Series has well-balanced rolling contact between carrying
rollers and shaft.

LMC Series contact movement between linear ball bearings and shaft.

It is very quiet of smooth motion.

5.High Economic Efficiency

The advantages are lightweight, corrosion resistance, interchangeably
and easy assembly. Those are optimum and wide ranges of
application for machine equipment.

6.Low Total Cost

Shaft type linear guides with simple structures, high productivity,
and easy and prompt assembly. It's lower cost and more competitive
pricing, if contrast with linear guideways.

59



LMC-C @z Es (REs)

LMCL-C et oues

Linear Block : Linear ball bearing type

A
N N
e o
I I
LMC-C LMCL-C
LMC-C12 ~ LMC-C40 (Dif=2Y/Long Type)
LMCL-C12 ~ LMCL-C30
o & #H &8 R Y B 152 R v
B OsR ﬁlft Dimens?)ns of assembly Dimensions of block
WModelNo. ¥ diameter| H h Wi w L1 B c t1 y) St T G
LMC-C12 34 24 _
12 | 345 | 195 2 36 26 7 10 | M5 | 24
LMCL-C12 68 45 8
LMC-C16 45 30 —
16 45 25 25 45 32 9 12 M5 33
LMCL-C16 85 60 8
LMC-C20 50 35 _
20 50 27 1.5 48 35 11 12 M6 39
LMCL-C20 96 70 8
LMc-c25 25 60 33 25 60 o 40 40 —
. 14 12 M6 | 47
LMCL-C25 130 100 8
LMc-C30 30 70 37 5 70 0 50 > o
15 18 M8 56
LMCL-C30 140 110 8
LMC-C40 40 90 48 7.5 90 90 65 65 20 20 | M10 | 72 -

Example of identification numbel © Wodel No: LMC-C, LMCL-C

9 Shaft Diameter (mm): Shaft : Hardened(HRC62 £ 2)ground and chromium plated
LMC-C25-B2-2400

O 8 & O

Shaft type: SCFB(see page 16)

© Number of blocks per track rail: B1: 1 Block B2:2Blocks B3: 3 Blocks,...

@ Length of track rail: (2400mm)



« €02 . C=0.2 N
LMC-C . LMCL-C
., = : ,/7
L |
o' ¥
P .I Sl Grease nipple
E Nx P E
- L -
g. L-(NxP)
) 2 N : 3,82 {E & (number of pitches)
EE{i(unit) : mm
# & R o EXDEREE | BEABERAE —
Dimensions of track rail Basic dynamic load rating Basic static load rating == &l

W2 P1 t2 P S2 L (max) C (kgf) Co (kgf) Model No.
42 61 LMC-C12

32 23 4 100 45 3,600
84 122 LMCL-C12
79 120 LMC-C16

40 30 5 150 h.5 3,600
158 240 LMCL-C16
90 140 LMC-C20

45 30 5 150 5.5 4,200
180 280 LMCL-C20
100 160 LMC-C25

55 35 6 200 6.5 4,200
200 320 LMCL-C25
160 280 LMC-C30

60 40 7 200 6.5 4,200
320 560 LMCL-C30

75 55 9 300 9 4,200 220 410 LMC-C40

S1EEA -

LMC-C25-B2-2400

1]

e 6 o0

© E'5% : LMC-C, LMCL-C

O W (mm): BNEERIE(HRC 62+ 2)5B s R T

i) : SCFB(2[E16H)

© 18N BB : B1: 118 - B2 : 28 ~ B3 : 3f8,...

O BMEE : (2400mm)

61



62

LMC monemsirmx

Open Type Linear Block
(Linear Ball Bearing Type)

L
C+0.2
s T
i | =)
w = i
- |
|
EEfi7(unit) : mm
f — 2] R i # R R = Lir:IEEr ball bearing & =|
LTI i N~ | © FeTe— o ————
i St Main dimensions Mounting dimension E i = bl I eig
Model No. Liameter 3% Linear ball load rating | load rating
h E/ W|L F T/ m 6 B C S| ¢ bearing No.  C (kgf) | Co(kgf)
LMC12UU | 12 | 15 |18 |36 |34 |24 7 8 |[80°|26 24 |M5|10 |LM12UUOP 42 61 65
LMC16UU | 16 | 20 225 45 | 45|33 9 10/80°| 32|30 M5| 12 |[LM1BUUOP| 79 120 150
LMC20UU | 20 23 24 48 |50 |39 11 10 |60°| 35 35 M6 | 12 |LM20UUOP 90 140 200
LMC25UU | 25 27 30 60 | 65|47 | 14 115/50°| 40 | 40 M6 | 12 | LM25UUOP | 100 160 450
LMC30UU | 30 33 35 70| 70|56 15 14 |50°| 50 | 50 M8 | 18 | LM30UUOP 160 280 630
LMC40UU | 40 42 45 90 |90 | 72 20 19 |50°| 65 | 65 M10| 20 | LM40UUOP | 220 410 1,330|




LMC-L ponshasstu

Open Long Type Linear Block

(Linear Ball Bearing Type)

4
f

\ ;1 Grease nipple

EA{iI(unit) : mm
R icS it PE4

ﬂ %F %ig E g R TJ- % EE, R U’ Linear ballre?ring — E%
L Shat Main dimensions Mounting dimension | 3¢ HY 5 fﬁfﬁﬁ‘:‘fiﬁiﬁﬁﬁf Rt

Model No. Niameter 5% Linear ball load rating | load rating g

h E W|L F T G| h1 8 | B|C S| &  bearingNo.| C (kgf) Co(kgf)

LMC12LUU| 12 15 18 |36 |68 |24 | 7 8 8 | 80° 26 45 M5| 10 |LMI2UUOPX2, 84 122 130
LMC16LUU | 16 | 20 [22.5/45 | 85|33 | 9 | 8 10 80° 32 60 M5 12 |LM6UUOPX2| 158 240 {300
LMC20LUU | 20 | 23 |24 |48 |96 |39 | 11| 8 10 60° 35 70 M6 | 12 |LM20UUOPX2| 180 280 |400
LMC25LUU | 25 | 27 | 30 | 60 |130| 47 | 14 | 8 11.5 50° 40 100 M6 | 12 |LM25UUOPX2| 200 320 |900
LMC30LUU ] 30 33 /35|70 |140/ 56 | 15| 8 14 | 50° 50 110 M8| 18 |LM30UUOPX2| 320 560 1,260'

63



64

SA un%EE

C
Supporter For Tapped Shaft >
M : i2Es D
Material : Aluminum alloy
C+0.02
N M\
. : - |
Yo x| e 3 f—
.'I _|' P
- E Land N X P - E >
- L —
BE{i7(unit) : mm
U [ + B AN B #® i A% ) 28
¢ - Main dimensions Mounting dimensions Weight}l
Model No. di::':ftler )
H C | W/ | L F T K J | h 8 B E [NxP S1| S2 | g
SA12-600 R 600 i 6o+ | 23 . 5%100 a5 | Ma 345
. L . 5»5 e 5 4
SA12-1200 1200 11x100 690
SA16-600 600 3x150 600
16 | 25 | 20 | 40 | 178| 5 |11.7 185| 8 | 80°| 30 | 75 55| M5
SA16-1200 1200 7x150 1200
SA20-600 600 3X150 610
20 | 27 (225| 45 — 177 5 | 10 19 | 8 | 50°| 30 | 75 55| M6
SA20-1200 1200 7X150 1220
SA25-600 600 2x200 800
25 | 33 |275/ 55 —1 21 6 | 12 215 8 | 50°| 35 | 100 6.5 M6
SA25-1200 1200 5X200 1,760
SA30-600 600 2X200 1.100
30 | 37 | 30 | 60 228 7 | 13 265(10.3| 50°| 40 | 100 6.5 M8
SA30-1200 1200 5X200 2,200
SA40-600 600 1X300 1,950
40 | 48 375| 75 —1294 9 | 17 K 38 |155| 50°| 55 | 150 { M8
SA40-1200 1200 3X300 3,900
=R :
HHILL TN
pa \ H7
= | = = =
sAZsE /) \ SAZHHFE
(NS R (DR




SCFB s@mFl (sus2ss, FEH)
CRSB

8 BREGE (SUJ2) SiEEAERIE - IR e SRR SR
iEfE : HRC 62+2

BRIETITN : REIRIERS

ABWFEI) (S45CHEIR, FEE)

& : il (S45C)

@Dg6 (SCFB)
@Df7 (CRSB)

E NXP E
g L- (z ] N : 3LFE2 % (number of pitches)
B {iI(unit) : mm
LT o, TP N [=] =
S\E Rk AELE | am gz | RIRE  BARE W BE
D SCFB g6 P M 2 L(max) kg/m
12 SCFB12 6 100 M4x0.7 | 55 ' 4,000 0.89
16 SCFB16 -17 150 M5x0.8 7 4,000 1.58
20 SCFB20 150 M6x1 10 4,200 2.47
| |
25 SCFB25 '270 200 M6x1 12 4,200 3.85
30 SCFB30 200 M8x1.25 15 4,200 5.55
35 SCFB35 9 200 M8x1.25 15 4,200 7.55
40 SCFB40 -25 300 M8x1.25 18 : 4,200 9.87
ETREGI -
ETRED
SCFB 20x1500 @ =5 : sa®
o ) O rsE CRSB 20x1500 © 2 : sy
(2] O BEE EE{UI(unit) * mm
_ N . — —_
OHE RISE MILE | g e | BIRE | BARE =B
D CRSB £7 P M 2 L(max) kg/m
12 CRSB12 16 100 M4x0.7 5.5 4,000 0.89
16 CRSB16 -34 150 M5x0.8 7 4,000 1.58
20 CRSB20 150 M6x1 10 4,200 2.47
20

25 CRSB25 " 200 M6x1 12 4,200 3.85
30 CRSB30 200 M8x1.25 15 4,200 5.55
35 CRSB35 25 200 M8x1.25 15 4,200 7.55
40 CRSB40 -50 300 . M8x1.25 | 18 4,200 9.87

65



LGD anstEn(Res)
Anticorrosive Linear Guide
— (&8 158 = 418 & 8 5
One Block with 4 Rolling Bearings

Qil hole Oil hole

I Wi Wa T Wi Wz
le Wa ol le Wa N
LGD8 / LGD8L LGD12 / LGD12L
LGD16 /LGD 16L
iu % Em?g ﬁ.ﬁ. ’él» R U— :;E‘ ﬁ R T._r
- Shaft Dimensions of assembly Dimensions of block
Model No. diameter
H H1 Wi | W | Ws H2 D L1 B B1 C C1 | Sixdepth
LGD8 70 50
8 30 35 16 60 59 | 265 9 40 10 10 | M6x9
LGDSL 100 80
LGD12 100 38
12 40 3 23 82 80 37 12 27 14 — 12 | M6x12
LGD12L 140 58
LGD16 150 60
16 50 5 35 | 120 | 118 @ 45 14 | 45 15 | | 15 | M8x16
LGD16L 190 80
Example of identification numbet © Model No.
@ Number of blocks per track rail:
LGD12'Q'R1BOOC B1:1Block B2:2Blocks B3: 3 Blocks, ...

1] 2] ©

€© Length of track rail (1800mm):
Shaft:Hardened(HRC62 £ 2)ground and chromium plated



Hs

L1

L1
Ci1 o] Ci1 C C
O o) O o) o)
m
2 ,4-S1xdepth = = ,B-S1xdepth -
:’f om ,/
B o C] o B C] o o
m m
LGD8 LGD12 / LGD12L
LGDS8L LGD16 / LGD16L
LGD8 LGD12/LGD12L
2 LGDSL , ‘ _ LGD16/LGD16L
an \[ i i o i il
Y : — i T H——— T igy(IT i
1 ﬁ_ﬁ_\‘ —— o | -
/ | /] L /] i
“// :‘: rf: I ;; I
p “I ! [l
— L |
EE{i(unit) : mm
: SHENE =8
m J‘E R j BFEHERHE | BEEMERTE A“q“zle :,:ig moment Weight ?_jFéJ ‘“ﬂ?
Dimensions of track rail ki || el 5 :
C (kgf) | Co(kgf) | To | ™ | Ty [ R | 88 Model No.
W2 H3 d1 d2 h P E | L(max) (kgf-m) | (kgf-m) | (kgfm) | ") | (egim)
3.6 3.0 3.2 (021 LGDS8
28 185 | 5.5 10 5.2 50 25 |3,000 80 130 1.65
364655028 LGDSL
544048 (052 LGD12
36 il | B | UAG | G 50 25 (4,200 180 290 M
547285070 LGD12L
13.5/19.8/21.6/1.35 LGD16
50 32 9 20 9 80 40 [4,200( 330 530 6.0
13.5/35.6(38.2|1.65 LGD16L
To Tx Ty
/D

EJREAI -

LGD12-B2-R1800C
O o ©

O 1B LERCE -

L/ L/

B1: 118 B2: 2@~ B3: 3@, ...

€ BELEE (1800mm):

il : ZAEEFE(HRC 62+2), IETRIE R S

o]

67



LGD12E unz@n s

Anticorrosive Linear Guide
B/AEY Economical Type
—A{E8 1R = 4R mEh A

One Block with 4 Rolling Bearings 7
- ?8 >
. 19 20 20
- 78 - i
’ O
P u‘)I N 4-M6X12depth
2 36 1 O
e 212.6
- - 6.8
'y T T T —Ifll Irll—v—'—|——
) /A % ]
d o Lyl ; !
e 7/ a8 ] ] |
Y ye) L1 / |
25 | 50 J
L 4200 (Max) J
ETEER - | ErwEgaE | ErwesEE B o2
%mt\‘l'l: Basic dynamic Basic static Allowable static moment Weight
ha load rating load rating To T Ty = e
L G D 1 2 E' B 2 - R 1 8 o 0 c dia{"n:‘n?}ter C (kgf) Co( kgf) [kgf-m] [kgf'm} {kgf-m] BI':.'»gck Trli‘cél;r;ail
(1 2] (3]
12 140 230 43 3.2 3.8 036 | 3.2
© %% : LGD12E
O 1B LBRZE : . o -
B1: 18 B2: 2@ B3: 3@, .. /=D L/ LD

€ BEEE (1800mm):

1Y) - FERIB(HRC 62+ 2), FEIBS K HEE

Example of identification numbe

LGD12E-B2-R1800C
© o o

68

@ Model No.:LGD12E

@ Number of blocks per track rail:
B1: 1 Block B2:2Blocks B3: 3 Blocks, ...

© Length of track rail (1800mm):

Shaft:Hardened(HRC62 £ 2)ground and chromium plated




--i-_-_'?"

e _j"
LGD12XL sz res) %)
Anticorrosive Linear Guide o A0

faIE# Heavy Load Type
— {85 158 = 81E R om & 5k
One Block with 8 Rolling Bearings

- 160 N
12, 68 " 68 v
82 f
—1 O O O
&
Qil hole & Y @ @
=
o
1Q o o
¥ ‘_I

. 8-M6X12depth

C " 068
L]

24.5
6.2
N

N
\T‘

AN
fith
Hi
URY
rm
I|I I|I
i
URY
mrm
I|I !
i
URY
HEH
!

| 1T

4200 (Max)

EIEEA - gyim | EADEGEE | BAWEEEE BE/E =
= Basic dynamic Basic static Allowable static Weight
_Shaﬂ load rating load rating To T T ey nE
LGD12XL-B2-R1800C aameter | C (kgf) | Co(kgf) | tgim | hotm) | htm) | Sl | ook
(1) 2] ©
12 290 460 8.7 11.2 13.6 0.86 3.2
© 2% : LGD12XL
O 1R LR EN - . . -
B1: 118 B2: 20 B3: 3@, .. PN L====\ L=\

© BEEE (1800mm): r | S
#lY) - BEIB(HRCE2 £ 2), JETFEES R A E : lI Ef

Example of identification numbers @ Model No.:LGD12XL

@ Number of blocks per track rail:
LGD1 2XL'B_2' R1800C B1:1Block B2:2Blocks B3: 3 Blocks, ...
1] 2] 3]

9 Length of track rail (1800mm):
Shaft:Hardened(HRC62 £ 2)ground and chromium plated

69



/. 5% 175



MR10x 0.75 21 9 4 2 17

MR12 x 1.0 2% 9 4 2 19

MR15 x 1.0 27 9 4 2 22

MRI17 x 1.0 29 10 4 2 24 M5
MR20 x 1.0 33 10 4 2 28

MR20 x 1.5 33 10 4 2 28

MR25 x 1.5 39 12 5 2 34

MR30 x 1.5 45 12 5 2 40

MR35 x 1.5 53 12 5 2 47 M6
MR40 x 1.5 58 14 6 2.5 52

MR45 x 1.5 64 14 6 2.5 58

MR50 x 1.5 69 14 6 3 63

MRS5S x 2.0 74 16 7 3 67

MR60 x 2.0 79 16 : 3 72

MR65 x 2.0 88 16 7 3 80

MR70 x 2.0 93 18 8 3.5 84

MR75 x 2.0 98 18 8 3.5 89

MRS80 x 2.0 103 18 B 3.5 94 M8
MR85 x 2.0 112 18 g 3.5 102

MR90 x 2.0 118 20 10 4 108

MR100x 2.0 128 20 10 - 4 118

MR110x 2.0 143 2 10 5 132

MR120x 2.0 153 24 12 5 142

MR130x 2.0 163 2% 12 5 152

MR 140 x 2.0 178 26 12 5 165 |
MR150x 2.0 198 2 12 5 185 e

71



72

30°§H%E SERIES-RADIAL LOCKING

A'
o

l
0

i

AR i il (7

7)1+ -
-5

Bl

Thread & Pitch D H g t d m
MF15 x 1.0 30 14 4 2 25 M5
MF20 x 1.0 38 16 4 2 33
MF20 x 1.5 38 16 4 2 33
MEZ25 % 1.5 4] 18 5 / 36 M6
MF30 x 1.5 48 18 5 2 42
MF35 x 1.5 53 18 5 2 47
MF40 x 1.5 58 20 6 25 51
MF45 x 1.5 68 20 6 2.5 59
MF50 x 1.5 73 20 6 2D 64
MF55 x 2.0 78 22 7 3 68
MF60 x 2.0 83 22 i 3 73
MF65 x 2.0 88 22 7 3 78 MS
MF70 x 2.0 93 24 8 3.5 84
MF75 x 2.0 98 24 8 3.5 89
MF80 x 2.0 103 24 8 3.5 04
MF8S5 x 2.0 108 24 8 3.5 99
MF90 x 2.0 118 26 10 4 108
MF100 x 2.0 128 26 10 4 118
MF110x 2.0 143 28 12 5 132
MF120 x 2.0 153 30 12 5 142
MF130 x 2.0 163 30 12 5 152
MF140 x 2.0 178 32 12 5 165 M10
MF150x 2.0 193 32 12 5 181




8. el S



DCT/DCTS mgn/ HEsEEs / Erthns

i [ |
| o ’
| "'"/
’ '}
¢ R < / Dimension B {iL/Unit: mm
EIE d1 x d2EEAE
Catalog D | L G M AE (H8) Mass**
Number Min Max (g)
DCT- 8 8 3.5 14 1.7 M2 2 4 1.3
DCT - 12 12 5.0 185 | 25 M2.5 3 6 4.5
DCT - 16 16 6.5 23 3.0 M3 4 8 9.5
DCT - 20 20 7.5 26 3.0 M4 5 10 16
DCT - 25 25 8.5 31 4.0 M4 5 12 30
DCT - 32 32 12 41 6.0 M5 6 14 65
DCT - 40 40 15 56 8.5 M5 8 20 120
DCT - 50 50 18 71 10.5 M6 12 25 230
DCT - 63 63 22 90 13.0 M8 15 35 470
DCTS-12 12 5.0 18.5 2.5 M2.5 3 6 14
DCTS- 16 16 6.5 23 3.0 M3 4 8 28
DCTS- 20 20 7.5 26 3.0 M4 5 10 45
DCTS- 25 25 8.5 31 4.0 M4 6 12 95
DCTS- 32 32 12 41 6.0 M5 6 14 220
DCTS-40 40 15 56 8.5 M5 8 20 350
DCTS-50 50 18 71 10.5 M6 12 25 700
DCTS-63 63 22 90 13.0 M8 15 35 1300
& % BB/ Function
BEOSH il 1 v | oz BV
mge | —HIRD | Ay | WPSF | BhE | BHEL | BNES (P07 MO
Catalog Rated Max. Rotational Moment Static Errors of Errors of Shaft
Number Torque | Torque Frequency of Inertia Tortional | Eccentricity | Angularity End-Play
(N.m) (N.m) (min~") (kg - m?) Stiffness (mm) (o) (mm)
( N.m/rad )
DCT-8 0.1 0.2 48000 1.2 x 10 25 0.10 2 + 0.2
DCT- 12 0.2 0.4 32000 83 x 10° 35 0.10 2 + 0.3
DCT- 16 0.3 0.6 24000 33 x 107 47 0.10 2 + 04
DCT-20, 0.5 1.0 19000 9.0 x 107 120 0.10 2 + 04
DCT-25] 1.0 2.0 15000 26 x 10° 170 0.15 2 + 0.5
DCT- 32 2.0 4.0 12000 96 x 10 280 0.15 2 + 05
DCT-40[ 5.0 10 9600 3.2 x 10 350 0.20 2 + 05
DCT- 50 10 20 7700 1.0 x 10™ 590 0.20 2 + 05
DCT - 63 20 40 6100 32 x 10" 850 0.20 2 + 05
DCTSA12 0.3 0.6 32000 21 x 107" 64 0.10 2 + 03
DCTS-16 0.5 1.0 24000 84 x 107 85 0.10 2 + 0.3
DCTS-20 1.0 2.0 19000 24 x 10° 250 0.10 2 + 0.3
DCTS25| 2.0 4.0 15000 6.8 x 10° 330 0.15 2 + 04
DCTS-32 3.5 7.0 12000 26 x 107 850 0.15 2 + 05
DCTS40 8.0 16 9600 87 x 10° 1000 0.20 2 + 05
DCTS-50 15 30 7700 27 x 10°° 1400 | 0.20 2 + 05
DCTS63 35 70 6100 84 x 107" 1800 , 0.20 2 + 05




DWS/DWSS mign / (H@sEEs / it ianss

\ '
\ -
A\ [
¢ R </ Dimension B {s1/Unit: mm
e xa
Catalog D L G M A Mass**
Number BE (H8) (g9)
Min Max
DWS-16 16 6.80 18 3 M3 4 6 7.4
DWS-20 20 7.65 20 3 M4 5 10 12
DWS-25 25 9.60 25 4 M4 6 12 24
DWS-32 32 |12.60 32 6 M5 6 14 50
DWS-40 40 15.30 40 5 M5 10 16 115
DWSS-16 | 16 6.80 18 3 M3 5 6 18
DWSS-20 | 20 7.65 20 3 M4 5 10 32
DWSS-25 | 25 9.60 25 4 M4 6 12 63
DWSS-32 | 32 |12.60 32 6 M5 6 14 130
& £ BE / Function
my | —RIED | Bxmy | BUEERE g BER  |awEs | awwons
Rated Max. % Moment* ; ; Errors of | Errors of Shaft
Catalo Rotational - Static Tortional :
9 | Torque | Torque of Inertia . Angularity End-Play
Number Frequency Stiffness
(Nm) | (N.m) Ty | (kg -m?) (o) (mm)
(min™") (N.m/rad )
DWS-16 0.3 0.6 24000 2.8 x 107" 110 1 + 0.2
DWS -20 0.5 1 19000 75 x 1077 130 1 ¥ 0.2
DWS -25 1.0 2 15000 23 x 10°° 350 1 + (.2
DWS-32 2.0 4 12000 80 x 10°° 650 1 +: ()2
DWS-40| 5.0 10 9800 3.0 i 10°” 750 1 + 0.2
DWSS-16 0.5 1 24000 7.2 x 1077 240 1 + 01
DWSS-20 1.0 2 19000 o0 % 40 330 1 + 0.1
DWSS-25 2.0 4 15000 6.1 x 10°° 720 1 + 0.2
DWSS-32 3.5 7 12000 24 = 0" 1300 1 + 0.2
#1'8/Material:

DWS #3%-88& &/Aluminum alloy
DWSS #3%I|- A #5#/Stainless steel

%1 /Fratures

1.—@ A, /hI5/0ne-body shape.
2. & Pg/Zero backlash.
3.8t K /High rigid.

4 R A IREB{E/High deflection.
5.BEHRFR: BEEBA/Fixed mode: Set screw type.

RUSE R 7R/Product No:
DWS-20 - 36X26

I
BUS%/Type

I
FL{®/Inside dia



DWS-C/DWSS-C pian / %525 / Erthions

et Q| .
! B bl i =
b et M, |
¢ R =t/ Dimension B {I/Unit: mm
Catalog D I L G H M = Mass™**
Number RE (H8) (g9)
Min Max
DWS- 16C 16 6.80 18 3.4 5 M2.5 4 6 8
DWS- 20C 20 7.65 20 3.8 6.5 M3 ) 8 13
DWS-25C 25 9.00 25 4.8 9 M3 6 10 25
DWS- 32C 32 12.60 32 6.3 11 M4 6 14 53
DWS-40C 40 15.30 40 7.5 14 M5 10 16 117
DWSS-16C 16 6.80 18 3.4 5 M2.5 D 6 21
DWSS-20C 20 7.65 20 3.8 6.5 M3 5 8 36
DWSS-25C 25 9.60 25 4.8 9 M3 6 10 69
DWSS-32C 32 12.60 32 6.3 11 M4 8 14 150
¢ 4+ B/ Function
RS
my | —BEN | Bxmn (REERE gy 8 {8 AHRA b
Rated Max. . Moment* Static Errors of
Catalog Torque | Torque Aol of Inertia Tortional Angularit Sl bR
Number q U€ | Frequency : gulartty End-Play
(N.m) (N.m) (min=") (kg - m?2) Stiffness (o) (mm)
(N.m/rad )
DWS-16C 0.3 0.6 9500 29 x 1077 110 1 + 0.2
DWS-20C 0.5 1 7600 75 x 1077 130 1 + 0.2
DWS -25C 1.0 2 6100 23 x 10°° 350 1 + 0.2
DWS-32C 2.2 4 4800 81 x 10°° 650 1 + 0.2
DWS -40C 5.0 10 3800 1.9 x 107° 750 1 + 0.2
DWSS-16C 0.5 1 9500 78 x 1077 240 1 + 0.2
DWSS-20C 1.0 2 7600 21 x10°° 330 1 + 0.2
DWSS-25C 2.0 4 6100 6.3 x 10°° 720 1 + 0.2
DWSS-32C| 3.5 7 4800 2.2 x 107° 1300 1 + 0.2
#1'& /Material:
DWS #&7-$34& &/Aluminum alloy
DWSS #7%I-A#E#/Stainless steel
45M/Fratures RU5% & 7/Product No:
1.—f8R R, /NI5/0ne-body shape.
2.2 M/ Zero backlash. DWS-20C - O6XG36
3. @It K /High rigid. | |
4 R EREHE/High deflection.

5.BEHR: %EER/Fixed mode: Set screw type. BSE/Type FL1®/Inside dia



DRJ M / [{ig#EE / Eiikms

\ t JoE i

L J { s
5} ©020-2D30 948 oD40~2DE5
¢ R </ Dimension B {i7/Unit: mm
i wrnE e
Catalog D | L E E G M A Mass**
Number LE (H8) (g)
Min Max
DRJ- 20-RD| 20 [10.35| 30 9.3 0.7 5.0 M3 5 9.525 20
DRJ- 30-RD| 30 [11.50| 35 12.0 1.0 5.5 M4 6 14 40
DRJ- 40-RD| 40 [2540| 66 15.2 15 12.5 M5 8 20 150
DRJ 40S-RD| 40 |[14.00 | 42 14.0 1.0 7.0 M5 8 19 170
DRJ- 55-RD| 55 [3090| 78 16.2 1.2 155 M6 10 25 350
DRJ- 65-RD| 65 [35.50| 90 19.0 | 2.0 17.5 M6 12 35 500
DRJ- 80-RD| 80 [46.00| 114 | 220 | 2.0 23.0 M8 16 45 1000
DRJ- 95-RD| 95 [51.10| 126 | 238 | 2.0 25.5 M8 20 55 1500
& 1+ BE / Function
—— AT BN
g —Rfh BA#EH M i {3 #whE BHRL | BHRA E{LE
Rated Max. _x Moment* Static Errors of Errors of | Errors of
Catalog T Rotational : . = :
T orque | Torque Frequency of Inertia Tqr‘uonal Eccentricity | Angularity Shaft
(N.m) | (N.m) (min 1) (kg-m?) Stiffness (mm) (o) End-Play
(N.m/rad ) (mm)
DRJ-20- RD 5 10 19000 1.0 x10° 55 0.10 1 + 08
DRJ-30- RD| 125 25 13000 59 x10° 135 0.10 1 + 1.0
DRJ-40 - RD 17 34 9600 40 x10° 1100 0.10 1 +: 2
DRJ - 40S- RD| 17 34 14000 3.9 x 10°° 1200 0.10 1 T 06
DRJ-55- RD| 60 120 7000 1.7 % 1W° 3200 0.10 1 £ 1.4
DRJ-65- RD| 160 320 5900 3.9 x10°* 4900 0.10 il + 15
DRJ-80- RD| 325 650 4800 1.12 = 1™ 7400 0.10 1 + 1.8
DRJ - 95 - RD| 450 900 3600 20 x10° 14000 0.10 1 £ 20
#1'8/Material:
A& €/Aluminum alloy
5 14¥/Fratures
1.5 1/Features. =
2.5 @IH4/High torque. R 8E R 7~/Product No:
3.4 £/High vibration resistance.
4 84 FHA— 88T B 7KIH/Applicable for the ordinary DRJ-20-RD - @6X326
transferring and cutting demand. ] |
5.4 &% . T 2% RE/Buffer Material: Engineering class plastic. B/ Type 7L®/Inside dia

6.BEIEA: LT84 E E=/Fixed mode: Set screw type.

77



78

DRJ-C m#& /%8Rs / Ertkianss

544 D20~D30 SHE D40~D65
¢ R </ Dimension B {i/Unit: mm
d1 x d2 BB
bl *x
Catalog D | I L| E|F| 6| H| M PRsiatid= Maas
Number RE (H8) (9)
Min Max
DRJ - 20C - RD 20 [10.35| 30 9.3 0.7 5.0 6.5 | M25 5 9.525 20
DRJ - 30C - RD 30 [11.650| 35 [12.0 ] 1.0 55 | 10.5 M4 6 14 40
DRJ - 40C - RD 40 |(2540| 66 | 152 | 1.5 9.0 | 140 M5 8 20 150
DRJ - 55C - RD 55 |3090| 78 |16.2 | 1.2 | 105 |20.0 | M6 10 25 350
DRJ - 65C - RD 65 (3550 90 [19.0 | 2.0 | 13.0 | 25.0 M6 12 35 500
DRJ - 80C - RD 80 [46.00] 114 | 220 | 2.0 | 14.0 | 30.5 | M10 16 45 1000
DRJ - 95C - RD 95 |51.10| 126 | 23.8 | 20 | 16.0 | 37.0 | M10 20 55 1500
& 1% BE/ Function
sEEEY Bl \ BETE
my | —RED| By | T /i | EHE | ENREL | BHEA | BRE
Catalo Rated Max. Rotational Moment* Static Errors of Errors of | Errors of
9 Torque | Torque RN of Inertia Tortional | Eccentricity | Angularity Shaft
Number Frequency 5
(N.m) | (N.m) (min~") (kg -m?) | Stiffness (mm) (°) End-Play
(N.m/rad ) (mm)
DRJ-20C-RD 5 10 19000 1.1 x 10°° 55 0.10 1 + 0.8
DRJ-30C-RD| 125 25 13000 6.2 x 10°° 135 0.10 1 + 1.0
DRJ-40C-RD| 17 34 9600 3.9 x 107 1100 0.10 1 + 1.2
DRJ-55C-RD| 60 120 7000 1.6 x 10™ 3200 0.10 1 + 14
DRJ-65C-RD| 160 320 5900 3.8 x 10™* 4900 0.10 1 + 15
DRJ-80C-RD| 325 650 4800 1.1 x 10°° 7400 0.10 1 + 1.8
DRJ-95C-RD| 450 900 3600 1.9 x 107 14000 0.10 1 + 20
#1'8&/Material:
$2&&/Aluminum alloy
F1%/Fratures T .
ﬁ%ﬁﬁgh ros R 5E R /Product No:
2 BBt High gl DRJ-20C-RD - @6XD6
3.1 B f£/High vibration resistance.
4.8 & B —MREE) R 1414/ Applicable for the ordinary | |
transferring and cutting demand. RISR/Type FL1&/Inside dia

5.4E . T 124 FB/Buffer Material: Engineering class plastic.

6.BEIEAT: KFE/Fixed mode: Set screw type.




DMT igie® / ILHEHET / s

— — . ?2-M
W i i \ - /’( /_'4—:..},<
’ ) $ | \#N‘E [ﬁ:_ o — fji ];'_ / /rJ’«,(; -':..‘_I
t_{// s 1Ol g _ﬂ S| +- { o
\\—J/ """ -%lw *llvl """" I \ "E' ;.r
W | | KPP, S i . e _.-,-ﬁ"//
e / ] -
: 1 S
¢ R </ Dimension B8 {5[/Unit: mm
d1 x d2 HR
ik "
Catalog D | L G M ggﬁ_g) Tas)s
Number = 9
Min Max
DMT- 16 16 7.6 23 3.5 M3 4 8 10
DMT - 16S 16 4.3 16 2.5 M3 4 8 8
DMT- 19 19 7.0 23 3.0 M3 5 8 13
DMT- 198 19 5.0 19 3.0 M3 5 8 11
DMT- 20 20 8.6 26 3.0 M4 6 10 15
DMT - 25 25 10.6 31 4.0 M4 6 12 31
DMT - 258 25 7.5 25 4.0 M4 6 12 29
& M BE / Function
BT
BSEEE \
_ BERO BHRA B{E
Cﬂﬁ Aift 7 BAHD ng. Errors of Errors of Errors of
atalog Rated Torque | Max. Torque Rotational Eccentricity Angularity Shaft
Number (N.m) (N.m) Frequency i 5(3 3 EndPlay
(min~1 ) (mm)
DMT- 16 0.5 1.0 25000 0.25 5 + 0.25
DMT - 16S 0.5 1.0 25000 0.25 5 + 0.25
DMT- 19 1.0 2.0 25000 0.25 5 + 0.25
DMT - 198 1.0 2.0 25000 0.25 5 + 0.25
DMT- 20 1.1 2.2 25000 0.25 5 + 0.25
DMT - 25 1.6 3.2 25000 0.25 5 + 0.25
DMT - 258 1.6 3.2 25000 0.25 5 + 0.25
#1'&/Material:
$R & &/Aluminum alloy
4%/Fratures -
1.—## % B/One-body shape. RU5% R ~/Product No:
2. % Bg/Zero backlash.
SR MAE, T4 4E/The groves are shaped spirally DMT-ZO - @GXQG

with its excellent flexibility.
4.5 8 §ENCODER/It fits to ENCODER.
5.BEAR: {4 E EX/Fixed mode: Set screw type.

BES%/Type FL1&%/Inside dia




DMT-C @ies! / %% / sErekionss

- T ol
3 == 3%
-f—
19|
0 o £
¢ R I/ Dimension B8 {if/Unit: mm
d1 x d2 HE
ik
Catal D | L G H M o el
atalo
s DE (H8) (9)
Number
Min Max
DMT- 16C 16 6.2 23 25 5.0 M2.5 4 6.35 10
DMT- 19C 19 6.5 23 3.0 5.6 M3 4 8 13
DMT- 20C 20 7.5 26 3.0 5.7 M3 6 8 13
DMT- 25C 25 8.0 31 4.0 75 M3 6 12 31
& % BE/ Function
BEEEY
BERO BHRA BE#ENE
ik — RN BAHEAD Max.
Errors of Errors of Errors of Shaft
Catalog Rated Torque | Max. Torque Rotational
Eccentricity Angularity End-Play
Number (N.m) (N.m) Frequency
e (mm) (o) (mm)
(min™")
DMT- 16C 0.5 1.0 25000 0.25 5 + 0.25
DMT- 19C 1.0 2.0 25000 0.25 5 + 0.25
DMT- 20C 1.0 2.0 25000 0.25 5 + 0.25
DMT- 25C 1.6 3.2 25000 0.25 5 +* 025
#1'8E/Material:
A& €/Aluminum alloy
4514/ Fratures RgE R 7R/Product No:

1.—f8 B 8Y/One-body shape.
2.F % Bi/Zero backlash.

3.ENECiMHE, TTHEEE/The groves are shaped spirally

with its excellent flexibility.
4.5 iE & ENCODER/It fits to ENCODER.
5.BEHNX: HEBH/Fixed mode: Set screw type.

DMT-20 - @6X36

BIg%/Type

|

]

FL1&/Inside dia



DGS-C @E /58 / k25 / Stk

4. F#EBR/Zero backlash.

ek -
S
el | I '
) {;’E THH ™ S
0]
& R I / Dimension B {I/Unit: mm
i T
Catalog D | F L H M T Mass**
Number RE (HE) (g)
Min Max
DGS- 20C 20 9.2 1.70 20.10 5.8 M2.5 4 8 15
DGS- 27C 27 11 2.45 24.45 9.6 M3 5 10 25
DGS- 35C 35 12 3.00 27.00 | 12.5 M3 6 14 48
DGS- 40C 40 15 3.95 33.95 | 14.0 M4 8 16 90
DGS- 45C 45 15 3.95 33.95 | 16.5 M4 10 19 98
DGS- 50C 50 20 470 | 4470 | 17.5 M5 11 22 15
DGS- 56C 56 20 520 | 45.20 | 20.8 M5 12 25 238
DGS- 68C 68 24 5.25 53.25 | 26.0 M6 14 28 470
DGS- 82C 82 | 29.8 | 8.80 68.40 | 31.0 M8 19 35 1050
DGS- 94C 94 30 9.40 69.40 | 37.0 M8 22 42 1230
DGS- 105C 105 30 10.0 70.00 | 42.0 M8 25 45 1370
¢ £ 8B/ Function
my | D | Bamn | REEREC g BHED | BNEA | o
Catal Rated Max. Rotati ’ | Moment* Errors of Errors of E f Shaft
%9 | 1o T otationa f Inertia Eccentricity | Angulari oo bl
Number rque orgua Frequency o ty g by End-Play
(N.m) | (N.m) ey (kg "m?) (mm) (<)
(min 71) (mm)
DGS - 20C 0.8 1.6 10000 0.58 x 10°° 0.10 1 + 0.10
DGS-27C 1.8 3.6 10000 247 x 10°° 0.02 1 + 0.15
DGS - 35C 4 8 10000 8.16 x 10°° 0.02 1 + 0.20
DGS - 40C 6 14 10000 185 x 10°° 0.02 1 + 0.25
DGS -45C 10 20 10000 29.7 x 10°° 0.02 1 + 0.30
DGS - 50C 16 32 10000 75.0 x 10°° 0.02 1 + 0.35
DGS - 56C 25 50 10000 100.0 x 10°° 0.02 1 + 0.40
DGS - 68C 60 120 10000 267.7 x 10"‘E 0.02 1 + 0.50
DGS - 82C 100 200 10000 736.5 x 10°° 0.02 1 + 0.55
DGS -94C 180 360 10000 1220 x 10™° 0.02 1 + 0.60
DGS-105C| 250 450 10000 1890 x 107° 0.02 1 + 0.74
#1'8/Material:
§8&%/Aluminum alloy BU5% R 7R/Product No:
#¥1%/Fratures
1. % BI14/High rigid. 5.i8 & A AR B3&/1t fits of servomotor. DGS-40C - 98X08
2 hk/MHigh torque. 6.4t : F#EME K /Buffer Material: SUS disk. | |
3.{K1EM/Low inertia. 7.BEHR: kER/Fixed mode: Clamp type. BISE/Type FL#&/Inside dia




82

& R Y / Dimension

DGL-C @F / ®%3 / sititnss

B8 {if/Unit: mm

d1 x d2

itk 58
Catalog D | F G Ii H M ,ijl RAE Mass™**
Number LE (H8) (g)

Min Max
DGL - 20C 20 | 9.2 [1.70 | 55 [273 | 58 | M25 4 8 15
DGL - 27C 27 11 | 245 | 80 | 349 | 9.6 M3 5 10 35
DGL - 35C 35 12 | 3.00 | 8.0 |38.0 | 125 | M3 6 14 62
DGL - 40C 40 15 [ 3.95 | 100 [ 479 | 14.0 | M4 8 16 116
DGL - 45C 45 15 [ 395|100 | 479 | 165 | M4 10 19 131
DGL - 50C 50 20 [4.70 | 120 | 614 | 175 | M5 11 22 150
DGL - 56C 56 20 | 520 | 120 | 624 | 20.8| M5 12 25 310
DGL - 68C 68 24 | 525|155 |74.0 | 26.0 | M6 14 28 650
DGL - 82C 82 (298 (880|215 |98.7 [31.0 | M8 19 35 1300
DGL - 94C 94 30 | 9.40 | 22.0 |100.8( 37.0 | M8 22 42 1500
DGL - 105C 105 | 30 | 10.0 | 70.0 |102.0| 42.0 [ M8 25 45 1740
& 4 BE / Function
py | —HEN| Bk | REERE gy E¥RED BNRA ENB
Rated Max. 5 Moment* Errors of Errors of Errors of Shaft
Catalog Rotational : L .
Nimber Torque | Torque Frequency of Inertia Eccentricity Angularity End-Play
(N.m) | (Nm) (min ™) (kg *m?) (mm) (o) (mm)
DGL-20C 0.8 1.6 10000 0.58 x 10°° 0.10 2 + 0.10
DGL-27C 1.8 3.6 10000 341 x 10°° 0.15 2 + 0.33
DGL-35C 4 8 10000 11.3 x 10°° 0.17 2 + 040
DGL-40C 6 14 10000 26.3 x 10°° 0.23 2 + 0.50
DGL-45C 10 20 10000 417 x 10°° 0.23 2 + 0.60
DGL-50C 16 32 10000 75.0 x 10°° 0.02 2 + 0.35
DGL-56C 25 50 10000 136.1 x 107° 0.27 2 + 0.80
DGL-68C 60 120 10000 366.9 x 10°° 0.31 2 + 0.90
DGL-82C 100 200 10000 1070 x 10°° 0.52 2 + 1.10
DGL-94C 180 360 10000 1750 x 10°° 0.52 2 + 1.30
DGL-105C| 250 450 10000 2750 x 10°° 0.55 2 + 148
8 /Material:
$2& £/Aluminum alloy R 8E R ~/Product No:
#¥14/Fratures
1.5 @I14$/High rigid. 5.8 & AR i€/t fits of servomotor. DGL'4OC = zsxgs
248 hk/Mightorque. 6.4 MiHF: eI /Buffer Material: SUS disk. | l

3.{k{8/Low inertia.

4. i/ Zero backlash.

7.BEFHR: KER/Fixed mode: Clamp type.

BISR/Type

FLi%/Inside dia



DOT +3gsn/ HEsEEs / Erthns

¢ R Y/ Dimension B {37/Unit: mm

mgE d1 x d2 El**
Catalog D l L G M RRAE me
Number RE (H8) (9)
Min Max

DOT- 16 16 7 18 3.5 M3 4 6.35 7

DOT- 20 20 9.5 23 4.5 M4 5 8 14

DOT- 25 25 11.5 28 5.5 M5 5 10 27

DOT- 32 32 14.0 33 6.5 M5 8 14 50

DOT - 40 40 15.0 35 7.0 M5 10 16 80

DOT - 50 50 16.5 38 8.5 M6 14 20 150

DOT - 63 63 21.0 47 10.5 M6 15 25 300

& M BE / Function
gy | RN | Bxmn | BEERR g WEREIE | sugn | awms
Rated Max. i Moment* - Errors of Errors of
Catalog T Rotational . Tortional E G .
Number orque | Torque Frequency of Inertia Stiffness ccentricity Angularity
(N.m) | (N.m) o) (kg -m?) (mm) ()
(min ™) ( N.m/rad )

DOT-16 0.7 1.4 3500 32 x 1077 31 1.0 3
DOT-20 1.2 2.4 7600 1.0 x 10°° 60 1.5 3
DOT-25 2.0 4.0 6100 30 x 10° 140 2.0 3
DOT-32 4.5 9.0 4800 95 x 10°° 280 2.5 3
DOT-40 9.0 18 3800 23 x 10°° 540 3.0 3
DOT -50 18 36 3100 6.7 x 107 820 3.5 3
DOT-63 36 72 2400 22 x 107! 1900 4.0 3
#'&/Material:
#84 &/Aluminum alloy
4% /Fratures

1.5 Bl #4/High rigid.

2 48484 ££/High insulation. R 8E 2% = /Product No:

3.8 & & Z/Handy assembly.

4.t it #/Excellent resistance to oil. DOT - 40 - zsxas

5. 8% i, #AX/High eccentricity and angularity. | |

6.48 @+ TIE¥FE/Buffer Material: Engineering class plastic. BISE/Type FL%/Inside dia

7.BEAX: {844 E E R /Fixed mode: Set screw type.




DOT-C +x&sn / 185 / Eithms

2448 eD16~9D32 548 0D40~9D63
& R </ Dimension B {fI/Unit: mm
d1 x d2
|
e FrEY e
atalog D L G H M A Mass
Number RE (H8) (g9)
Min Max
DOT - 16C 16 13.0 29 3.0 5.0 M2.5 4 6.35 12
DOT - 20C 20 15.0 33 3.0 6.5 M3 5 8 19
DOT - 25C 25 17.0 39 3.5 8.0 M3 6 10 36
DOT - 32C 32 20.0 45 5.0 10.5 M4 6 14 69
DOT - 40C 40 225 50 5.5 13.5 M5 8 16 130
DOT - 50C 50 26.5 58 6.5 17.5 M6 12 20 230
DOT - 63C 63 33.0 71 8.0 22.0 M8 15 25 450
¢ & BE/ Function
14
py | —BEH By BEERE e BHE | BHEED AHREA
c Rated Max. . Moment* Static Errors of Errors of
atalog T T Rotational £l % . g Anaulari
Nofibes orque orque Frequency of Inertia Tqrtlonal Eccentricity ngularity
(Nm)| (N.m) (min~" ) (kg -m?) Stiffness (mm) (o)
( N.m/rad )
DOT-16C| 0.7 1.4 9500 58 x 1077 31 1.0 3
DOT-20C| 1.2 2.4 7600 15 x 10°° 60 1.5 3
DOT-25C| 2.0 4.0 6100 44 x 10°° 140 2.0 3
DOT-32C| 4.5 9.0 4800 14 % 10" 280 2.5 3
DOT-40C| 9.0 . 18 3800 41 x 10° 540 3.0 3
DOT-50C| 18 36 3100 12 x 10°° 820 3.5 3
DOT-63C | 36 2 2400 37 x 107° 1900 4.0 3
#'8E/Material:
SeA&/Aluminum alloy RS8R R 7~/Product No:
4314/Fratures
1.5 BI/High rigid. DOT'40C - QSXQB
2. 484 f£/High insulation. | |
S4B Btiandy assambly. Bgk/Type  FLi%/Inside dia

4 it i1 #4%/Excellent resistance to oil.

5.8 &R0 . RAK/Migh eccentricity and angularity.
6.4+ . T i2¥B/Buffer Material: Engineering class plastic.
7.BEFAR: KER/Fixed mode: Set screw type.




A IBiEEE  EBRRR

AR —pgRY

<
Y
B A B L LF S M BESE
Min Max
CP- 56A 56 32 44.90 20.0 4.90 M5 7 20
CP - 68A 68 38 55.25 25.0 5.25 M6 10 25
CP- 82A 82 52 58.80 25.0 8.80 M6 12 35
CP- 94A 94 56 69.40 30.0 9.40 M8 12 40
CP-105A 105 66 76.00 33.0 10.00 M8 12 42
CP-128A 128 78 91.00 40.0 11.00 M10 25 50
CP - 144A 144 90 101.60 45.0 11.60 M10 30 55
CP-168A 168 105 131.20 57.2 16.80 M14 35 70
CP - 194A 194 118 144.00 64.5 15.00 M16 40 80
CP-214A 214 137 174.00 76.2 21.60 M16 45 95
CP - 246A 246 156 201.70 88.9 23.90 M20 50 110
CP - 276A 276 169 230.40 101.6 27.20 M24 70 120

85



86

B B! : AR

=+
i 45

A

J LF
S ims .
i =
—P (|
DO - | -
SRR
S _\__l.B 4——- -

M1

A3t (%Dk) AE A GE e R
DP-81B 25 81 46 1239]| 33 6.5 10 o 4-M6
DP-93B 28 93 51 82.5| 36 105118 5 4-M6
DP-104B 35 104 | 61 91 40 11 16 6 4-M6
DP-126B 40 126 .71 117.| D2 13 20 7 4-M8
DP-144B 50 144 | 88 131 | 59 13 22 7 4-M8
DP-168B 65 168 | 106 | 146 | 66 14 24 9 4-M10
DP-194B 80 194 | 130 | 164 | 75 14 24 9 4-M10
DP-214B 80 214\ 137 | 197 | ‘87 23 22 10 | 4-M12
DP-246B 90 246 | 157 | 224 | 100 | 24 23 10 | 4-M12
DP-276B 100 276 1 170 252 1112 | 28 34 10 | 4-M12




CH: HEEY

4 4=
I‘:%I:I

A

J LF: S
=
— rd - _-__\'—
H, . _.__I.B. ﬂ——————
J\H1 e
(R
el | e
\‘j‘B B Gi'——}_‘

M1

DP-81C 25 81 46 | 785 |36 | 6.5 10 5 4-M6
DP-93C 30 93 91 |[88.5 | 39 10.5| 16 5 4-M6
DP-104C 35 104 | 61 | 95 42 11 20 6 4-M6
DP-126C 40 126 | 71 | 121 |54 13 20 7 4-M8
DP-144C 50 144 | 88 | 133 | 60 13 22 7 4-M8
DP-168C 65 168 | 106 | 152 | 69 | 14 24 9 4-M10
DP-194C 80 194 | 130 | 170 | 78 14 24 9 4-M10
DP-214C 80 214 | 137 | 199 | 88 | 23 22 10 | 4-M12
DP-246C 90 246 | 157 | 226 | 101 | 24 23 10 | 4-M12
DP-276C 100 276 | 170 | 254 | 113 | 28 34 10 | 4-M12

87



88

0. BHEIVHIR



SR TUEIR
SRAMBEN

CTEIERENHIR ?
eRAMREN AR EBEEHIES - UIKERRELRIZESNGR - HEMBERZREK - F
HEEEHETR - ARERENT - SRLE (JEHRL ) BEKR - OBREE.. F -

TERSSESERRRINMER ?
UBRAKWMSBRZERRENS - RESARERENERESI9ER - LEUSKZEQR - 8%
MEATE NIFEHK BEET SEBHE -H8  Em  SESHN XL TREFRBEEHRSE -
HofER -

AT ERERLENEESEIR?
1. FRRE RIS
2. HEAFL I TR E
3. B EREX
4. SEAMBENTK

UER—ICEEEIER - EREHEXK - BEARTES -

Power Locker

Introduction for Power Locker

. What is Power Locker ?

Power locker is designed for mechanical fastensing with a conical structure, and superseds the
conventional structure with a key and keyway. Its advantages are easy-to-assemble, easy-to-
disassemble, time-saving. no key required highly aligment(automatic aligment adjustment),
backlash free, rotational precision...etc.

. What can the Power Locker be applicable of ?

As the precision of mechanism have increased continuously in the present day, the Power
Locker is applicable on condition that the connection with a key and a keyway, in particular, for
highly precise servo transmission system, like workstation, precise electronic application, high
automation, textile machine, food machine, papermaking machine, its appplication nearly
covers all transmission system.

. The notes for using Power Locker ?

a. The required transmissible torque

b. The requirement of machining precision on shaft and bore.
c. The requirement of alignment.

d. The requirement rust resistance.

The above are general requirements, if any special requirement, please contact with us.

89



JWT

90

SA Z#ug

SA FEEE)1)E None self-centering

M : IR A% TS : SRFHAESE HHFE
T, F: FETS T2 {@:EHE R # i)
P : FRR%E A7)

i d D B L M TS T
Model (mm) (mm) (mm) (mm) (mm) (N.m) (N.m)
SA-20 i 26 47 20 26 Me 14 270
SA-22 22 47 20 26 Me 14 300
SA-24 24 50 20 26 Me 14 360
SA-25 25 50 20 26 M6 14 380
SA-28 28 55 20 26 Me 14 470
SA-30 30 55 20 26 Me 14 500
SA-32 32 60 20 26 Me 14 650
SA-35 35 60 20 26 Mé 14 700
SA-38 38 65 20 26 M6 14 880
SA-40 40 65 20 26 M6 14 950
SA-42 42 75 24 32 M8 3as 1,600
SA-45 45 75 24 3z M8 35 1,700
SA-48 48 80 24 az Ma 35 1,800
SA-50 50 80 24 3z M8 35 1,800
SA-55 55 85 24 az M8 35 2,300
SA-60 60 90 24 32 M8 as 2,500
SA-65 65 95 24 32 M8 a5 3,000
SA-70 70 110 28 38 M10 69 4,800
SA-75 75 115 28 38 M10 69 5,000
SA-80 80 120 28 38 M10 69 5,300
SA-85 85 125 28 38 M10 69 6,400
SA-90 90 130 28 38 M10 69 6,500
SA-95 95 135 28 38 Mi12 69 8,000
SA-100 100 145 30 38 Mi2 120 9,700
SA-110 110 155 30 42 Mi2 120 10,600
SA-120 120 165 30 42 Mi2 120 13,000
SA-130 130 180 38 42 Mi2 120 18,000
SA-140 140 190 38 50 Mi12 120 21,000
SA-150 150 200 38 50 Mi2 1 30 24,000
SA-160 160 210 38 50 M12 120 28000
SA-170 170 225 44 58 M14 190 33,000
SA-180 180 235 44 58 M14 190 38,000
SA-190 190 250 52 66 M14 190 46,000
SA-200 200 260 52 66 M14 190 53,000
SA-220 220 285 56 72 M16 295 68,000
SA-210 210 305 56 72 M16 295 86,000
_8@-200 260 325 56 72 M1 6 1 ] 295 105,000

F P w.'l
(KN) (N/mm?) eight
(@)
27 90 230
27 90 220
30 95 240
30 95 240
34 100 280
34 100 270
4 110 320
41 110 300
45 110 350
47 110 330
75 130 580
75 30 550
75 120 620
75 120 590
85 130 640
85 120 680
95 130 730
130 130 1300
130 130 1350
130 130 1420
150 140 1500
160 140 1560
170 140 1630
190 140 2230
200 130 2370
210 130 2600
270 120 3600
300 120 3750
320 120 4100
350 130 4300
380 120 5700
420 120 6000
480 110 8200
530 120 8500
620 120 11220
710 130 12200
810 135 13500




SB z#ug

SB 5#)Bu\E Self-centering

M : 28R &R TS : IRFRIE SR IBFE
T, F: ETS T 2 (@ E 056 K #ll S 3HE D
P:iREEE]

E5{iI Unit / mm

Eichas d D D1 L
Model (mm) (mm) (mm) (mm) (mm) (mm)
SB-06 06 14 25 9 21 24
SB-08 08 15 27 12 25 29
SB-09 09 16 28 14 26 30
SB-10 10 16 28 14 26 30
SB-11 11 18 32 14 26 30
SB-12 12 18 32 14 26 30
SB-13 13 23 38 14 26 30
SB-14 14 23 38 14 26 30
SB-15 15 24 45 16 36 42
SB-16 16 24 45 16 36 42
SB-17 : g 26 47 18 38 44
SB-18 18 26 47 18 38 44
SB-19 19 27 49 18 38 44
SB-20 20 28 49 18 38 44
SB-22 22 32 54 25 45 51
SB-24 24 34 56 25 45 51
SB-25 25 34 56 25 45 51
SB-28 28 39 61 25 45 51
SB-30 30 41 62 25 45 51
SB-32 32 43 65 30 50 56
SB-35 35 47 69 30 50 56
SB-38 38 50 iy 30 50 56
SB-40 40 53 75 30 50 56
SB-42 42 55 78 40 65 73
SB-45 45 59 85 40 65 73
SB-48 48 62 87 45 70 78
SB-50 50 65 92 45 70 78
SB-55 55 71 98 50 75 83
SB-60 60 77 104 50 75 83
SB-65 65 84 111 50 75 83
SB-70 70 90 119 60 91 101
SB-75 75 95 126 60 91 101
SB-80 80 100 131 70 101 111
SB-85 85 106 137 70 101 111
SB-90 90 112 143 70 101 11
SB-95 95 120 153 70 101 111
SB-100 100 125 162 80 117 129

M !
(mm) (N-m)

M3 2
M4 5
M4 5
M4 5
M4 5
M4 5
M4 5
M4 5
M6 17
M6 17
M6 17
M6 17
M6 17
Mé 17
Mé W
M6 T#
M6 17
M6 1T
M6 17
M6 17
M6 41
M6 41
M6 4
M8 41
M8 41
M8 41
ms 4
M8 41
M8 41
M8 41
M10 83
M10 83
M10 83
M10 83
M10 83
M10 83
M10 145

T
(N-m)

14
29

49

58

68
127
136
180
200

220

270

500

750

930
980
1,000
1,900
2,000
2,700
3,000
3,300
3,600
6,200
6,600
8,700
9,800
12,000
12,000
15,000

= W-aig.ht
(KN)  (N/mm?2) P
48 86 80
10 185 100
10 185 120
10 185 120
10 160 140
10 140 140
10 130 140
10 15 150
17 175 260
17 190 250
22 160 270
22 160 270
22 170 300
22 120 300
22 120 380
22 120 400
22 150 390
3s 150 470
35 150 480
45 140 520
48 140 630
48 130 670
48 130 740
48 130 780
84 130 1,230
84 140 1,240
110 130 1,400
110 130 1,700
110 130 1,900
110 130 2,200
180 130 3,050
180 130 3,320
220 130 3,500
220 130 3,810
240 130 4,200
250 130 4,750
240 130 4,880

91



JWT

92

SC zatug

SC JEE#Hu)E! None self-centering

M : DRI

TS : IRAHIESE HAE

T, F: FETS T2 (@iEHE R it

P : B E D

453 d D B L T E EA P W.egﬁ'lt
Model (mm) (mm) (mm)  (mm) 1 2 3 4 (Nm) (KN)  (KN)  (Wmm?) S
SC-06 06 14 3.7 4.5 2.5 25 3 4 0.8 12 115 3
SC-08 o8 11 3.7 4.5 25 25 3 4 1.2 18 120 1.5
SC-10 10 13 3.7 4.5 2.5 25 3 4 10 2 22 120 1.9
Sc-11 11 14 3.7 4.5 25 25 3 4 10 2 22 120 20
SC-12 12 15 3.7 4.5 25 25 3 4 1 2 23 115 22
SC-13 13 16 3.7 4.5 25 25 3 4 13 2 24 110 2.3
SC-14 14 18 53 6.3 3 4 4 5 22 3 26 20 4.9
SC-15 15 19 53 6.3 3 4 4 5 25 3 27 90 5.3
SC-16 16 20 5.3 6.3 3 4 4 5 27 3 - 20 5.5
SC-17 17 21 53 6.3 3 4 4 5 30 3 28 20 6.0
ScC-18 18 22 53 6.3 3 4 4 5 32 3 30 90 6.2
SC-19 198 24 53 6.3 3 4 4 5 40 4 33 20 8.0
SC-20 20 25 5.3 6.3 3 4 4 5 Aad 4 34 20 8.3
SC-22 22 26 5.3 6.3 3 4 4 5 58 4 35 90 8.0
SC-24 24 28 5.3 6.3 3 4 4 5 68 6 a7 100 8.0
SC-25 25 30 53 6.3 3 4 4 5 48 6 40 100 10.0
SC-28 28 32 5.3 6.3 3 4 4 5 90 6 40 100 9.2
SC-30 30 35 53 6.3 3 4 4 5 100 7 40 100 12
SC-32 32 36 53 6.3 3 4 4 5 120 7 50 100 10
SC-35 35 40 6 7 3 4 4 5 160 9 40 100 17
SC-38 38 44 6 7 4 5 5 6 230 10 60 100 20
SC-40 40 45 6 8 4 5 5 6 230 1 70 100 23
SC-42 42 48 6 8 4 5 5 6 260 12 70 100 28
SC-45 45 52 8.6 10 4 5 5 6 390 17 110 100 42
SC-48 48 55 8.6 10 4 5 5 6 430 18 110 100 45
SC-50 50 57 8.6 10 4 5 5 6 470 19 110 110 46
SC-55 55 62 10.4 10 4 5 5 6 580 21 120 10 50
SC-56 56 64 10.4 12 4 5 6 6 790 25 150 110 67
SC-60 60 68 10.4 12 4 5 6 T 840 28 160 110 70
SC-65 65 73 104 12 4 5 6 7 1,000 30 160 100 77
SC-70 70 79 12.2 14 4 5 6 7 1,300 38 200 100 102
SC-75 75 84 12.2 14 4 5 6 7 1,500 41 220 100 110
SC-80 80 a1 15 h 5 6 7 8 2,100 54 300 100 175
SC-90 90 101 15 17 5 6 7 8 2,700 61 320 100 210
SC-100 100 114 18.7 21 5 6 8 9 4,200 84 400 100 360




SD z#ag

B
| A1
T T —
PN N ==
fg e T T (8= e
[ T_,FH [ L \ \'-_{‘u | |
T T 1 [ 11 R — i
\ AN \\ | /’J ,/;:.I'_“‘\, _,-'I
SD #4018 Self-centering \ 4 i\ +J/ }%, ) —
M:DFIRR TS IREKIESERSE \ @ / —F———
T, F: TS T2 MEIBE RWEES) A\ i S— ==
P FEYEIRE ) A
- - FRfIZ Unit / mm
AU A1 B L M TS F P T8
Model (mm) (mm) (mm) (mm)  (mm) (mm) (mm)  (N.-m) (N-m) (KN)  (N/mm?) W‘&;?*“
SD-20 20 47 31 26 42 a8 M6 17 550 55 100 a0
SD-22 22 47 31 26 42 48 M6 17 600 55 100 370
SD-24 24 50 31 26 42 48 M6 17 660 55 100 400
SD-25 25 50 31 26 42 48 M6 17 680 55 100 400
SD-28 28 55 31 26 42 48 M6 17 720 55 100 440
SD-30 30 55 31 26 42 48 M6 17 820 55 100 530
SD-32 32 60 31 26 42 48 M6 17 1,400 80 130 520
SD-35 35 60 31 26 42 48 M6 17 1,400 80 130 500
SD-38 as 65 31 26 a2 48 M6 17 1,600 80 130 600
SD-40 40 65 31 26 a2 48 M6 17 1,600 110 130 580
SD-42 42 75 36 30 50 58 M8 41 2,500 110 130 1,000
SD-45 45 75 36 30 50 58 M8 41 2,500 150 130 970
SD-48 48 80 36 30 50 58 M8 41 3,700 150 170 1,080
SD-50 50 80 36 30 50 58 M8 41 3,700 150 17 1,050
SD-55 55 85 36 30 50 58 M8 41 4,100 150 160 1,140
SD-60 60 90 36 30 50 58 (VL] 41 4,500 160 160 1,180
SD-65 65 95 36 30 50 58 M8 41 4,500 160 150 1,260
SD-70 70 110 46 39 60 70 M10 83 8,400 240 150 2,250
SD-75 75 115 46 39 60 70 M10 83 8,400 240 140 2,430
SD-80 80 120 46 39 60 70 M10 83 9,600 250 140 2,600
SD-85 85 125 46 39 60 70 M10 83 11,000 250 150 2,700
SD-90 90 130 46 39 60 70 M10 83 13,000 300 150 2,800
SD-95 95 135 46 39 60 70 M10 83 13,000 300 150 3,000
SD-100 100 145 52 46 68 80 M12 145 17,500 350 150 4,100
SD-110 110 155 52 46 68 80 M12 145 20,000 300 150 4,400
SD-120 120 165 52 46 68 80 M12 145 21,300 330 150 4,800
SD-130 130 180 52 46 68 80 M12 145 28,000 350 150 5,700
SD-140 140 190 58.5 51 76 90 M14 190 30,400 350 150 6,200
SD-150 150 200 58.5 51 76 90 M14 190 39,000 400 160 7,100
SD-160 160 210 58.5 51 76 90 M14 190 41,700 400 170 8,000
SD-170 170 225 58.5 51 76 90 M14 190 52,000 460 160 11,000
SD-180 180 235 51 76 90 M14 190 460 170 12,100

58.5

55,000

93



JWT

94

SDS zaiug

SDS &\ & Self-centering

M : 2R A% TS : IRAHNESEIRAE
T, F: 7ETS T2 (@205 Rl o)
P: iR EME ]

AU d D A A1 B L M TS T F P =8

Model (mm)  (mm)  (mm) (Mm)  (mm) (mm)  (Mm)  (Nm)  (N.m) (KN)  (N/mm?)  Woght
SDS-06 6 19 10.5 8 13.5 16.5 M3 2.3 6.2 4 53 20
SDS-08 B 22 13 10 17 21 M3 2.3 18 4.7 70 30
SDS-10 10 24 13 10 17 21 M3 23 30 6.2 87 60
SDS-11 11 25 13 10 17 21 M3 23 34 6.2 84 60
SDS-12 12 26 13 10 17 21 M3 23 47 7.8 100 70
SDS-13 13 27 13 10 17 21 M3 23 50 7.8 97 BO
SDs-14 14 <3 16 125 21 26 M4 23 70 10 87 80
SDS-15 15 32 16 12.5 21 26 M4 3.8 75 10 B84 80
SDS-16 16 33 16 12.5 21 26 M4 3.9 B8O 10 81 80
SDS-17 17 34 16 12.5 21 26 M4 3.9 105 12.5 29 90
SDS-18 18 35 16 12.5 21 26 M4 3.9 110 12.5 96 100
SDs-19 19 47 22 17 28 34 M6 3.9 290 30 100 260
SDs-20 20 47 22 17 28 34 M6 14 320 32 100 250
SDs-22 22 47 22 17 28 34 M6 14 320 az2 100 260
SDS-24 24 50 22 17 28 34 M6 14 360 32 100 270
SDS-25 25 50 22 17 28 34 M6 14 420 34 100 270
SDS-28 28 55 22 17 28 34 M6 14 500 34 100 320
SDS-30 30 55 22 17 28 34 M6 14 520 34 100 350
SDSs-32 32 60 22 17 28 34 M6 14 770 48 110 370
SDS-35 35 60 22 17 28 34 M6 14 840 48 110 340
SDs-38 38 65 22 17 28 34 M6 14 910 48 110 400
SDS-40 40 65 22 17 28 34 M6 14 960 48 110 380
SDS-42 42 75 25 20 33 41 M8 14 1,000 65 110 650
SDS-45 45 75 25 20 33 41 mMa 35 1,500 65 110 630
SDS-48 48 80 25 20 33 41 M8 35 2,000 85 140 700
SDS-50 50 80 25 20 33 41 M8 35 2,100 85 140 680
SDS-55 55 85 25 20 33 41 M8 as 2,500 95 140 730
SDS-60 60 90 25 20 33 41 M8 35 2,700 90 130 780
SDS-65 5 95 25 20 a3 41 M8 35 3,200 100 140 830
SDS-70 70 110 30 24 40 50 M10 35 4,900 140 140 1,330
SDS-75 75 115 30 24 40 50 M10 70 5,300 140 130 1,400
SDS-80 =14] 120 30 24 40 50 M10 70 5,600 140 130 1,480
SDS-85 B85 125 30 24 40 50 M10 70 6,700 160 130 1,550
SDS-90 90 130 30 24 40 50 M10 70 7,100 160 130 1,630
SDS-95 a5 135 30 24 40 50 M10 70 9,100 195 135 1,700
SDs-100 100 145 32 26 A4 56 M12 70 10,200 200 150 2,600
SDs-110 110 155 32 26 44 56 Mi2 125 10,600 200 150 2,800
SDS-120 120 165 32 26 44 56 M12 125 13,000 216 140 3,000
SDS-130 130 180 40 34 54 64 Mi12 125 18,900 290 135 4,600
SDS-140 140 190 40 34 54 68 Mi14 125 20,500 333 125 4,900
SDS-150 150 200 40 34 54 68 Mi4 190 25,000 362 120 5,200
SDS-160 160 210 40 34 54 68 Mi4 190 29,000 362 130 5,500
SDS-170 170 225 50 44 64 78 M14 190 34,000 400 135 7.750
SDS-180 180 235 50 44 64 78 M14 190 36,000 400 120 8,150
SDS-190 190 250 50 44 B4 78 M14 180 47,500 500 115 9,500
SDS-200 200 265 50 44 64 78 M14 190 50000 500 140 9,900



SES z#ug

SES B30\ & Self-centering

M : IR TS IRFRIEREIHE
T, F: ETS P2 @SR R MmN
P EREEE

BT Unit / mm
d D D1 A A1 B L M TS T F P HE
Model (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)  (N.m) (N-m) (KN)  (N/mm?) W?é?h‘
SES-08 8 22 25 13 10 17 21 M4 3.9 18 47 70 SO
SES-10 10 24 27 13 10 17 21 M4 3.9 30 6.2 87 60
SES-11 11 25 28 13 10 17 21 M4 3.9 34 6.2 84 60
SES-12 12 26 29 13 10 17 21 M4 3.9 47 7.8 100 70
SES-13 13 27 30 13 10 17 21 M4 3.9 50 7.8 97 80
SES-14 14 31 34 16 12.5 21 26 M5 8 70 10 87 80
SES-15 15 32 35 16 125 21 26 M5 8 75 10 84 80
SES-16 16 33 36 16 125 21 26 M5 8 80 10 81 80
SES-17 17 34 37 16 12,5 21 26 M5 8 105 125 99 90
SES-18 18 35 38 16 12,5 21 26 M5 8 110 12.5 96 100
SES-19 19 47 56 22 17 28 34 M6 17 290 30 100 260
SES-20 20 47 56 22 17 28 34 M6 17 320 32 100 250
SES-22 22 47 56 22 17 28 34 M6 17 320 32 100 250
SES-24 24 50 59 22 17 28 34 M6 17 360 32 100 270
SES-25 25 50 59 22 17 28 34 M6 17 420 34 100 270
SES-28 28 55 64 22 17 28 34 M6 17 500 34 100 320
SES-30 30 55 64 22 17 28 34 M6 17 520 34 100 350
SES-32 32 60 69 22 17 28 34 M6 17 770 a8 110 370
SES-35 35 60 69 22 17 28 34 M6 17 840 48 110 340
SES-38 38 65 74 22 17 28 34 M6 17 910 a8 110 400
SES-40 40 65 74 22 17 28 34 M6 17 960 48 110 380
SES-42 a2 75 84 25 20 33 41 M8 41 1,000 65 110 650
SES-45 45 75 84 25 20 33 41 M8 41 1,500 65 110 630
SES-48 48 80 89 25 20 33 41 M8 41 2,000 85 140 700
SES-50 50 80 89 25 20 33 41 M8 a1 2,100 85 140 680
SES-55 55 85 94 25 20 33 41 M8 41 2,500 95 140 730
SES-60 60 90 09 25 20 33 41 Ma a1 2,700 90 130 780
SES-65 65 95 104 25 20 33 41 M8 41 3,200 100 140 830
SES-70 70 110 119 30 24 40 50 M10 83 4,900 140 140 1,330
SES-75 75 115 124 30 24 40 50 M10 83 5,300 140 130 1,400
SES-80 80 120 129 30 24 40 50 M10 83 5,600 140 130 1,480
SES-85 85 125 134 30 24 40 50 M10 83 6,700 160 130 1,550
SES-90 90 130 139 30 24 40 50 M10 83 7,100 160 130 1,630
SES-95 95 135 144 30 24 40 50 M10 83 9,100 195 135 1,700
SES-100 100 140 154 32 26 44 56 M12 145 10,200 200 150 2,600
SES-110 110 155 164 32 26 44 56 M2 145 10,600 200 150 2,800
SES-120 120 165 174 32 26 44 56 M12 145 13,000 216 140 3,000
SES-130 130 180 189 40 34 54 64 M12 145 18,900 290 135 4,600
SES-140 140 190 199 40 34 54 68 M14 230 20,500 333 125 4,900
SES-150 150 200 209 40 34 54 68 M14 230 25,000 362 120 5,200
SES-160 160 210 219 40 34 54 68 M14 230 29,000 362 130 5,500
SES-170 170 225 234 50 44 64 78 M14 230 34,000 400 135 7,750
SES-180 180 235 244 50 44 64 78 M14 230 36,000 400 120 8,150
SES-190 190 250 259 50 44 64 78 M14 230 47,500 500 115 9,500
SES-200 200 260 269 50 44 64 78 M14 230 50,000 500 140 9,900

95



JWT

SF zalms

SF & 78! High torque

M : ISR TS : IRHRIESEIHAE
T, F: fETS T2 {SiEHAE K 8 ST
P:IREEED

B d D B L M TS T F N Wiéi:ht
Model (mm) (mm) (mm) (mm) {mm) (N-m) (N-m) (KN) (N/mm~=) @
SF—2_5_ 25 50 45 51 Mé 17 900 70 90 420
SF-28 28 55 45 51 M6 17 940 70 90 440
SF-30 30 55 45 51 M6 17 1,100 70 90 480
SF-32 az 60 45 81 M6 17 1,300 70 110 470
SF-35 35 60 45 51 M6 17 1,600 90 110 520
SF-38 38 65 45 51 M6 17 2,400 90 110 610
SF-40 40 65 45 51 Mé 17 2,400 120 110 600
SF-42 42 75 45 53 M8 41 3,300 150 140 590
SF-45 45 75 45 53 M8 41 3,300 150 140 850
SF-48 48 80 64 72 M8 41 4,200 160 130 1,300
SF-50 50 80 64 T M8 41 4,200 160 130 1,200
SF-55 55 85 64 72 M8 41 4,800 170 120 1,350
SF-60 60 90 64 72 M8 41 6,200 200 120 1,400
SF-65 65 95 64 72 M8 41 6,900 210 130 1,550
SF-70 70 110 478 88 M10 85 11,500 330 130 2,900
SF-75 75 115 78 88 M10 85 12,500 330 130 3,100
SF-80 80 120 78 88 M10 85 14,500 360 130 3,250
SF-85 85 125 78 88 M1i0 85 15,500 400 130 3,450
SF-90 90 130 78 88 M10 85 18,100 400 130 3,600
SF-95 95 135 78 88 M10 85 19,500 400 130 3,850
SF-100 100 145 100 112 M12 150 26,500 500 130 5,700
SF-110 110 155 100 112 Mi12 150 31,000 600 130 6,300
SF-120 120 165 100 112 Mi2 150 40,000 660 130 7,000
SF-130 130 180 116 130 M14 230 53,000 800 130 9,800
SF-140 140 190 116 130 M14 230 64,000 900 110 10,400
SF-150 150 200 116 130 M14 230 74,000 1000 110 11,100
SF-160 160 210 116 130 Mi4 230 84,000 1050 110 11,500
SF-170 170 225 146 162 M16 230 108,000 1300 120 17,800
SF-180 180 235 146 162 Mi6 230 121,000 1300 120 18,400
SF-190 180 250 146 162 M16 230 133,000 1400 130 23,000
SF-200 200 146 162 M16 230 144,000 1400 130 27,000

96



SMA zztms

SMA B£8R 5 Self-centering

M:QEIRR  TS: BERIESRIBAE

T, F:IETS T 2 MZRFE R oS
P: iR EE

EE{i1 Unit / mm

25 d D DI G L L L2 7T t S M1 M2 TS T

Model (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (N.m) (mm) (mm) (N.m) (N.m)

SMA-20 20 3; :12 30; 153 241 291 3 18 4 8M5x18 4M5 88 216 216
SMA-22 22 40 44 328 153 241 291 3 18 4 8-M5x18 4-M5 88 255 226
SMA-24 24 42 46 348 163 251 301 3 1.8 4 8-M5x18 4-M5 88 263 299
SMA-25 25 43 47 358 173 261 311 3 18 4 8M5x18 4-M5 88 329 314
SMA-28 28 46 50 388 17.3 266 316 35 1.8 4 10-M50x18 4-M5 88 441 31.4
SMA-30 30 48 52 408 173 266 316 35 18 4 10-M5x18 4-M5 88 500 33.3
SMA-32 32 50 54 428 183 276 326 35 18 4 10-M5x18 4-M5 88 530 333
SMA-35 35 57 62 484 195 30 36 4 2 45 8M6x20 4-M6 157 883 47.6
SMA-38 38 60 65 514 20 305 365 4 2 45 10-M6x20 4-M6 15.7 1,020 49.4
SMA-40 40 62 67 534 205 31 37 4 2 45 10-M6x20 4-M6 157 1,079 50.3
SMA-42 42 64 69 554 205 315 37 4 2 45 10-M6x20 4-M6 157 1,157 51.5
SMA-45 45 67 72 584 21 32 375 4 2 45 10-M6x20 4-M6 157 1,285 56.9
SMA-48 48 72 75 614 21 325 38 45 2 45 12-M6x20 4-M6 157 1,402 584
SMA-50 50 75 77 634 215 325 385 45 2 45 14-M6x20 4-M6é 157 1,705 68.2
SMA-55 55 77 83 684 215 335 385 45 2 45 14-M6x20 4-M6 157 1,883 685
SMA-60 60 82 87 734 22 335 395 5 2 45 15-M6x20 5-M6 157 2,108 868.7
SMA-65 65 87 92 784 22 386.1 395 5 2 45 15-M6x20 5-M6 157 2,236 68.7
SMA-70 70 97 103 86.2 24 36.1 441 5 2 51 14-M6x25 4-M8 37.3 3,285 93.2
SMA-75 75 102 108 912 24 361 441 5 2 51 15-M6x25 5-M8 37.3 3,746 99.1
SMA-80 80 107 113 962 25 371 451 5 2 51 15-M6x25 5-M8 37.3 4,129 103
SMA-85 B85 112 118 101.2 26 37.1 451 5 2 51 15-M6x25 5-M8 37.3 4,521 106

F P J
(KN) (N/mm?) (Kg-m2)

130

117

111

102

119

114

104

114

132

124

120

112

129

143

133

131

124

169

172

158

151

fixe

3.70x10°
4.42x10%
5.45x10%
6.15x107
8.15x10°
9.45x10°
1.14x10*
2.12x10*
2.62x10*
3.00x10*
3.32x10*
3.95x10*
4.75x10™
5.35x10™
6.80x10™*
8.61x10™
1.05x10°
1.88x10°
2,22x10°°
2.67x10%

3.10x10°

mE
Weight
(@

144

165

180

188

195

208

219

325

632

380

405

435

460

485

520

560

610

1,270

97



JWT

98

SSD zmiug

SSD &% Clamping
dw/2z dw Toleran CE

14~30 H6/j6, 30~50 H6/h6
50~80 H6/g6, 80~200 H7/g6

D o e Nl

BT d dw D I L G e M TS F B W‘ei:ht
Model (mm)  (mm)  (mm) (mm) (mm) (mm) (mm)  (mm)  (N.m) (N.m)  (KN) (N/mm?) @
11 30 6
SSD-14 14 b 38 7 11.0 23 2,00  4xM5 4 50 ° 186 100
SsD-16 16 4 41 11 150 26 200  5xM5 a 2 19 130 150
19 170 25
SSD-24 24 20 50 14 19 36 275  6xM5 4 210 27 286 200
21 250 29
24 300 29
SSD-30 30 25 60 16 21 44 275  7xMs 4 340 31 233 300
26 380 33
28 440 50
SSD-36 36 30 72 18 23 52 275  5xM6 12 570 58 307 470
31 630 58
32 620 64
SSD-44 44 s 80 20 25 61 275  7xMé 12 780 74 317 600
36 860 77
38 940 79
SSD-50 50 40 90 22 27 70 275  8xM6 12 1,160 86 289 840
42 1,380 92
42 1,160 79
SSD-55 56 45 110 23 30 75 375  8xM6 12 1,520 88 252 1,100
48 1,880 99
48 1,850 100
SSD-62 62 50 112 23 30 86 375  10xMé 12 2,200 111 279 1,300
52 2,400 117
50 2,000 97
SSD-68 68 55 115 23 30 86 375  10xMé 12 2,500 106 255 1,400
60 3,150 120
55 2,500 119
SSD-75 75 60 138 25 32 100 375  7xM8 30 3,200 137 273 2,400
65 3,950 155
60 3,200 124
SSD-80 80 65 145 25 32 100 375  7xM8 30 3,900 140 256 2,600
70 4,600 158
65 4,800 175
SSD-85 85 70 155 30 39 114 450 10xM8 30 6,100 195 285 3,400
75 7,400 216
65 4,750 170
SSD-90 %0 70 155 30 39 114 450  10xM8 30 6,000 190 271 3,300
75 7,250 210
70 6,900 195
SSD-100 100 75 170 34 44 124 500 12xM8 30 7,500 220 258 4,400
80 9,000 240
75 7,200 229
SSD-110 110 80 185 39 50 136 500 9xM10 59 9,000 252 244 5,900
85 10,800 262
80 7,400 235
SSD-115 115 85 188 39 50 141 550 9xM10 59 9,200 259 234 5,800
90 11,100 269
80 10,600 285
SSD-120 120 85 215 42 54 160 500 12xM10 59 13,300 314 277 8,600
90 14,500 340
85 11,000 296
SSD-125 125 90 215 42 54 160 6.00 12xM10 59 13,000 324 266 8,600
95 15,000 352
90 11,300 304
SSD-130 130 95 215 42 54 160 600 12xM10 59 13,300 333 255 9,000
100 15,400 362
95 15,100 367
SSD-140 140 100 230 46 60 175 725 10xM12 100 17,600 396 264 1,000
105 20,100 425
105 22,000 447
SSD-155 155 110 265 50 64 192 725 12xM12 100 25000 478 263 1,600
115 28,000 509



SK zalms

SK E#1)\ & Self-centering

M : R TS : R HE SR FE
T, F: ETS T2 @SB R
P: iREYEED

ES{il Unit / mm
. .-'[.

B d D D1 A A1 B L
Model (mm) (mm) {mm) (mm) (mm) (mm) (mm)
SK-08 o8 21 235 14.5 10 16.5 205
SK-10 10 23 255 145 10 16.5 20.5
SK-11 i 24 26.5 14.5 10 16.5 20.5
SK-12 12 26 28.5 14.5 10 16.5 20.5
SK-14 14 28 30.5 17.5 12 20 24
SK-15 15 29 31.5 17.56 12 20 24
SK-16 16 30 325 175 12 20 24
SK-17 17 31 33.5 17.5 12 20 24
SK-18 18 32 345 17.5 12 20 24
SK-19 19 33 35.5 17.5 12 20 24

M TS T F P W-ei:ht
(mm)  (Nm)  (Nm)  (KN)  (Nmm?) O
Me 48 314 596 80 30
M4 48 31.4 5.96 80 40
M4 48 34.3 5.96 77 40
M4 48 50.3 7.94 95 50
M4 48 73.3 9.90 92 60
M4 48 94.1 11.9 107 70
M4 48 101 11.9 103 70
M4 48 107 11.9 100 70
M4 4.8 113 11.9 97 80
48 120 80

11.9

94

R IRaids =z
Range 06~010 ©010~018 018~030 030~050 050~080 080~0120 0120~0180 0180~0250 0250~0315 Fit tolerance of lock
+9 +9 +9 +9 +9 +9 +9 +9 +9
i Hé | .o +0 +0 +0 +0 +0 +0 +0 +0
o |
gg’ﬂ ny | +15 +15 +15 +15 +15 +15 +15 +15 +15 SC 010~038
8¢ = +0 +0 +0 +0 +0 +0 +0 +0 +0 SSD, SMA
8 Ha +22 +22 +22 +22 +22 +22 +22 +22 +22 ge,ssgksg',:sos
___________ oo 3 e O " i SCSC 040~0150
-9 -9 -9 -9 -8 -9 -9 -9 -9
hé SCe10~038
gg -0 -0 -0 -0 -0 -0 -0 -0 -0
gom h7 -15 -15 -15 =15 -15 -15 =15 -156 -15 ssD
g naT @ -0 -0 -0 -0 -0 -0 -0 -0 -0
8 SA, SB, SD, SDS
i |2 =2 =2 =2 =2 = « 2 = RS
Y SCSCe40~0150
SAR 24BEAE .78 scm 2HBfEAH1 .58
3HEEMAE2.318 SHEMEMHRT 88
44BEAR 12918 AfE{ERED2.08
SAtype 1.7 Times torque generated by using two sets SCtype 1.5 Times torque generated by using two sets

2.3 Times torque generated by using three sets
2.9 Times torque generated by using four sets

1.8 Times torque generated by using three sets
2.0 Times torque generated by using four sets

99



10. P52 873

100



B R B

MREEHER
Material Property

e

A ERSUJ2 12.5 208 700~800 SERENE X
A ESuUS440C 10.1 200 670 1.042LF A
sl sUs304C 16.3 193 160 1.0424F O
R #EESUS316 16 193 800~1000 1.0424F (@)

T iBi@sSUS630 10.8 200 290~380 SR @)

2  Z Density glem® 7.6 6 3.2 3.15
i@  E Hardness HV 700~800 1100~1300 1400~1700 2000~2500
Ben%?r%%%ﬁgth Mpa 2400 1000~1500 600~1000 450~800
 EREN 1 .
Fracture Toughness Mpa +m 15 1 : T i
ERRE AR TR BN 6o
Coff. of Thermal Expansion X1077K 12.5 10.5 3.2 4.3
Thermal conductivity WK sl - = _ i
i@ 1% Temp. Resistance B 180 500 800 1100
B 1E Magnetism . YES No No e N
i /i AR 4% Anti-Corrosion - Poor Good Good Excellent

B  [E Density glem® 0.91 0.94 2.18 1.41 1.35 1.32
8 [ Hardness - Rockwell 70~75 | 65~70 55 80 84 | 90
EaERRE s

Max. Operation Temperature c 90 80 200 100 230 260
- RERARE -5 _ '

Coff. of Linear Expansion X10°/ K R e 12 10 5 5

E & f p=0.05N/mm2
Coff. of Friction(p) v=0.6m/s 0.3 0.29 0.1 0.32 - 0.3
T 8L Anti-Corrosion g O 00 © { A O ©

© Excellent O Good A Application Limited

101



B 2

IR EYRE R

- 8iC Ceramic Bearing For Industry

ERIFE® Product Feature
T FE3 B L LR B 32 4 KL

Excellent chemical resistance than other ceramic material.

ngh temperature resistance & High thermal conductivity. . N % B Rings Silicon Carbide (SiC)
BES - EEERR . {® ¥ 28 Retainer Teflon Resin :
Excellent hardness and wear resisance. = 2 Ball S:il"rt':e'ni-ijc'arbEde--'(SiC}_-

C ESES PN scOOOOKC
FERRS Application

R TRER R A RS B INR IRIR

Ball bearing for strong acid chemical conveyor system.

PUMP RISl EMT

Bearing bushes for Pump

Eﬁﬂﬁﬁﬁ‘lt’.ﬁﬂ:ﬁ

compatibility for different ceramic material

| R Coramio Material  TAE
X
X
A
A

o

8588 Weak Acid O ®)
SHES Strong Acid (@) AsO ®)
T Alkali @) 0O @)

=8 Humid © o) @)
{H1& Cost Middle High High Low

U Excellent OGood AApplication Limited X Not Recommend

=

102



B 2

PK I

OOKE-R

Spec
— FR Ball Type
PEEK Retainer
~———— Bearing No.

. E——ﬁﬁiﬁ*ﬁﬁﬂﬁ Specmcally =

PK : PEEK Rings

PEEKHH A5 8%
- PEEK Plastic Bearing

PEEK M EITIIE M - SEEEARE TE 260°C

i PEEK material has higher temperature resistance up to 260°C

TE7K B i 2 mIRIE B R ISHImHEIE

Excellent corrosion resistance at most chemical environment,

WIMSEE > MERIEBEIERS

Excellent dimension stability & mechanical strength.

| PEEK M BB E M | ¥FOARE
FDA approval for food applicalion industry.

Semiconductor wet equipment

LCD wet equipment

 KIBEERTURE. Solar Cell wet equipment
COEHERRE.. Plating equipment

S EMEML.............Food machine

pEEKﬁmﬁrawwﬂghﬁgﬁémﬂﬁ;ﬁwﬂﬁa B E B R A
G FESZEN~+0 4mm, AT Z0~-0.Tmm

Telerances for ID, QD and internal clearance for FEEK bearing are
. different from standard bearing, ID Tolerance 0~+0.1mm, OD Tolerance
£ 0~-0.1mm

ToHEE T EAIRTF RS » BT EEMAIT

Discuss for chemical compalibility when used on strong acid chemical
. environment.

LR EEEN R EEIERmeEED
. Plastic bearing life will reduce by faster conveyor speed.

103



FEE A

- MARPEES MR

Stainless Steel Ceramic Hybrid Bearing

EmIFE Product Feature

JADCT I N IRLEB R BT 2 18 5

Stainless Steel material rings have good corrosive resistance than:

chrome steel material. : SHB Series

BERREBETRESRIEE .~ A % IR Rings Stainless Steel 440C

Suitable for vacLum and high temperature application. : Stainless Steel

G554 73 S L YRR 2 Esam | VEpE = ‘% F“j‘ %’E Retainer e = = -
SRICEY (SIINFEZ LN REFIRE R B ) » BT - EEFIRE PEEK Resin

Grade 5 silicon nitride nall have good running performance than steel = B Ball Si3N4 Bfa.” :

ball. - ESKE PN SHBOOIOO-0IS-C4

EEBETOLIAIAEERE RO TRas

No grease needed to reduce contamination issues at lower speed

condition. :

FEFBIRS Application

LCD UV/IR Si@maxis - BIHEH18

LCD UWV/IR high temperature conveyor, A/K conveyor.
FIBERES R - AIBEEL BRI

Semiconductor equipment, Solar cell eguipment.
ZIEERRE

High temperature application equipment.

fEFREEEIE Operation Note

TEEERNAET  TEBEARTEE

Don't recommend higher conveyor speed on greaseless situation,

104



B 2

=1L P R MR

ZrQ2 Ceramic Bearing For Industry

- ESRHE Product Feature
 EBRRER TR ASOER

Excellent chemical resistance than stainless steel bearing.

| RINEEARS - M EEEIEE ISR

: Zr0O2 Ceramic ¢ No grease coniaminatian concern in clean room applicatian.
- PEEK Resin BIIEE ST - mASMD B e A ERIR G nalaE A
Zr0O2;Si3N4 Ball Good corrosion resistance at most acid& alkaline environment,
CFOOOOKZ  EOWPEEKRIBBFASHERA
. Power type PEEK retainer to extend bearing life.
- ET RS
: Non-magnetism,insulation.
- FEFRIB S Application
FEEENGERE. ... Semiconductor wet equipment
LCDEINEEE. .o LCD wet equipment
EmEmEEmE . Food equipment
BB Plaling equipment
fEIEE ., Chemical process equipment

{FERFE=18 Operation Note
C BEMEBAAEESE  LERERSARE

Recommend logse clearance for ceramic bearing installation fit.

BMRREN . BILRERTT BRI
. Don.t strike the bearing when installing the bearing to shaft or bearing
house.

- BRFRREESMN . BRAEAERNMASTRERNR
¢ Discuss for chemical compatibility when used on strong acid chemical
¢ environment.

105





